
CHEMISTRY

JEE MAIN AND ADVANCED

THE P-BLOCK ELEMENTS

Example

1. Why does boron trifluoride behave as a Lewis acid?

Watch Video Solution

2. Possible oxidation states of boron family elements are :

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AJ3wffulKRgP
https://dl.doubtnut.com/l/_O9sZ3bRJ5OyB
https://dl.doubtnut.com/l/_dqhevWELsHch


3. Give colour of bead when glassy bead reacts with TiO.

Watch Video Solution

4. Give the basicity of orthoboric acid.

Watch Video Solution

5. Why boron fibre is used in body armour?

Watch Video Solution

6. How boron isotope controls nuclear reaction?

Watch Video Solution

https://dl.doubtnut.com/l/_dqhevWELsHch
https://dl.doubtnut.com/l/_SGl6OgufvIw6
https://dl.doubtnut.com/l/_0dkP92DTqrWJ
https://dl.doubtnut.com/l/_7cQhGxAtcz5F


7. Name an aluminium compound that can be used in

chromatography.

Watch Video Solution

8. On moving down the group in carbon family stability of group

oxidation state +4 decreases why?

Watch Video Solution

9. At room temperature,  is a gas while  is a solid because

Watch Video Solution

CO2 SiO2

10. Why  cannot exist?

Watch Video Solution

[SiCl6] −

https://dl.doubtnut.com/l/_wViAiXg7h4Pz
https://dl.doubtnut.com/l/_U3VxtyUGTRMQ
https://dl.doubtnut.com/l/_8SDApjthUcBP
https://dl.doubtnut.com/l/_uDJgDvAiUk4I


11. Give correct order of increasing first ionization energy in carbon

family.

Watch Video Solution

12. Name two elements of carbon family which have nearly same

catenation tendency.

Watch Video Solution

13. Which element of the carbon family does not dissolve in aqueous

NaOH to evolve hydrogen gas?

Watch Video Solution

https://dl.doubtnut.com/l/_uDJgDvAiUk4I
https://dl.doubtnut.com/l/_PMbUAPFQ5bhY
https://dl.doubtnut.com/l/_T2wQh6OQ2YAd
https://dl.doubtnut.com/l/_OhEEnzLfBEo7


14. Given three reasons for anomalous behaviour of carbon.

Watch Video Solution

15. What is hybridisation of carbon in ?

Watch Video Solution

CO2

16. Silicones are used as.

Watch Video Solution

17. Why silicon dioxide in non-reactive?

Watch Video Solution

https://dl.doubtnut.com/l/_8SbUt3Rk09pj
https://dl.doubtnut.com/l/_75ARARIhmmdW
https://dl.doubtnut.com/l/_Z2hRf8D15H95
https://dl.doubtnut.com/l/_v68OUxQTo70u


18. (a) Though nitrogen exhibits  oxidation state, it does not form

pentahalide. Give reason. 

(b)  has lower boiling point than . Why ?

Watch Video Solution

+5

PH3 NH3

19.  has lower boiling point that . Why ?

Watch Video Solution

PH3 NH3

20. Write the reaction of thermal decomposition of sodium azide

Watch Video Solution

21. Why does  acts as a Lewise base?

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_n08GYcW6C08C
https://dl.doubtnut.com/l/_3BAM049N0PbA
https://dl.doubtnut.com/l/_hWRzVSDY7Ksz
https://dl.doubtnut.com/l/_w2q6Hu9XrJ6k


22. why does  dimerise?

Watch Video Solution

NO2

23. How can it be proved that  is basic in nature?

Watch Video Solution

PH3

24. Why does  fume in moisture ?

Watch Video Solution

PCI3

25. In  phosphorus is in  d hybridised state but all its five

bonds are not equivalent. Justify your answer with reason.

Watch Video Solution

PCl5 sp3

https://dl.doubtnut.com/l/_w2q6Hu9XrJ6k
https://dl.doubtnut.com/l/_PBAfFnuIHOxV
https://dl.doubtnut.com/l/_JekaWutJbHrG
https://dl.doubtnut.com/l/_b0Go9faWr5Sd
https://dl.doubtnut.com/l/_ACdm972wJhOg


26. How do you account for reducing behaviour of  on the

basis of its structure?

Watch Video Solution

H3PO2

27. Write the structure of pyrophosphoric acid.

Watch Video Solution

28. Which among the elements of group 16 is radioactive ?

Watch Video Solution

29. (a) Elements of group  generally show lower value of first

ionisation enthalpy as compared to the corresponding periods of

16

https://dl.doubtnut.com/l/_ACdm972wJhOg
https://dl.doubtnut.com/l/_Pqqy0qUWTYhG
https://dl.doubtnut.com/l/_Pcbdt58GIfvz
https://dl.doubtnut.com/l/_muLMyaAfVJPU
https://dl.doubtnut.com/l/_9hpNYOCh8SL5


group . Why ? 

(b)  is less than acidic than . Why ?

Watch Video Solution

15

H2S H2Te

30. Why is  less acidic than  ?

Watch Video Solution

H2S H2Te

31. Predict hybridisation and shape of  molecule.

Watch Video Solution

SF4

32. What happens when 

(i) Concentrated  is added to calcium fluoride. 


(ii)  is passed through water ?

Watch Video Solution

H2SO4

SO3

https://dl.doubtnut.com/l/_9hpNYOCh8SL5
https://dl.doubtnut.com/l/_7SL2LphgkeJI
https://dl.doubtnut.com/l/_DGM3M1TPU3ot
https://dl.doubtnut.com/l/_oxd9jYJJndsp


33. Give one example each of acidic, basic, amphoteric and neutral

oxides.

Watch Video Solution

34. Draw structure of peroxodisulphuric acid. 

Watch Video Solution

35. Why do halogens have maximum negative electron gain enthalpy

in the respective periods of the periodic table?

Watch Video Solution

https://dl.doubtnut.com/l/_oxd9jYJJndsp
https://dl.doubtnut.com/l/_GiKEoJeyZpwd
https://dl.doubtnut.com/l/_vtnMNziSu6sK
https://dl.doubtnut.com/l/_sn9hFxvU74Um


36. Although  of luorine is less negative than that of chlorine,

but fluorine is a stronger oxidising agent than chlorine. Why?

Watch Video Solution

ΔegH

37. Fluorine exhibits only -1 oxidation state whereas other halogens

show +1, +3, +5 and +7 oxidation states also. Explain.

Watch Video Solution

38. Give correct order of boiling point of hydride of group 17.

Watch Video Solution

39. Write balanced equation for reaction of  with hot and conc.

NaOH is this reaction a disproportionation one? Justify.

Cl2

https://dl.doubtnut.com/l/_sWChf2mzSHVw
https://dl.doubtnut.com/l/_jjereaiYREqg
https://dl.doubtnut.com/l/_cjh9ee8eY1nc
https://dl.doubtnut.com/l/_aZ4hSnfMEH7T


Watch Video Solution

40. Give two use of 

Watch Video Solution

Cl2

41. (a)When HCI reacts with finely powdered iron , it forms ferrous

chloride and not ferric chloride. Why ? 

(b) Chlorine water tuns blue litmus red but solution becomes

colourless after sometime.

Watch Video Solution

42. Deduce the molecular shape of  on the basis VSEPR theory.

Watch Video Solution

BrF3

https://dl.doubtnut.com/l/_aZ4hSnfMEH7T
https://dl.doubtnut.com/l/_SUIgBHpFtLCU
https://dl.doubtnut.com/l/_sFA4nUPo5kQL
https://dl.doubtnut.com/l/_3jyxYX9KPVNK
https://dl.doubtnut.com/l/_TtzqfoQo6IjK


43. Why elements of group 18 known as noble gases?

Watch Video Solution

44. Why do noble gases have low boiling points ?

Watch Video Solution

45. Does the hydrolysis of  leads to a redox reaction?

Watch Video Solution

XeF6

46.  is insoluble in anhydrous HF but when little KF is added to

the compound it becomes soluble. On addition of  is

precipitated. Write balanced chemical equation.

Watch Video Solution

AlF3

BF3, AlF3

https://dl.doubtnut.com/l/_TtzqfoQo6IjK
https://dl.doubtnut.com/l/_VNZ1GKtk19WC
https://dl.doubtnut.com/l/_fK9vDZ0CcR1O
https://dl.doubtnut.com/l/_mg385UAvOycq


Try yourself

47. A mixture  is given to you. How would

you separate it??

Watch Video Solution

Al(OH)3 and Fe(OH)3

1. 

Watch Video Solution

BF3 + Hf →

2. give one method of preparation of 

Watch Video Solution

Na2B4O7

https://dl.doubtnut.com/l/_mg385UAvOycq
https://dl.doubtnut.com/l/_PXrIH1aUW25T
https://dl.doubtnut.com/l/_ooD5Agszm5K6
https://dl.doubtnut.com/l/_Grp6f3GHVq5S


3. Give hydrolysis product of trihalides of boron family.

Watch Video Solution

4. 

A. 

B. 

C. 

D. 

View Text Solution

2 ln(s) + 2NaOH(aq) + 2H2O →

NH3

5. What happens when aluminium is treated with conc. ?

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_rlhZ7ll9YfVX
https://dl.doubtnut.com/l/_PwuZ7vVRPfIV
https://dl.doubtnut.com/l/_YEGXt7JzazdS


6. Give oxidation state of all boron atom in borax.

Watch Video Solution

7. Give chemical composition of glassy bead.

Watch Video Solution

8. Give colour of bead produced when glassy bead reacts with CuO

Watch Video Solution

9. How would you prepare boric anhydride from boric acid?

View Text Solution

https://dl.doubtnut.com/l/_YEGXt7JzazdS
https://dl.doubtnut.com/l/_6ZGVfMUx26i5
https://dl.doubtnut.com/l/_p2A8SXX4j1bo
https://dl.doubtnut.com/l/_CFIHDlyqdXZD
https://dl.doubtnut.com/l/_HalMPp15kYcI


10. How would you prepare tetraboric acid from boric acid?

View Text Solution

11. Name anhydride of boron family which is highly unstable.

Watch Video Solution

12. Name a compound which is artifical Lapis-Lazuli.

Watch Video Solution

13. What is the percentage of sulphur in ultramarine?

Watch Video Solution

https://dl.doubtnut.com/l/_fiZqSEXfhKux
https://dl.doubtnut.com/l/_AA2Wmo3NmjIh
https://dl.doubtnut.com/l/_rRu5do7F96UU
https://dl.doubtnut.com/l/_bVmNwE0uOOG5


14. Give one use of alum.

Watch Video Solution

15. name an aluminium compound that can be used in manufacture

of dyes, drugs and perfumes.

Watch Video Solution

16. Which one of the following is hardest compound of boron ?

Watch Video Solution

17. Give one use of borax.

Watch Video Solution

https://dl.doubtnut.com/l/_xUZTtMpKi2XO
https://dl.doubtnut.com/l/_MyCIt2WGvRFf
https://dl.doubtnut.com/l/_mYqZ7FEb4utb
https://dl.doubtnut.com/l/_abwP8vTP2nyt


18. The order of catenation power is

Watch Video Solution

19. Why is+2oxidiation state of lead more stable than +4 oxidation

state?

Watch Video Solution

20. Why m.p. and b.p. of group 14 elements are higher in comparison

to group 13?

Watch Video Solution

21. Why tetrahalides other than carbon can increase its co-

ordination number?

https://dl.doubtnut.com/l/_gXWJRxZRnLol
https://dl.doubtnut.com/l/_4V9sCUmza879
https://dl.doubtnut.com/l/_VdOujG7k4ED2
https://dl.doubtnut.com/l/_wqrOSLr82LSL


Watch Video Solution

22. Name the type of bonding in lead.

Watch Video Solution

23. Name the type of bonding in  and .

Watch Video Solution

SnF4 PbF4

24. Name the element in carbon family that can be afected by water.

Watch Video Solution

25. name two form of graphite.

Watch Video Solution

https://dl.doubtnut.com/l/_wqrOSLr82LSL
https://dl.doubtnut.com/l/_63x5BwkXHdxC
https://dl.doubtnut.com/l/_OvcFhzTrMsjh
https://dl.doubtnut.com/l/_YQQheQYudaVu
https://dl.doubtnut.com/l/_nGpOzP3BSRcF


26. What is the type of graphite structure?

Watch Video Solution

27. Why graphite is preferred over grease as lubricating agent?

Watch Video Solution

28. How can you obtain lampblack?

Watch Video Solution

29. Name the superior quality of coal which burns with non-smoky

flame.

Watch Video Solution

https://dl.doubtnut.com/l/_nGpOzP3BSRcF
https://dl.doubtnut.com/l/_VCtk9B7Bx7fS
https://dl.doubtnut.com/l/_WCHsBTTfJdWh
https://dl.doubtnut.com/l/_bmC73uvvc91P
https://dl.doubtnut.com/l/_GTWltN57aqlZ


30. How will you prepare fullerene?

Watch Video Solution

31. What is the type of layer arrangement in -graphite?

Watch Video Solution

β

32. What is glass?

Watch Video Solution

33. Compound that is used as catalyst I petrochemical industries.

Watch Video Solution

https://dl.doubtnut.com/l/_GTWltN57aqlZ
https://dl.doubtnut.com/l/_XBidtNHDTPkl
https://dl.doubtnut.com/l/_4yXj87c9Gq81
https://dl.doubtnut.com/l/_5ce9xixRNbZx
https://dl.doubtnut.com/l/_un2jqtMVOyaK


34. Name one natural silicate and one synthetic silicate?

Watch Video Solution

35. What is the hybridisation of silicon in orthosilicate?

Watch Video Solution

36. Why are pentahalides more covalent than trihalides?

Watch Video Solution

37. Why is  the strongest reducing agent amongst all the

hydrides of group 15 elements ?

Watch Video Solution

BiH3

https://dl.doubtnut.com/l/_uantTPOs8sd9
https://dl.doubtnut.com/l/_zVmOv1wr38rg
https://dl.doubtnut.com/l/_p6gxgszsx1y4
https://dl.doubtnut.com/l/_dcRen8sOccaS


38. Why is  less reactive at room temperature ?

Watch Video Solution

N2

39. Mention the conditions required to maximise the yield of

ammonia.

Watch Video Solution

40. How does ammonia react with blue solution having  ions ?

Watch Video Solution

Cu2 +

41. Bond angle in  is higher than that in .Why ?

Watch Video Solution

PH
+

4 PH3

https://dl.doubtnut.com/l/_kcmSI95Mkh9P
https://dl.doubtnut.com/l/_KwEYBy9bXX2B
https://dl.doubtnut.com/l/_DAVvNcCs12VC
https://dl.doubtnut.com/l/_e6veMKJyY54F


42. What happens when white phosphorus is heated with

concentrated NaOH solution in an inert atomosphere of  ?

Watch Video Solution

CO2

43. What happens when  is heated ?

Watch Video Solution

PCl5

44. Write the balanced equation for the hydrolytic reaction of 

in heavy water.

Watch Video Solution

PCl5

45. What happens when phosphorus acids  is heated ?

Watch Video Solution

(H3PO3)

https://dl.doubtnut.com/l/_VIJDUjEdGVEp
https://dl.doubtnut.com/l/_wocXYucbzUPD
https://dl.doubtnut.com/l/_6s2cPqChZr8X
https://dl.doubtnut.com/l/_GmMDnSSVnPx1


46. List the important sources of sulphur.

Watch Video Solution

47. Why is  a liquid and  a gas?

Watch Video Solution

H2O H2S

48. Write the order of the thermal stability of the hydrides of group

16 elements.

Watch Video Solution

49. Anomalous behaviour of oxygen is due to

Watch Video Solution

https://dl.doubtnut.com/l/_GmMDnSSVnPx1
https://dl.doubtnut.com/l/_pQlYkyJl36LK
https://dl.doubtnut.com/l/_YFrWv0XrcXR7
https://dl.doubtnut.com/l/_FYTNwLdhjGKY
https://dl.doubtnut.com/l/_2KpMrICLK1Ud


50. Which of the following does not react with oxygen directly?

.

Watch Video Solution

Zn, Ti, Pt, Fe

51. Complete the following reactions : 

(i)  


(ii) 

Watch Video Solution

C2H4 + O2 →

Al + O2 →

52. Why does  act as a powerful oxidising agent ?

Watch Video Solution

O3

https://dl.doubtnut.com/l/_2KpMrICLK1Ud
https://dl.doubtnut.com/l/_pb3Spx0c94ze
https://dl.doubtnut.com/l/_okB35G9Vrzft
https://dl.doubtnut.com/l/_gP7rtDfEEF50


53. How is  estimated quantitatively ?

Watch Video Solution

O3

54. What happens when sulphur dioxide is passed through an

aqueous solution of Fe(III) salt?

Watch Video Solution

55. Comment on the nature of two S-O bonds formed in 

molecule. Are the two bonds in the molecule equal ?

Watch Video Solution

SO2

56. How is the presence of  detected?

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_cEti4arfiD6N
https://dl.doubtnut.com/l/_L7Tc7cBYdkdZ
https://dl.doubtnut.com/l/_oZHebqhagrx9
https://dl.doubtnut.com/l/_xN4LK7E3ZLCN


57. Mention three areas in which  plays an important role.

Watch Video Solution

H2SO4

58. Write the conditions to maximize the yield of  by contact

process.

Watch Video Solution

H2SO4

59. Why is  for  in water?

View Text Solution

Ka2 < < Ka1 H2SO4

60. Considering the parameters such as bond dissociation enthalpy,

electron gain enthalpy and hydration enthalpy, compare the

https://dl.doubtnut.com/l/_xN4LK7E3ZLCN
https://dl.doubtnut.com/l/_TwidmkHvy33M
https://dl.doubtnut.com/l/_cjAkjXN0oawJ
https://dl.doubtnut.com/l/_q31cWVeKDeyO
https://dl.doubtnut.com/l/_dsGaV1sLdAa1


oxidising power of 

Watch Video Solution

F2 and Cl2

61. Give two examples to show the anomalous behaviour of fluorine.

Watch Video Solution

62. Give two examples to show the anomalous behaviour of fluorine.

Watch Video Solution

63. Sea is the greatest source of some halogens. Comment.

Watch Video Solution

https://dl.doubtnut.com/l/_dsGaV1sLdAa1
https://dl.doubtnut.com/l/_BoeHyJbqntGu
https://dl.doubtnut.com/l/_4xC8OXhkEACY
https://dl.doubtnut.com/l/_pJL7aFlN9baR


64. Name three gases which can be prepared from chlorine gas.

Watch Video Solution

65. Why is ICl more reactive than  ?

Watch Video Solution

I2

66. Draw structure and give hybridisation of .

Watch Video Solution

IF7

67. Why is helium used in diving apparatus ?

Watch Video Solution

https://dl.doubtnut.com/l/_aAbaj75o12dy
https://dl.doubtnut.com/l/_t1tKRMQ3n4Kn
https://dl.doubtnut.com/l/_3cHex9YvAHgQ
https://dl.doubtnut.com/l/_D2grjFfZDz8U


68. Balance the equation : 

Watch Video Solution

XeF6 + H2O → XeO2F2 + HF

69. Why has it been difficult to study the chemistry of radon ?

Watch Video Solution

70. List the uses of neon and argon gases.

Watch Video Solution

71. Complete the reaction :


Watch Video Solution

BF3 + HF →

https://dl.doubtnut.com/l/_68wPrK1WRHEu
https://dl.doubtnut.com/l/_U6fwxgHPF0qe
https://dl.doubtnut.com/l/_1zC3V1DyAlPN
https://dl.doubtnut.com/l/_OzS0OzHASDDL


72. give one method of preparation of 

Watch Video Solution

Na2B4O7

73. Give hydrolysis product of trihalides of boron family.

Watch Video Solution

74. 2Sn (s) + 2 NaOH (aq) + 

Watch Video Solution

2H2O →

75. What happens when aluminium is treated with conc. ?

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_abhQAp0uEEWg
https://dl.doubtnut.com/l/_I0Hpdbirtadv
https://dl.doubtnut.com/l/_2dAUbAmD82AO
https://dl.doubtnut.com/l/_Nkr2cURIN1xM


76. Give oxidation state of all boron atom in borax.

Watch Video Solution

77. Give chemical composition of glassy bead .

Watch Video Solution

78. Give colour of bead produced when glassy bead reacts with CuO

Watch Video Solution

79. How would you prepare boric anhydride from boric acid ?

Watch Video Solution

https://dl.doubtnut.com/l/_joKw7hUJzlVD
https://dl.doubtnut.com/l/_OCZoAAdSUAPI
https://dl.doubtnut.com/l/_5GbGTgQYgzwI
https://dl.doubtnut.com/l/_0A5Ffzq19enJ


80. How would you prepare tetraboric acid from boric acid ?

Watch Video Solution

81. Name anhydride of boron family which is highly unstable.

Watch Video Solution

82. Name a compound which is artifical Lapis-Lazuli.

Watch Video Solution

83. What is the percentage of sulphur in ultramarine ?

Watch Video Solution

https://dl.doubtnut.com/l/_HgIg6Qhkr5Wo
https://dl.doubtnut.com/l/_PIAcDwacHrtu
https://dl.doubtnut.com/l/_WUrYQPVQiRBF
https://dl.doubtnut.com/l/_ZpP0QHFb35nC


84. Give one use of Alum.

Watch Video Solution

85. name an aluminium compound that can be used in manufacture

of dyes, drugs and perfumes.

Watch Video Solution

86. Which one of the following is hardest compound of boron ?

Watch Video Solution

87. Give one use of borax.

Watch Video Solution

https://dl.doubtnut.com/l/_kDNypTLLr3tH
https://dl.doubtnut.com/l/_fZlEXUgCxhsk
https://dl.doubtnut.com/l/_8YIJx3TeIW2w
https://dl.doubtnut.com/l/_PUKxYkfDESij


88. Give decreasing order of catenation of carbon family .

Watch Video Solution

89. Why +2 oxidation state is more predominant for lead

compounds ?

Watch Video Solution

90. Why m.p. and b.p. of group 14 elements are higher in comparison

to group 13?

Watch Video Solution

91. Give hydrolysis product of .

Watch Video Solution

CCl4

https://dl.doubtnut.com/l/_rXiBx2hvarwu
https://dl.doubtnut.com/l/_akG7LaCulaZ5
https://dl.doubtnut.com/l/_ReI7m0SbBwtn
https://dl.doubtnut.com/l/_5nwTz8FmwfJl


92. Give hydrolysis product of .

Watch Video Solution

SiF4

93. Why tetrahalides other than carbon can increase its co-

ordination number?

Watch Video Solution

94. Name the type of bonding in lead.

Watch Video Solution

95. Name the type of bonding in  and .

Watch Video Solution

SnF4 PbF4

https://dl.doubtnut.com/l/_5nwTz8FmwfJl
https://dl.doubtnut.com/l/_Z9lmFAG1uFJc
https://dl.doubtnut.com/l/_yn0aQswLAeHU
https://dl.doubtnut.com/l/_4GTXswT6jydx
https://dl.doubtnut.com/l/_4PmVBgLCTZir


96. Name the element in carbon family that can be afected by water.

Watch Video Solution

97. Give number of pentagonal rings in fullerence .

Watch Video Solution

98. name two form of graphite.

Watch Video Solution

99. What is the type of graphite structure?

Watch Video Solution

https://dl.doubtnut.com/l/_4PmVBgLCTZir
https://dl.doubtnut.com/l/_iwcSIxmeL6nG
https://dl.doubtnut.com/l/_vWdJ4RHreUco
https://dl.doubtnut.com/l/_E2S86DWmonjE
https://dl.doubtnut.com/l/_GzC9Y2gBEci0


100. Why graphite is preferred over grease as lubricating agent?

Watch Video Solution

101. How can you obtain lampblack?

Watch Video Solution

102. Name the superior quality of coal which burns with non-smoky

flame.

Watch Video Solution

103. How will you prepare fullerene?

Watch Video Solution

https://dl.doubtnut.com/l/_uUeoNg9gSC7p
https://dl.doubtnut.com/l/_4MXKhGfxeQ5m
https://dl.doubtnut.com/l/_S4vgtGStcYch
https://dl.doubtnut.com/l/_cjCZuDMbAo5s


104. What is the type of layer arrangement in -graphite?

Watch Video Solution

β

105. What is glass?

Watch Video Solution

106. Name a compound that is used as catalyst in petrochemical

industries.

Watch Video Solution

107. Name one natural silicate and one synthetic silicate?

Watch Video Solution

https://dl.doubtnut.com/l/_HfgEfu5LOQoU
https://dl.doubtnut.com/l/_0ffkTWNX0tAY
https://dl.doubtnut.com/l/_dxqtBlJklYRs
https://dl.doubtnut.com/l/_6wSg7ZAIAgvu


108. What is the hybridisation of silicon in orthosilicate?

Watch Video Solution

109. Why are pentahalides more covalent than trihalides?

Watch Video Solution

110. Why is  the strongest reducing agent amongst all the

hydrides of Group 15 elements ?

Watch Video Solution

BiH3

111. Why is  less reactive at room temperature ?

Watch Video Solution

N2

https://dl.doubtnut.com/l/_TnA6h183zT9R
https://dl.doubtnut.com/l/_Ms6WtEZPqCxm
https://dl.doubtnut.com/l/_tfri6UiwVZ0T
https://dl.doubtnut.com/l/_32ZkIpSI1GcG


112. Mention the conditions required to maximise the yield of

ammonia.

Watch Video Solution

113. How does ammonia react with a solution of  ?

Watch Video Solution

Cu2 +

114. What is the covalence of nitrogen in  ?

Watch Video Solution

N2O5

115. Bond angle in  is higher than that in .Why ?

Watch Video Solution

PH
+

4 PH3

https://dl.doubtnut.com/l/_qERzAA8ibIov
https://dl.doubtnut.com/l/_vW88fanVgBl5
https://dl.doubtnut.com/l/_1u3gvXaqgwii
https://dl.doubtnut.com/l/_6QUxMRreVfNU


116. What happens when white phosphorus is heated with conc.

NaOH solution in an inert atmosphere of  ?

Watch Video Solution

CO2

117. What happens when  is heated ?

Watch Video Solution

PCl5

118. Write balanced equation for reaction of  with heavy water .

]

Watch Video Solution

PCl5

119. What is the basicity of  ?

Watch Video Solution

H3PO4

https://dl.doubtnut.com/l/_mpE1IplKqHXK
https://dl.doubtnut.com/l/_l9s1banUOHRE
https://dl.doubtnut.com/l/_hwx5dGnsnrFX
https://dl.doubtnut.com/l/_3eD4IFymkYit


120. What happens when  is heated ?

Watch Video Solution

H3PO3

121. List the important sources of sulphur.

Watch Video Solution

122. Why is  a liquid and  a gas?

Watch Video Solution

H2O H2S

123. Write the order of thermal stability of the hydrides of group 16

elements.

Watch Video Solution

https://dl.doubtnut.com/l/_3eD4IFymkYit
https://dl.doubtnut.com/l/_F7GQm61Y1tZG
https://dl.doubtnut.com/l/_9lQe0XRihlL1
https://dl.doubtnut.com/l/_DYryNt9OTblA
https://dl.doubtnut.com/l/_MGjf8c78FQXu


124. Anomalous behaviour of oxygen is due to

Watch Video Solution

125. Which of the following does not react with oxygen directly ? Zn,

Ti, Pt, Fe.

Watch Video Solution

126. Complete the following reactions: 

(i)  

(ii) 

Watch Video Solution

C2H4 + O2 →

4Al + 3O2 →

https://dl.doubtnut.com/l/_MGjf8c78FQXu
https://dl.doubtnut.com/l/_UmCM0XPBwB5I
https://dl.doubtnut.com/l/_Uii8oIdpwHYM
https://dl.doubtnut.com/l/_AVrorz1GrYl6


127. Why does  act as a powerful oxidising agent ?

Watch Video Solution

O3

128. How is  estimated quantitatively ?

Watch Video Solution

O3

129. What happens when sulphur dioxide is passed through an

aqueous solution of Fe(III) salt?

Watch Video Solution

130. Comment on the nature of two S–O bonds formed in 

molecule. Are the two S–O bonds in this molecule equal ?

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_NnzSl1wEwVyT
https://dl.doubtnut.com/l/_nyzNOyRUEVkh
https://dl.doubtnut.com/l/_UYGEqmVwk8xI
https://dl.doubtnut.com/l/_TP9EjFwfahgE


131. How is the presence of  detected?

Watch Video Solution

SO2

132. Mention three areas in which  plays an important role.

Watch Video Solution

H2SO4

133. Write the conditions to maximize the yield of  by contact

process.

Watch Video Solution

H2SO4

134. Why is  for  in water ?

Watch Video Solution

Ka2 < < Ka1 H2SO4

https://dl.doubtnut.com/l/_TP9EjFwfahgE
https://dl.doubtnut.com/l/_awOx4xuL6yzX
https://dl.doubtnut.com/l/_j4LDpa0p2FQU
https://dl.doubtnut.com/l/_Rmi6uHDWihLT
https://dl.doubtnut.com/l/_uHRPbzgcqnS1


135. Considering the parameters such as bond dissociation enthalpy,

electron gain enthalpy and hydration enthalpy, compare the

oxidizing power of  and .

Watch Video Solution

F2 Cl2

136. Give two examples to show the anomalous behaviour of

fluorine.

Watch Video Solution

137. Sea is the greatest source of some halogens. Comment.

Watch Video Solution

https://dl.doubtnut.com/l/_uHRPbzgcqnS1
https://dl.doubtnut.com/l/_fjMhyyTOtFvR
https://dl.doubtnut.com/l/_KgBH3GUZ1axg
https://dl.doubtnut.com/l/_oiDU3tNwIISj


138. Give the reason for bleaching action of .

Watch Video Solution

Cl2

139. Name three gases which can be prepared from chlorine gas.

Watch Video Solution

140. Why is ICl more reactive than  ?

Watch Video Solution

I2

141. Draw structure and give hybridisation of .

Watch Video Solution

IF7

https://dl.doubtnut.com/l/_WX8IENN1Ttup
https://dl.doubtnut.com/l/_75DubzXjk8go
https://dl.doubtnut.com/l/_DR241g55j7af
https://dl.doubtnut.com/l/_66x0SkeZsz8l


142. Why is helium used in diving apparatus ?

Watch Video Solution

143. Balance the following equation : 

Watch Video Solution

XeF6 + H2O → XeO2F2 + HF

144. Why has it been difficult to study the chemistry of radon ?

Watch Video Solution

145. List out the uses of Neon.

Watch Video Solution

https://dl.doubtnut.com/l/_hoDVrXDtpyu5
https://dl.doubtnut.com/l/_QQVYVCDRvHvX
https://dl.doubtnut.com/l/_pDJDt6kfthDY
https://dl.doubtnut.com/l/_DHidTaZlJbDO


Assignment Section-A)

1. On moving down the group 13 density

A. Increases

B. Decreases

C. First decreases then increases

D. Remains same

Answer: A

Watch Video Solution

2. Boron has an extremely high melting point because of

A. Small covalent molecule

B. Giant covalent molecule

https://dl.doubtnut.com/l/_Lr1Z0nV8JLEE
https://dl.doubtnut.com/l/_32szf9yUFsac


C. Giant covalent solid

D. Giant ionic molecule

Answer: C

Watch Video Solution

3. Elements of group 13 mainly form covalent compounds because

A. Size of ions is small

B. Sum of three ionisation energies is very high

C. Electronegativity values are high

D. All of these

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_32szf9yUFsac
https://dl.doubtnut.com/l/_cnUC14wkgJXN
https://dl.doubtnut.com/l/_RogsJF2oE4vZ


4. On moving down the group, the basic nature of hydroxide of

boron family.

A. Decreases

B. Increases

C. First decreases then increases

D. Remains same

Answer: B

Watch Video Solution

5. General oxidation state shown by group 13 elements is

A. 

B. 

C. 

+1 and + 3

+1, + 2 and + 3

+2, + 3 and + 4

https://dl.doubtnut.com/l/_RogsJF2oE4vZ
https://dl.doubtnut.com/l/_ATajdpNr1OkA


D. 

Answer: A

Watch Video Solution

+1 and + 4

6. Which one of the following elements of group 13 can react with

alkali solutions to give  gas?

A. Boron

B. Aluminium

C. Gallium

D. All of these

Answer: D

Watch Video Solution

H2

https://dl.doubtnut.com/l/_ATajdpNr1OkA
https://dl.doubtnut.com/l/_u7gilrkp8UQc
https://dl.doubtnut.com/l/_10aV6egcyqSD


7. The Lewis acid character of boron trihalides decreases as:

. Explain ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

BBr3 > BCl3 > BF3

Bl3 > BBr3 > BCl3 > BF3

BF3 > BCl3 > BBr3 > Bl3

BCl3 > BF3 > BBr3 > Bl3

Bl3 > BBr3 < BF3 < HCl3

8. Dimer  is formed because

A. Al is electron rich

B. Aluminium is having lone pair of electron

Al2Cl6

https://dl.doubtnut.com/l/_10aV6egcyqSD
https://dl.doubtnut.com/l/_0seikElnayXT


C. aluminium forms covalent bonds with chlorine to complete its

octet

D. Aluminium donates lone pair to form bridge

Answer: C

Watch Video Solution

9. When we heat borax strongly then it will yield the following

compound

A. 

B. 

C. 

D. Both 1 and 2

Answer: D

NaBO2

B2O3

Na2B4O7

https://dl.doubtnut.com/l/_0seikElnayXT
https://dl.doubtnut.com/l/_8DCtXr5JnE8S


View Text Solution

10.  will accept how many  ions?

A. 1

B. 2

C. 3

D. 4

Answer: A

View Text Solution

B(OH)3 OH −

11. Boric acid is polymeric due to

A. Basic nature

B. Acidic nature

https://dl.doubtnut.com/l/_8DCtXr5JnE8S
https://dl.doubtnut.com/l/_zufLXpJJZ9Zt
https://dl.doubtnut.com/l/_XNgEbY5exDFo


C. Hydrogen bonds

D. Co-ordinate bonds

Answer: C

Watch Video Solution

12. Select the incorrect statement for 

A. It contains B-B ionic bond

B. Each boron is  hybridised

C. it has two types of hydrogen bonds

D. All of these

Answer: A

View Text Solution

B2H6

sp3

https://dl.doubtnut.com/l/_XNgEbY5exDFo
https://dl.doubtnut.com/l/_ojIJH2VyDkg6
https://dl.doubtnut.com/l/_Q4x1uRxtmuBe


13. If diborane each boron has three electrons bonds around each B

atom and form

A. Two

B. Three

C. Four

D. Five

Answer: C

Watch Video Solution

14. Which of the following structure is smaller to graphite?

A. Boron nitride

B. Boron carbide

C. Aluminium oxide

https://dl.doubtnut.com/l/_Q4x1uRxtmuBe
https://dl.doubtnut.com/l/_AkhevSlV35bj


D. Aluminium carbide

Answer: A

Watch Video Solution

15. The number of sigma and pi bonds present I inorganic benzene

are respectively

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3σ, 12π

12σ, 3π

3σ, 3π

12σ, 12π

https://dl.doubtnut.com/l/_AkhevSlV35bj
https://dl.doubtnut.com/l/_nykh7cxOh7Xe
https://dl.doubtnut.com/l/_PRwBstVfihWC


16. Why are alloys used for making standard resistance coils?

A. Resistance to corrosion

B. Poor conductivity

C. heaviness

D. All of these

Answer: A

Watch Video Solution

17. Which of the following alkali metal does not form alum ?

A. Li

B. Na

C. K

D. All of these

https://dl.doubtnut.com/l/_PRwBstVfihWC
https://dl.doubtnut.com/l/_aNlazpXu7jL9


Answer: A

Watch Video Solution

18. What is the general valence shell electronic configuration of

group  elements?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

14

ns2

ns2np4

ns2np6

ns2np2

https://dl.doubtnut.com/l/_aNlazpXu7jL9
https://dl.doubtnut.com/l/_CQUsoFF80hIx


19. Tendency of carbon for catenation is because carbon-carbon

atoms bond energy is

A. Low

B. High

C. Zero

D. Negative

Answer: B

Watch Video Solution

20. All elements except carbon have tendency to show maximum

covalency of six

A. Due to absence of vacant d-orbitals

B. Due to presence of vacant d-orbitals

https://dl.doubtnut.com/l/_VjZ9GJnxYGUL
https://dl.doubtnut.com/l/_ISc2PghAlOAD


C. Due to presence of partially filled d-orbitals.

D. Due to presence of completely filled d-orbitals.

Answer: B

Watch Video Solution

21. Aluminium is the most abundant metal in the earth's crust.

A. Silicon

B. Germanium

C. Aluminium

D. Arsenic

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ISc2PghAlOAD
https://dl.doubtnut.com/l/_N4nwxiOKSZPv
https://dl.doubtnut.com/l/_kyv4vcJuTinl


22. Metalloid among the following is

A. Carbon.

B. Germanium

C. Lead

D. All of these

Answer: B

Watch Video Solution

23. On moving down the group, acidic nature of oxides of group 14.

A. Decreases

B. Increases

C. Remains same

https://dl.doubtnut.com/l/_kyv4vcJuTinl
https://dl.doubtnut.com/l/_4Fj7afFVvB82


D. Increases then decreases

Answer: A

Watch Video Solution

24. Which one of the following elements orms double or triple bond

involving  bonding?

A. Carbon

B. Silicon

C. Germanium

D. Tin

Answer: A

Watch Video Solution

pπ − pπ

https://dl.doubtnut.com/l/_4Fj7afFVvB82
https://dl.doubtnut.com/l/_z9RwZS0VRXVg
https://dl.doubtnut.com/l/_agrQc1mVMzxQ


25. Allotropy is due to

A. Difference in the number of atoms in the molecules in the

crystal

B. difference in the preparation

C. Difference in physical properties

D. All of these

Answer: D

Watch Video Solution

26. Which of the following elements exhibit maximum number of

allotropes ?

A. Tin

B. Germanium

https://dl.doubtnut.com/l/_agrQc1mVMzxQ
https://dl.doubtnut.com/l/_7mmL08ysa18M


C. Silicon

D. Lead

Answer: A

Watch Video Solution

27. Hybridisation of carbon atoms in diamond is

A.  hybridisation

B.  hybridisation

C.  hybridisation

D.  hybridisation

Answer: A

Watch Video Solution

sp3

sp

sp2

sp3d2

https://dl.doubtnut.com/l/_7mmL08ysa18M
https://dl.doubtnut.com/l/_ki8bPR4GEpD6
https://dl.doubtnut.com/l/_ufbiTxv8uYvs


28. Graphite has

A. 2-D sheet structure

B. Van der waals forces between different layers

C.  hybridised carbon linked with other three carbon atoms in

hexagonal planar structure

D. All of these

Answer: D

Watch Video Solution

sp2

29. Fullerenes

A. Interlocking of hexagonal carbon rings

B. Interlocking of pentagonal carbon rings

https://dl.doubtnut.com/l/_ufbiTxv8uYvs
https://dl.doubtnut.com/l/_CaKLNLqB4Qzi


C. Interlocking of hexagonal and pentagonal carbon rings

D. Interlocking of hexagonal and heptagonal carbon rings

Answer: C

Watch Video Solution

30. In graphite, the bond is

A. Ionic

B. Covalent

C. Co-ordinate

D. Metallic

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CaKLNLqB4Qzi
https://dl.doubtnut.com/l/_xEwn92mBR15j
https://dl.doubtnut.com/l/_EuC97Jw9yB6e


31. Which one of the following is properties of CO gas?

A. It is a colourless gas

B. it is an odourless gas

C. it is a neutral oxide

D. All of these

Answer: D

Watch Video Solution

32. Carbonic acid is a

A. Weak tribasic acid

B. Weak dibasic acid

C. Strong tribasic acid

https://dl.doubtnut.com/l/_EuC97Jw9yB6e
https://dl.doubtnut.com/l/_6w19R2Vyua7i


D. Strong dibasic acid

Answer: B

Watch Video Solution

33. Organosilicon polymers containing Si-O-Si linkage is called

A. Silicates

B. Silicones

C. Glass

D. Silica

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6w19R2Vyua7i
https://dl.doubtnut.com/l/_NThsvt0umqVD


34. Number of points at which tetrahedral units are linked in

pyrosilicates is

A. Five point

B. Six point

C. Two point

D. One point

Answer: D

Watch Video Solution

35. The geometry of  ion is

A. Triangular

B. Tetrahedral

SiO
4 −
4

https://dl.doubtnut.com/l/_Q68wP2axKnnF
https://dl.doubtnut.com/l/_FximXCC61Iu0


C. Pentagonal bipyramidal

D. Linear

Answer: B

Watch Video Solution

36. A liquid which is permanently supercooled is frequently called a

……….. .

A. Glass

B. Silicates

C. Silicones

D. Silica garden

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_FximXCC61Iu0
https://dl.doubtnut.com/l/_6iQ9XTET6Bgx


37. Which is mismatched 

A. halogens- group 17

B. Chalcogents-group 16

C. Pnicogens - group 14

D. Noble gases - group 18

Answer: C

Watch Video Solution

,

38. Fluoroapatitive is represented by the formula

A. 

B. 

C. 

CaF2

Na3AlF6

Ca3(PO4)2

https://dl.doubtnut.com/l/_6iQ9XTET6Bgx
https://dl.doubtnut.com/l/_lcwemyyKOxRD
https://dl.doubtnut.com/l/_J0Yl3wCuc6Qu


D. 

Answer: D

Watch Video Solution

3Ca3(PO4)2 ⋅ CaF2

39. Correct order of electronegativity of group 15

A. N>P>As>Sb

B. Sb>As>P>N

C. N>As>P>Sb

D. N>As>Sb>P

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_J0Yl3wCuc6Qu
https://dl.doubtnut.com/l/_ahiYjQwvCtxI


40. Maximum covalent character is shown by

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NCl3

PCl3

AsCl3

SbCl3

41.  on disproportionation gives  and

A. 

B. 

C. NO

HNO2 HNO3

NO2

N2O5

https://dl.doubtnut.com/l/_hAQyjUzwTJxZ
https://dl.doubtnut.com/l/_N1nm34luFRge


D. All of these can form

Answer: C

Watch Video Solution

42. The correct order of acidic character is

A. 

B. 

C. 

D. All of the above

Answer: D

Watch Video Solution

P4O10 > P4O6

N2O5 > N2O3

N2O3 > P4O6

https://dl.doubtnut.com/l/_N1nm34luFRge
https://dl.doubtnut.com/l/_TPh7hIATIgi2


43. In which of the following reactions, products given are not

correct?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(NH4)2Cr2O7

Δ
−−→ N2 + 4H2O + Cr2O3

Ba(N3)2

Δ
−−→ Ba + 3N2

3Mg + N2

Δ
−−→ Mg3N2

NH4Cl + NaNO2 → NaCl + NH3 + NO2

44. Oxide of nitrogen which is acidic in nature and blue solid

A. 

B. 

N2O

NO

https://dl.doubtnut.com/l/_Dg2rVtiMEHlI
https://dl.doubtnut.com/l/_ovs4hYvipCh0


C. 

D. 

Answer: C

Watch Video Solution

N2O3

NO2

45. Valency and oxidation number of nitrogen in 

A. 5,+5

B. 4,+5

C. 3,+3

D. 3,+5

Answer: B

Watch Video Solution

N2O5

https://dl.doubtnut.com/l/_ovs4hYvipCh0
https://dl.doubtnut.com/l/_qRNUlfHgOqrc
https://dl.doubtnut.com/l/_LTgklXIiGk5B


46. Which has maximum bond angle?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

PH3

AsH3

SbH3

47.  


Compound (A) is

A. 

B. 

C. 

(A) + SbF5 → [XeF3] + [SbF6] −

XeF2

XeF4

XeF6

https://dl.doubtnut.com/l/_LTgklXIiGk5B
https://dl.doubtnut.com/l/_vmJQX2vX7lvB


D. Both 1 and 2

Answer: B

Watch Video Solution

48. Which set of oxide of nitrogen is paramagnetic in monomeric

state?

A. No, 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2O

NO2, N2O

NO, NO2

N2O, NO, NO2

https://dl.doubtnut.com/l/_vmJQX2vX7lvB
https://dl.doubtnut.com/l/_u7rfVJetowrI
https://dl.doubtnut.com/l/_uH3AvFq4Zdqb


49. The incorrect statement among the following is

A. Reducing character of hydrides of group 15 increases down

the group

B. Basicity of hydrides of group 15 increases down the group

C. Phosphorus and arsenic can form  bond

D.  does not exist

Answer: B

Watch Video Solution

pπ − dπ

NCl5

50. products 


the products formed in above reaction is

A. 

B. 

Cu + HNO3
( conc . )

→

CuO + NO

Cu(NO3)2 + N2O

https://dl.doubtnut.com/l/_uH3AvFq4Zdqb
https://dl.doubtnut.com/l/_WYP6DYRASG4D


C. 

D. All of these can form

Answer: C

Watch Video Solution

Cu(NO3)2 + NO2

51. Which of the following metals does not dissolve in concentrated

 ?

A. Cr

B. Zn

C. Al

D. Both 1 and 3

Answer: D

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_WYP6DYRASG4D
https://dl.doubtnut.com/l/_LOTj1z09hYFA


52. In brown ring test for nitrate ions, brown ring is formed due to

complex

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Fe(H2O)6}
2 +

[Fe(H2O)5NO]
2 +

[Fe(H2O)5NO]
3 +

[Fe(H2O)5NO2]
2 +

53. Allotrope of phosphorus which is polymeric consisting of chains

of  tetrahedral linked together is

A. White phosphorus

P4

https://dl.doubtnut.com/l/_LOTj1z09hYFA
https://dl.doubtnut.com/l/_3eox8lANrEQk
https://dl.doubtnut.com/l/_1FRlsrkjhKSN


B. Red phosphorus

C. Black phosphorus

D. Both 1 and 2

Answer: B

Watch Video Solution

54.  


Product (A) is is used in

A. Holme's signal

B. Smoke screen

C. Manufacture of 

D. Both 1 and 2

Answer: D

Ca3P2 + H2O → Ca(OH)2 + (A)

NH4NO3

https://dl.doubtnut.com/l/_1FRlsrkjhKSN
https://dl.doubtnut.com/l/_w8nDVRBc3s4i


Watch Video Solution

55. Which is dibasic?

A. Orthosphoric acid

B. Pyrophosphoric acid

C. phosphorus acid

D. Hypophosphorus acid

Answer: C

Watch Video Solution

56. Cyclotrimeta phosphoric acid has total number of P=O & P-O

bonds respectively

A. 5,3

https://dl.doubtnut.com/l/_w8nDVRBc3s4i
https://dl.doubtnut.com/l/_SzttWD3ODwD0
https://dl.doubtnut.com/l/_ZTT6nXhgneYa


B. 3,5

C. 3,6

D. 5,6

Answer: C

Watch Video Solution

57. Which is mismatched regarding the formula?

A. Epsom salt 

B. Bartyte-

C. Copperr pyrite-

D. Galena

Answer: B

Watch Video Solution

−MgSO4.7H2O

BeSO4

CuFeS2

−PbS

https://dl.doubtnut.com/l/_ZTT6nXhgneYa
https://dl.doubtnut.com/l/_72QtSwwGfhFH


58. The one with lowest electron affinity in group 16 is

A. Oxygen

B. Sulphur

C. Selenium

D. Tellurium

Answer: A

Watch Video Solution

59. The set having correct possible oxidation state for oxygen is

A. 0, +4 only

B. 0, -6 only

https://dl.doubtnut.com/l/_72QtSwwGfhFH
https://dl.doubtnut.com/l/_wOJo9IxwcDvv
https://dl.doubtnut.com/l/_b4LDxoCDNdX3


C. 

D. 0,+2,+4,+6`

Answer: C

Watch Video Solution

−2, 0, + 1, + 2

60. Which has maximum number of lone pair of electrons present on

central atom i.e., xenon?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF4

XeO2F2

XeF2

XeOF4

https://dl.doubtnut.com/l/_b4LDxoCDNdX3
https://dl.doubtnut.com/l/_ceRouiJ2htrq


61. The boiling points of hydrides of group 16 are in the order

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O < H2S < H2Se < H2Te

H2Te < H2Se < H2S < H2O

H2S < H2Se < H2Te < H2O

H2O < H2Te < H2Se < H2S

62. Dioxygen can be prepared by

A. heating 

B. Thermal decomposition of oxides like  etc.

C. Electrolysis of water

KClO3

Ag2O, Pb3O4

https://dl.doubtnut.com/l/_ceRouiJ2htrq
https://dl.doubtnut.com/l/_bPYX0nD7Ctyo
https://dl.doubtnut.com/l/_EIpRDgkwPHEM


D. All of these

Answer: D

Watch Video Solution

63. The set containing acidic oxides only are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SO2, Cl2O7, CO

Al2O3, NO, N2O5

N2O, N2O3, N2O5

V2O5, SO2, N2O5

https://dl.doubtnut.com/l/_EIpRDgkwPHEM
https://dl.doubtnut.com/l/_p1XlmNvfZCSX


64. The incorrect statement regarding structure of ozone

A. The two oxygen-oxygen bond length in ozone are identical

B. It is linear

C. Bond angle is less than 

D. Both 2 and 3

Answer: B

Watch Video Solution

120∘

65. Form of sulphur which shows paramagnetic behaviour

A. -Rhombic

B. -Monoclinic

C.  is vapour state

S8

S8

S2

https://dl.doubtnut.com/l/_uZjqmG9Ry04g
https://dl.doubtnut.com/l/_2eBercMSNhoo


D. Not possible

Answer: C

Watch Video Solution

66. ? 


The product formed in above reaction is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

FeS2 + O2 →

FeO + SO2

Fe2O3 + SO2

Fe2O3 + SO3

FeO + SO3

https://dl.doubtnut.com/l/_2eBercMSNhoo
https://dl.doubtnut.com/l/_dsDxZZHqxRfr
https://dl.doubtnut.com/l/_EM4oPUIVYivv


67. Which has bleaching action due to reducing property and it is

temporary?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O2

O3

SO2

Cl2

68. On reaction of moist  with potassium permangnate (Acidic)

which is correctly observed?

A. Colour of  is decolourised

B.  is oxidised to 

SO2

KMnO4

SO2 SO3

https://dl.doubtnut.com/l/_EM4oPUIVYivv
https://dl.doubtnut.com/l/_PY0SOmBsHipZ


C.  is reduced to 

D. All of these

Answer: A

Watch Video Solution

MnO
−
4 MnO2

69.  bond is present in

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

S − S

H2S2O7

H2S2O8

H2S2O6

H2SO3

https://dl.doubtnut.com/l/_PY0SOmBsHipZ
https://dl.doubtnut.com/l/_vFmAZGooTIfm
https://dl.doubtnut.com/l/_TCeg7qPrDRwR


70. In the reaction 

 


 behaves w.r.t. Cu as

A. Dehydrating agent

B. oxidising agent

C. An acid

D. All of these

Answer: B

Watch Video Solution

Cu + H2SO4
(Conc . )

→ CuSO4 + SO2 + H2O

H2SO4

71.  is manufactured by

A. Ostwald process

B. Haber's process

H2SO4

https://dl.doubtnut.com/l/_TCeg7qPrDRwR
https://dl.doubtnut.com/l/_e4eYyLoxL5mJ


C. Contact process

D. Frasch process

Answer: C

Watch Video Solution

72. Radioactive element of group 17 is

A. Polonium.

B. Francium

C. Astatine

D. Radium

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_e4eYyLoxL5mJ
https://dl.doubtnut.com/l/_WTdnlS2NcjAe
https://dl.doubtnut.com/l/_bWc9nvqyPulh


73. Deacon's process of manufacture of chlorine is represented by

the equation

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

MnO2 + HCl → MnCl2 + Cl2 + H2O

KMnO4 + HCl → KCl → MnCl2 + H2O + Cl2

HCl + O2

CuCl2
−−−→ Cl2 + H2O

NaCl + MnO2 + H2SO4 → Cl2 + MnCl2 + NaHSO4 + H2O

74. The colour shown by halogen is incorrectly given by

A. =yellow

B. =colourless

F2

Cl2

https://dl.doubtnut.com/l/_bWc9nvqyPulh
https://dl.doubtnut.com/l/_u3LipkIyWdNC


C. =Red

D. =Violet

Answer: B

Watch Video Solution

Br2

I2

75. Which is incorrectly given according to order incicated?

A. Oxidising power

B. : Acidic strength

C. , Bond dissociation enthalpy

D. , Boiling point

Answer: C

Watch Video Solution

F2 > Cl2 > Br2 > l2,

Hl > HBr > HCl > HF

F2 > Cl2 > Br2 > l2

HF > Hl > HBr > HCl

https://dl.doubtnut.com/l/_u3LipkIyWdNC
https://dl.doubtnut.com/l/_4Zq2UfmCmerp
https://dl.doubtnut.com/l/_IMhfLIg2pfY0


76.  on reaction with excess of  gives

A. 

B. 

C.  only

D. 

Answer: A

Watch Video Solution

Cl2 NH3

NH4Cl + N2

NCl3 + HCl

NCl3Cl

NH4Cl + NCl3

77. Complete the following chemical reaction equations : 

(i)  


(ii)

A. NaOCl

B. 

NaOH
( cold and dilute )

+ Cl2 →

XeF6
( excess )

+ H2O →

NaClO3

https://dl.doubtnut.com/l/_IMhfLIg2pfY0
https://dl.doubtnut.com/l/_SKRrhS8O9zDE


C. 

D. 

Answer: A

Watch Video Solution

NaClO4

NaClO2

78.  


Shape of compound (A) is

A. Linear

B. Tetrahedral

C. Square Pyramidal

D. Trigonal bipyramidal

Answer: C

Watch Video Solution

Cl2 + F2
(Excess )

573K
−−→ (A)

https://dl.doubtnut.com/l/_SKRrhS8O9zDE
https://dl.doubtnut.com/l/_tRLH18ujJUVS


79. The correct order of acidic strength is

A. 

B. 

C. 

D. All of these

Answer: D

View Text Solution

HClO4 > HClO3 > HClO2 > HClO

HClO3 > HBrO3 > HlO3

H3PO2 > H3PO3 > H3PO4

80. The one with maximum oxidising power is

A. Hypochlorous acid

B. Chlorous acid

C. Chloric acid

https://dl.doubtnut.com/l/_tRLH18ujJUVS
https://dl.doubtnut.com/l/_sEQ5rkE7kwWy
https://dl.doubtnut.com/l/_kzPT8kutTKeM


D. Perchloric acid

Answer: A

Watch Video Solution

81. Total number of F-l-F bond angles which are  present in  is

A. zero

B. Two

C. Five

D. Ten

Answer: D

Watch Video Solution

90∘ lF7

https://dl.doubtnut.com/l/_kzPT8kutTKeM
https://dl.doubtnut.com/l/_V1pFkFNTj5Mg


82. In general interhalogen compounds are more reactive than

halogens, except

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2

Cl2

Br2

I2

83.  is used preparation of poisonous gases, one of them is

mustard gas, which can be represented by the formula

A. 

B. 

Cl2

CHCl3

COCl2

https://dl.doubtnut.com/l/_pWnShQ7ZQ8wR
https://dl.doubtnut.com/l/_rNUKuCFAPzfG


C. 

D. 

Answer: D

Watch Video Solution

CCl3NO2

ClCH2CH2SCH2CH2Cl

84. Anamolous behaviour of fluorine in group 17 is due to

A. Small size

B. High electronegativity

C. Low F-F bond dissociation enthalpy and absence of vacant d

orbital

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rNUKuCFAPzfG
https://dl.doubtnut.com/l/_e9E8wEJIpJnf


85.  


Radon is prepared by -decay from radium, in above reaction A and

Z are respectively

A. 226, 86

B. 222,90

C. 222,86

D. 230,90

Answer: C

Watch Video Solution

.226
86 Ra → .AZ Rn + .4

2 He

α

86. Noble gases are mostly inert. Assign reasons.

A. Completely filled electronic configuration

https://dl.doubtnut.com/l/_e9E8wEJIpJnf
https://dl.doubtnut.com/l/_5Y18p7Nx8tyA
https://dl.doubtnut.com/l/_PDVspXj2ytY7


B. High ionisation enthalpy

C. More positive electron gain enthalpy

D. All of these

Answer: D

Watch Video Solution

87.  


The compound formed in above reaction is

A. 

B. 

C. 

D. 

Answer: C

Xe + Fe2
( 1 :20 )

573K , 60 − 70  bar
−−−−−−−−−−→ ?

XeF2

XeF4

XeF6

XeOF4

https://dl.doubtnut.com/l/_PDVspXj2ytY7
https://dl.doubtnut.com/l/_b3iypO0oeH87


View Text Solution

88. Noble gases used in diving apparatus and discharge tube is

respectively (main use)

A. 

B. Ne, Ne

C. He, He

D. He, Ar

Answer: A

Watch Video Solution

He, Ne

89. Which is mismatched regarding the shape?

A. =Square planarXeF4

https://dl.doubtnut.com/l/_b3iypO0oeH87
https://dl.doubtnut.com/l/_a6PEOn4Iy9SH
https://dl.doubtnut.com/l/_31I9mfLfl3ui


B. =Square pyramidal

C. =Distorted octahedral

D. =Bent T shape

Answer: D

Watch Video Solution

XeOF4

XeF6

XeO3

90. Compound of which of the noble gases, are neither isolated nor

identified?

A. He,Ne,Ar,Kr,Rn

B. He,Ne,Kr

C. He,Ne,Ar

D. He only

Answer: C

https://dl.doubtnut.com/l/_31I9mfLfl3ui
https://dl.doubtnut.com/l/_2RFWlSftM0Sp


Watch Video Solution

91. Structure of  is correctly represented by

A. 

B. 

C. 

D. Both 2 and 3

Answer: B

Watch Video Solution

XeO2F2

https://dl.doubtnut.com/l/_2RFWlSftM0Sp
https://dl.doubtnut.com/l/_aQtfyNeoA0JT


92. Why has it been difficult to study the chemistry of radon?

A. it is radioactive with short half life

B. it is chemically inert

C. its compound is not isolated

D. it has low boiling point

Answer: A

Watch Video Solution

93. The ease of liquefaction of noble gases decreases in the order

A. HegtNegtArgtKrgtXe

B. XegtKrgtArgtNegtHe

C. NegtArgtKrgtXegtHe

https://dl.doubtnut.com/l/_aQtfyNeoA0JT
https://dl.doubtnut.com/l/_U05AwzxjQLdt
https://dl.doubtnut.com/l/_Ta1tM8WyHqiX


D. He=Ne=Ar=Kr=Xe

Answer: B

Watch Video Solution

94. Noble gases are sparingly soluble in water due to

A. London forces

B. Dipole-dipole interaction

C. dipole-induced dipole interaction

D. lon-dipole interaction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Ta1tM8WyHqiX
https://dl.doubtnut.com/l/_NdmzV56iYFqI


Assignment Section-B)

1. Which is correct for the structure of diborane ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[BH2] + [BH4] −

h ⋅

H

∣

B
∣

H

−

H

∣

B
∣

H

⋅ H

2. The following sequence of reactions is used to convert borax into

boron (B). 

https://dl.doubtnut.com/l/_c6tsTNlDaI43
https://dl.doubtnut.com/l/_yDxplibMHh5W


 


Reagents X and Y are respectively

A. Acid, Al

B. Base, C

C. Base, Fe

D. Acid, Mg

Answer: D

Watch Video Solution

Na2[B4O5(OH)4]
Borax

.8H2O
x

−−→ H3BO3

Δ
−−→ B2O3

Y
−−→ B

Boron

3. Which of the following reaction represents the correct product

formation?

A. 

B. 

Al4C3 + H2O → CH4

Mg2C3 + H2O → CH ≡ CH

https://dl.doubtnut.com/l/_yDxplibMHh5W
https://dl.doubtnut.com/l/_zc2BIxDKLZNU


C. 

D. 

Answer: A

Watch Video Solution

CaC2 + H2O → C2H4

Be2C + H2O → CH3 − C ≡ CH

4. Stability of trivalent and mono valent cation of group 13 (Boron

family) will be in order :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ga3 + > ln3 + > Tl3 +

Tl3 + > ln3 + > Ga3 +

ln3 + > Ga3 + > Tl3 +

ln3 + > Ti3 + > Ga3 +

https://dl.doubtnut.com/l/_zc2BIxDKLZNU
https://dl.doubtnut.com/l/_OVtJhoUK6QFM


5. Ionisation of boric acid in aqusous medium gives which one of the

following?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[B(OH)4]
−

[B(OH)2O]
−

[B(OH)O2]2 −

[BO3]3 −

6. Shortest C-O bond is present in

A. Carbon monoxide

B. Carbon dioxide

https://dl.doubtnut.com/l/_OVtJhoUK6QFM
https://dl.doubtnut.com/l/_jlGe4mY4AnjY
https://dl.doubtnut.com/l/_kmcVdmfJsxub


C. Carbonate ion

D. Acetone

Answer: A

Watch Video Solution

7. Boron halides behave as Lewis acid because of their ___ nature.

A. Ionisation property

B. Electron deficient nature

C. Acidic nature

D. Covalent nature

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kmcVdmfJsxub
https://dl.doubtnut.com/l/_uhJqi48WPLIr
https://dl.doubtnut.com/l/_5jfdhYDddZ6k


8. In graphite, electrons are

A. Localised on each carbon-atom

B. Localised on every third C-atom

C. Delocalised within the layer

D. Present in anti-bonding orbital

Answer: C

Watch Video Solution

9. From , all the following can be prepared except

A. 

B. 

C. 

B2H6

H3BO3

B2(CH3)4H2

B2(CH3)6

https://dl.doubtnut.com/l/_5jfdhYDddZ6k
https://dl.doubtnut.com/l/_knmvgVatUk7h


D. 

Answer: C

Watch Video Solution

NaBH4

10. Thermodynamically the most stable form of carbon is

A. Diamond

B. Graphite

C. Peat

D. Coal

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_knmvgVatUk7h
https://dl.doubtnut.com/l/_LYsTfww8hv28


11. Specify the coordination geometry around and the hybridisation

of  and  atoms in  complex of  and .

A. N is tetrahedral, , B is tetrahedral, 

B. N is pyramidal, , B is pyramidal, 

C. N is pyramidal, , B is planar, 

D. N is pyramidal, , B is tetrahedral 

Answer: A

Watch Video Solution

N B 1: 1 BF3 NH3

sp3 sp3

sp3 sp3

sp3 sp2

sp3 sp3

12. Carbondioxide is used for extinguishing fire because

A. it has a relatively high critical temperature

B. In solid state, it is called dry ice

https://dl.doubtnut.com/l/_h8DtaoEukXUS
https://dl.doubtnut.com/l/_E54YYBRH1vyT


C. It is neither combustible nor a supporter of combustion

D. it is a colourless gas

Answer: C

Watch Video Solution

13. Boron nitride on reacting with steam gives

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

N2O

Na2BO2

NO2

https://dl.doubtnut.com/l/_E54YYBRH1vyT
https://dl.doubtnut.com/l/_Qhb4v3321e9J
https://dl.doubtnut.com/l/_ZeSR4oRklNkO


14. Borax is written as

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2[B4O5(OH)4] ⋅ 8H2O

Na2B4(OH)7O2 ⋅ 3H2O

Na2OB4O8H2

Na2B4O17H2O

15. Write the chemical reactions of  with cold and hot water.

A. Ortho phosphoric acid

B. Meta phosphoric acid

C. Pyrophosphoric acid

P4O6

https://dl.doubtnut.com/l/_ZeSR4oRklNkO
https://dl.doubtnut.com/l/_lPTwbuIWpoal


D. Hypophosphorous acid

Answer: A

Watch Video Solution

16. Which of following trihalides of nitrogen behaves as the weakest

base?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NF3

NCl3

NBr3

Nl3

https://dl.doubtnut.com/l/_lPTwbuIWpoal
https://dl.doubtnut.com/l/_fkHJnzVla12F
https://dl.doubtnut.com/l/_2A4TGMj4oFpb


17. Arrange the following molecules in the increasing order of bond

angle. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O
I

H2S
II

H2Se
III

H2Te
IV

H2O > H2S > H2Se > H2Te

H2O > H2Te > H2Se > H2S

H2S > H2Se > H2S > H2Te

18. The colour of  is violet because it

A. Absorbs violet light

B. Does not absorb light

I2

https://dl.doubtnut.com/l/_2A4TGMj4oFpb
https://dl.doubtnut.com/l/_M92bj3x7rh0g


C. Absorbs yellow and green light

D. property of 

Answer: C

Watch Video Solution

l2

19.  on heating gives a gas which is also given by :

A. Heating 

B. Heating 

C. 

D. 

Answer: A

Watch Video Solution

(NH4)2Cr2O7

NH4NO2

NH4NO3

Mg3N2 + H2O

NH4Cl

https://dl.doubtnut.com/l/_M92bj3x7rh0g
https://dl.doubtnut.com/l/_GVqIh2ei3z7e
https://dl.doubtnut.com/l/_9TBVWlYyHkTa


20. products 


the oxidation state of chromium changes from

A.  to +6

B.  to +6

C.  to +3

D.  to +4

Answer: C

Watch Video Solution

K2Cr2O7 + SO2

H +
−−→

+12

+3

+6

+6

21.  is a mixed anhydride because it

A. Is a mixture of 

B. Decomposes into two oxides of nitrogen

C. Reacts with water to give nitric acid

N2O4

N2O3 and N2O5

https://dl.doubtnut.com/l/_9TBVWlYyHkTa
https://dl.doubtnut.com/l/_cigW2JSWJCaF


D. Reacts with water to form two acids

Answer: D

Watch Video Solution

22. The percentage of available chlorine in a commercial sampleof

bleaching powder is

A. 0.12

B. 0.35

C. 0.58

D. 0.85

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_cigW2JSWJCaF
https://dl.doubtnut.com/l/_zfqKLXrTW4bn
https://dl.doubtnut.com/l/_YlXiO0HDlLgN


23. A certain compound when burned gives three oxides. The first

turned lime water milky, the second turned anhydrous  blue

and the third formed an aqueous solution of low pH. The elements

present in the compound are

A. C,S,Ca

B. N,S,K

C. C,H,S

D. C,H,Ca

Answer: A

Watch Video Solution

CuSO4

24. Which of the following gas has highest solubility in water?

A. NO

https://dl.doubtnut.com/l/_YlXiO0HDlLgN
https://dl.doubtnut.com/l/_QlcbuBAwg7jF


B. 

C. 

D. 

Answer: C

Watch Video Solution

CO2

SO3

CO

25. Which of the following compound is paramagnetic?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2O4

ClO2

Cl2O7

N2O

https://dl.doubtnut.com/l/_QlcbuBAwg7jF
https://dl.doubtnut.com/l/_W541JeSF2EYf


Assignment Section-C)

26. The strongest oxidising agent among the following is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ClO
−
4

BrO
−
4

lO
−
4

ClO3

1. Which of the following compounds are acidic?

A. B(OH)3

https://dl.doubtnut.com/l/_W541JeSF2EYf
https://dl.doubtnut.com/l/_uG9Csnk961Nn
https://dl.doubtnut.com/l/_WyAIDAWitfLs


B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

Al(OH)3

BF3

CO2

2. Which of the following compounds contain boron?

A. Borax

B. Colemarite

C. Feldspar

D. kernite

Answer: A::B::D

Watch Video Solution

https://dl.doubtnut.com/l/_WyAIDAWitfLs
https://dl.doubtnut.com/l/_eZ67XbI7lbkP


3. Which of the following compound react with ?

A. Ethers

B. 

C. Ethylalcohol

D. 

Answer: A::B::C::D

Watch Video Solution

BF3

H2O

NH3

4. Which of the following statement is/are correct regarding B-F

bond in ?

A. All the three B-F bond lengths are equal and each of them is

shorter than the sum of the covalent radii of boron and

BF3

https://dl.doubtnut.com/l/_eZ67XbI7lbkP
https://dl.doubtnut.com/l/_w5G851QVZJsf
https://dl.doubtnut.com/l/_qUcdWustbdsf


fluorine

B. The bond energy of the B-F bond is very high, higher than for

any other single bond

C. The unusual shortness and strength of the B-F bond may be

explained by  interaction between boron and fluorine

atoms

D. The unusual shortness and strength of the bonds may be

explained by a  interaction between boron and

fluorine atoms.

Answer: A::B::C

Watch Video Solution

pπ − pπ

pπ − dπ

5. Which of the following compound react with ?B2H6

https://dl.doubtnut.com/l/_qUcdWustbdsf
https://dl.doubtnut.com/l/_N0WwtavXhIqU


A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

Cl2

CO

NH3

(CH3)3N

6. Which of the following statement is/are correct?

A.  partially reacts with water to form  and

 and behaves like a weak acid

B.  behaves like a strong monobasic acid in presence of

sugars and this acid can be titrated against NaOH solution

using phenolphthalein as an indicator

B(OH)3 H3O
+

[B(OH4)] −

B(OH)3

https://dl.doubtnut.com/l/_N0WwtavXhIqU
https://dl.doubtnut.com/l/_aWffCYwKaezP


C.  does not donate a proton and hence does not form

any salt with NaOH

D.  reacts with NaOH, forming 

Answer: A::B::D

View Text Solution

B(OH)3

B(OH)3 Na[B(OH)4]

7. Which of the following molecules have zero dipole?

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

CS2

CO2

CCl4

CH2Cl2

https://dl.doubtnut.com/l/_aWffCYwKaezP
https://dl.doubtnut.com/l/_ucaiwj7QGYnS


8. Which of the following halides of carbon are solids?

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

CF4

CCl4

CBr4

Cl4

9. Borazine is the product of reaction between

A. 

B. 

B2H6

NH3

https://dl.doubtnut.com/l/_ucaiwj7QGYnS
https://dl.doubtnut.com/l/_2JejQzBCwTZt
https://dl.doubtnut.com/l/_YTj44L2oimmB


C. 

D. 

Answer: A::B

Watch Video Solution

BF3

BCl3

10. Which of the followig statements is/are correct?

A. The carbon-di-oxide molecule behaves as a nonpolar molecule

even through two of its resonating structures.

 are dipolar

B. Carbon di-oxide is the anhydride of the unstable dibasic acid

C. The carbon dioxide molecule is linear because the carbon

atom utilizes its sp orbitals to form  bonds

. − O − C ≡ O+ and O+ ≡ C − O−

O = C(OH)2

σ

https://dl.doubtnut.com/l/_YTj44L2oimmB
https://dl.doubtnut.com/l/_73FbtXdP1Jml


D. The carbon atom is - hybridised in the  molecule as

well as the molecule of its hydrate 

Answer: A::B::C

Watch Video Solution

sp2 CO2

H2CO3

11. Which of the following statement is/are correct?

A. Aluminium carbide as well as beryllium carbide produce

methane gas on treatment with water

B. On reacting with water, calcium carbide  produces

acetylene while magnesium carbide  gives propyne

C. Calcium carbide has one sigma and two pi bonds

D. Diamond is more stable than graphite.

Answer: A::B::C

(CaC2)

(Mg2C3)

https://dl.doubtnut.com/l/_73FbtXdP1Jml
https://dl.doubtnut.com/l/_WNqYZMRnn5NA


Watch Video Solution

12. Choose the correct statement regarding oxy acids of halogens

A. F does not form oxy acid

B.  is stronger acid than 

C. All oxy acids are monobasic

D.  is stronger oxidising agent than 

Answer: B::C

Watch Video Solution

HClO4 HBrO4

HClO4 HBrO4

13. Which of the following compounds give ammonia with water?

A. 

B. 

Mg3N2

AlN

https://dl.doubtnut.com/l/_WNqYZMRnn5NA
https://dl.doubtnut.com/l/_gNKXfFEq5WKg
https://dl.doubtnut.com/l/_YK2GUQ6NT6aI


C. 

D. 

Answer: A::B::C

Watch Video Solution

CaCN2

Ca(CN)2

14. Which of the following oxides are amphoteric?

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

CO

SnO2

ZnO

BeO

https://dl.doubtnut.com/l/_YK2GUQ6NT6aI
https://dl.doubtnut.com/l/_Xfi31uXEEb9J
https://dl.doubtnut.com/l/_VChs7Zny1IuN


15. Which of the following ammonium salt evolves  on heating?

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

N2

(NH4)2SO4

NH4NO2

NH4NO3

(NH4)2Cr2O7

16. Bromine react with NaOH to produce

A. NaBr and  in hot solution

B. NaBr and  in cold solution

C. NaBr and NaBrO in hot solution

NaBrO3

NaBrO

https://dl.doubtnut.com/l/_VChs7Zny1IuN
https://dl.doubtnut.com/l/_UicCxYFxMseA


D. Only NaBr in cold and NaBrO in hot

Answer: A::B

Watch Video Solution

17. Which of the following compounds have same hybridisation?

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

ClF3

PF5

XeF4

SF4

https://dl.doubtnut.com/l/_UicCxYFxMseA
https://dl.doubtnut.com/l/_PzwvXPdqrall


18. Which of the following statement is/are correct regarding

halogens?

A. All halogens form oxyacids

B. Oxidising power of halogen 

C. Electron affinity of fluorine is highest

D. All halogens show oxidation state from -1 to +7.

Answer: A::B

Watch Video Solution

F2 > Cl2 > Br2 > l2

19. Which of the following are correctly matched?

A. Thermal stability

B.  Acid strength.

HClO < HClO2 < HClO3 < HClO4 →

HClO < HClO2 < HClO3 < HClO4 →

https://dl.doubtnut.com/l/_iqNJPtGUm1UE
https://dl.doubtnut.com/l/_FwbS8sc5Ec8G


C.  Oxidising power

D.  Acidic strength

Answer: A::B

Watch Video Solution

HClO < HClO2 < HClO3 < HClO4 →

Hl < HCl < HBr < H − F →

20. For  and  the correct choice is

A.  is a dibasic acid

B.  is a tribasic acid

C.  is a reducing agent

D.  is a reducing agent

Answer: A::B::D

Watch Video Solution

H3PO3 H3PO4

H3PO3

H3PO4

H3PO4

H3PO3

https://dl.doubtnut.com/l/_FwbS8sc5Ec8G
https://dl.doubtnut.com/l/_rSEwkErfdD2Q
https://dl.doubtnut.com/l/_2WhPvzVoAmHZ


21. Which of the following pairs are correctly matched?

A. Habar's process 

B. Bayer's process 

C. Birkeland-Eyde process 

D. Solvay process 

Answer: A::C::D

Watch Video Solution

(NH3)

(H2SO4)

(HNO3)

(Na2CO3)

22. Which of the following compounds show self ionisation in liquid

state?

A. 

B. 

C. 

NO2

ClF3

BrF5

https://dl.doubtnut.com/l/_2WhPvzVoAmHZ
https://dl.doubtnut.com/l/_hGsoMipMOkvb


D. 

Answer: A::B::C

Watch Video Solution

PCl5

23. Which of the following compound(s) contains(s) N-N bond?

A. 

B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

N2O3

N2O5

N3H

N2O4

https://dl.doubtnut.com/l/_hGsoMipMOkvb
https://dl.doubtnut.com/l/_QTEmOYJS85rD


Assignment Section-D)

1.  


Q. In the above reaction the product (C) resembles with

A. Graphite

B. Benzene

C. Fullerene

D. Diamond

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_aK7iCglaNiuB


2.  


Q. Hybridization of B in compound (B) is

A.  hybridisation

B. 

C. 

D. 

Answer: B

Watch Video Solution

sp3

sp2

dsp2

sp3d2

https://dl.doubtnut.com/l/_QrQKs4kw6C4U


3.  


Q. Borax structure contains

A. Two  groups and two  groups

B. Four  groups only

C. Three  and one  groups

D. 

Answer: A

Watch Video Solution

BO4 BO3

BO4

BO4 BO3

https://dl.doubtnut.com/l/_esI0CifxElZR


4. Allotropes of carbon: There are three forms of carbon. i.e.,

diamond, graphite and fullerene which exxist in crystalline form.

Graphite and diamond occur in nature. The structure of diamond is

tetrahedral with  hybridisation and diamond exist in 3-D netowrk

solid. in graphite, carbon is  hybridised. each carbon linked to

other carbon linked to other carbon atom forms hexagonal ring. it

has a layered structure. diamond and graphite are purest form of

carbon. Fullerene constitute a new family of carbon allotropes. 

Consisting of large spheroidal molecule of compound with general

formula . common fullerene , contain 5 and 6 membered

rings. 

Q. Which of the following statement is correct regarding 

fullerene?

A. It contains 20, six membered ring and 12, five membered rings

B. It contains 20, six membered ring and 12, five membered rings

C. It consist of 25, six membered and 12, five membered rings

sp3

sp2

C2n C6, C70

C60

https://dl.doubtnut.com/l/_sRQcm6eYwiE9


D. It consists of 12, six membered and 25, five membered rings.

Answer: B

Watch Video Solution

5. Allotropes of carbon: There are three forms of carbon. i.e.,

diamond, graphite and fullerene which exxist in crystalline form.

Graphite and diamond occur in nature. The structure of diamond is

tetrahedral with  hybridisation and diamond exist in 3-D netowrk

solid. in graphite, carbon is  hybridised. each carbon linked to

other carbon linked to other carbon atom forms hexagonal ring. it

has a layered structure. diamond and graphite are purest form of

carbon. Fullerene constitute a new family of carbon allotropes. 

Consisting of large spheroidal molecule of compound with general

formula . common fullerene , contain 5 and 6 membered

rings. 

Q. Which of the following statement is incorrect for graphite?

sp3

sp2

C2n C6, C70

https://dl.doubtnut.com/l/_sRQcm6eYwiE9
https://dl.doubtnut.com/l/_UI00VElONtiG


A. Very small, the layers being tightly packed

B. Many times larger than the covalent radius of carbon

C. More than twice the covalent radius of carbon

D. The same as the covalent radius of carbon

Answer: C

Watch Video Solution

6. Allotropes of carbon: There are three forms of carbon. i.e.,

diamond, graphite and fullerene which exxist in crystalline form.

Graphite and diamond occur in nature. The structure of diamond is

tetrahedral with  hybridisation and diamond exist in 3-D netowrk

solid. in graphite, carbon is  hybridised. each carbon linked to

other carbon linked to other carbon atom forms hexagonal ring. it

has a layered structure. diamond and graphite are purest form of

carbon. Fullerene constitute a new family of carbon allotropes. 

sp3

sp2

https://dl.doubtnut.com/l/_UI00VElONtiG
https://dl.doubtnut.com/l/_D1jTTwKd0uxs


Consisting of large spheroidal molecule of compound with general

formula . common fullerene , contain 5 and 6 membered

rings. 

Q. Which of the following statement is incorrect for graphite?

A. Its density is lower than that of diamond

B. It has a layered structrue and the bonding

C. its layers are very tightly packed, almost without any space

between them

D. it cleaves easily between the layers which accounts for the

remarkable softness of the crystals

Answer: C

Watch Video Solution

C2n C6, C70

https://dl.doubtnut.com/l/_D1jTTwKd0uxs


7.  


If (C) is silicone, then answer the following questions. 

Q. (A) and (B) are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

R2SiCl2&R2Si(OH)
2

R2SiCl2&R2Si = O

RSiCl3&Rsi(OH)
3

RSiCl3&R

O

∣ ∣

Si − OH

8.  


If (C) is silicon, then answer the following questions. 

https://dl.doubtnut.com/l/_fcUDW1icp0Fg
https://dl.doubtnut.com/l/_SOMFmFWc0eVl


Q. Structure of 'C' is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

9. Nitrogen forms largest number of oxides in which oxidation state

of nitrogen varies from +1 to +5 N2O, NO, N2O3, N2O4 and N2O5

https://dl.doubtnut.com/l/_SOMFmFWc0eVl
https://dl.doubtnut.com/l/_Gfzdb0tXYQty


respectively. The largest number of oxides are formed due to

capability of forming stable multiple bonds by nitrogen with oxygen.

Q. Which of the following is/are correct statement(s)?

A. In  the N-N bond length is longer than the usual N-N

single bond distance

B.  molecule is angular and N-O bond length is intermediate

between a single and a double bond

C.  is linear molecule and has small dipole moment

D. All of these

Answer: D

Watch Video Solution

N2O4

NO2

N2O

10. Nitrogen forms largest number of oxides in which oxidation

state of nitrogen varies from +1 to +5

https://dl.doubtnut.com/l/_Gfzdb0tXYQty
https://dl.doubtnut.com/l/_VTDzDzHloUHB


 respectively. The largest

number of oxides are formed due to capability of forming stable

multiple bonds by nitrogen with oxygen. 

Q. Which of the following oxides is known as anhydride of nitric

acid?

A. 

B. 

C. 

D. All of these

Answer: A

Watch Video Solution

N2O, NO, N2O3, N2O4 and N2O5

N2O5

N2O3

NO

11. Nitrogen forms largest number of oxides in which oxidation state

of nitrogen varies from +1 to +5 N2O, NO, N2O3, N2O4 and N2O5

https://dl.doubtnut.com/l/_VTDzDzHloUHB
https://dl.doubtnut.com/l/_MfVKw4Dg36ge


respectively. The largest number of oxides are formed due to

capability of forming stable multiple bonds by nitrogen with oxygen.

Q. Which of the following statements is/are correct regarding oxides

of nitrogen?

A. Dinitrogen trioxide dissolves in KOH forming potassium

nitrate

B. Aqueous solution by nitrogen dioxide behave both as a

reducing an as an oxidising agent

C. Nitrous oxide is fairly soluble in cold water and turns blue

litmus red

D. Nitrogen dioxide is soluble in water to form nitric acid only

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MfVKw4Dg36ge


12. Tin and lead form divalent Sn (II) and lead (II) and tetravalent i.e.,

Tin (IV) and lead. (IV) compounds. Tetravalent and dioxides of lead

and Tin are amphoteric in nature. Lead tetra fluorite is ionic solid

where as  is covalent.  does not exist. lead (II) halides are

white whereas  is yellow in colour. 


Q. Reaction of SnO with NaOH gives

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

PbCl4 Pbl4

Pbl2

Na2SnO2

H2SnO2

Na3SnO2

SnO2

https://dl.doubtnut.com/l/_c1y3Rv08vjxK


13. Tin and lead form divalent Sn (II) and ead (II) and tetravalent i.e.,

Tin (IV) and lead. (IV) compounds. Tetravalent and dioxides of lead

and Tin are amphoteric in nature. Lead tetra fluorite is ionic solid

where as  is covalent.  does not exist. lead (II) halides are

white whereas  is yellow in colour. 


Q.  does not exist due to

A. Inert pair effect

B. High reducing power of 

C. High oxidising power of 

D. High electronegativity of l.

Answer: B

Watch Video Solution

PbCl4 Pbl4

Pbl2

Pbl4

l−

l−

https://dl.doubtnut.com/l/_0wRvysezvoTG


Assignment Section-E)

14. Tin and lead form divalent Sn (II) and lead (II) and tetravalent i.e.,

Tin (IV) and lead. (IV) compounds. Tetravalent and dioxides of lead

and Tin are amphoteric in nature. Lead tetra fluorite is ionic solid

where as  is covalent.  does not exist. lead (II) halides are

white whereas  is yellow in colour. 


Q.  is solid whereas  is liquid, this is because?

A.  is ionic whereas  is covalent

B.  is covalent whereas  is ionic

C.  exist in polymeric form

D.  is linear and  is square planar in-structure.

Answer: A

Watch Video Solution

PbCl4 Pbl4

Pbl2

SnCl2 SnCl4

SnCl2 SnCl4

SnCl2 SnCl4

SnCl2

SnCl2 SnCl4

https://dl.doubtnut.com/l/_BkJnKjue2trh


1. Assertion: Boron always froms covalent bond. 

Reason: The small size of  favours formation of covalent bond.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: A

Watch Video Solution

B3 +

2. Statement-1: White  is considered as the elemental state of P. 


Statement-2: White P is most stable allotropic state of P.

P

https://dl.doubtnut.com/l/_jIuPjTjLbwbK
https://dl.doubtnut.com/l/_BrawVkkwLbgW


A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: C

Watch Video Solution

3. Statement-1: Aluminium chloride has chloro-bridged structure in

vapour phase. 

Statement-2: Aluminium chloride in acidified aqueous solution forms

[Al(H2O)6]
3 +

https://dl.doubtnut.com/l/_BrawVkkwLbgW
https://dl.doubtnut.com/l/_lcp81jKsdpfM


A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

4. Statement-1:  behaes as a lewis acid. 


Statement-2: Second ionisation is very much difficult in boric acid.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B(OH)3

https://dl.doubtnut.com/l/_lcp81jKsdpfM
https://dl.doubtnut.com/l/_mPA0uJH7B8dA


B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

5. Statement-1: B does not form  


Statement-2: Co-ordination number of B is 4.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

[BF6]3 −

https://dl.doubtnut.com/l/_mPA0uJH7B8dA
https://dl.doubtnut.com/l/_rjBeVPjGZ3YX


C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

6. Statement-1:  on heating with excess of ammonia forms

boron nitride. 

Statement-2:  contain three centre two electron pair bonds.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

B2H6

B2H6

https://dl.doubtnut.com/l/_rjBeVPjGZ3YX
https://dl.doubtnut.com/l/_pa2Ae4TPdkBd


D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

7. Statement-1:  and  do not undergo hydrolysis. 


Statement-2: Both B and carbon do not have empty d-orbitals.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: D

BCl3 CCl4

https://dl.doubtnut.com/l/_pa2Ae4TPdkBd
https://dl.doubtnut.com/l/_lgxYCwEx0Cm5


Watch Video Solution

8. Statement-1: Silicones are used as high class industrial insulators. 

Statement-2: Silicones are large covalent solids so bad conductors

of electricity.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lgxYCwEx0Cm5
https://dl.doubtnut.com/l/_Kavw8y4mfydl
https://dl.doubtnut.com/l/_65WOj2r6TQKf


9. Statement-1: Pyro-silicates are 1-D polymers. 

Statement-2: In pyro-silicates two orthosilicates are connected

through one oxygen atom common.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_65WOj2r6TQKf


10. Statement-1: Inter-stitial carbides are formed when heavy metals

react chemically with C(gas). 

Statement-2: In such carbides 'C' occupy voids available in heavy

metals.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_uev0Ko81Tcmj


11. Assertion: All clatharate compound of noble gas are the

compounds in which the molecules of noble gases are trapped in

cavities in te crystal lattice of other compounds. 

Reason: He and Ne having smaller size do not form clathrate

compound molecules because they are small enough to escape from

cavities.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hjFruIXYVAN8


12. Asserartion:  is covalent in gaseous and liquide states but

ionic in solid state. 

Reason:  in solid state consits of tetrahhedral  cation

and octahedral  anion.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: A

Watch Video Solution

PCl5

PCl5 PCl
+
4

PCl−
6

https://dl.doubtnut.com/l/_hjFruIXYVAN8
https://dl.doubtnut.com/l/_m3mfVrAFzveK


13. Statement-1: Bond energy of Hl is smaller than that of HBr. 

Statement-2: HBr is stronger acid than Hl.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: C

Watch Video Solution

14. Statement-1:  is hydrolysed by water by  is not

hydrolysed. 

NCl3 NF3

https://dl.doubtnut.com/l/_KINoMXNQCVLm
https://dl.doubtnut.com/l/_sCfHtZxNEk1R


Statement-2: N does not has vacant orbital for expansion of octet.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

15. Statement-1: Peroxo mono sulphuric acid has low basicity. 

Statement-2: It has one O-O bond.

https://dl.doubtnut.com/l/_sCfHtZxNEk1R
https://dl.doubtnut.com/l/_R1RXX0mMTiH9


A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

16. Statement-1: HF is weaker acid than HCl. 

Statement-2:  has high hydration energy than 

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

F − Cl−

https://dl.doubtnut.com/l/_R1RXX0mMTiH9
https://dl.doubtnut.com/l/_LLyhMTsW3kX7


B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

17. Statement-1:  is a linear compound. 


Statement-2: In , I is sp hybridised.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

IClΘ
2

IClΘ
2

https://dl.doubtnut.com/l/_LLyhMTsW3kX7
https://dl.doubtnut.com/l/_eywVxKS1LmNc


C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: C

Watch Video Solution

18. Statement-1:  is more basic than  


Statement-2: F is more electronegative than H.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

NH3 NF3

https://dl.doubtnut.com/l/_eywVxKS1LmNc
https://dl.doubtnut.com/l/_2Xz4xRynBQ1g


Answer: A

Watch Video Solution

19. Statement-1:  is weak diprotic acid. 


Statement-2: Salt of aq.  has pH greater than 7.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

H2S

Na20S

https://dl.doubtnut.com/l/_2Xz4xRynBQ1g
https://dl.doubtnut.com/l/_jnP3BwdMnQgC


20. Statement-1: All noble gases are considered as unreactive. 

Statement-2: Down the group, melting and boiling point increases.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: D

Watch Video Solution

21. Statement-1:  evolve a gas on addition of NaOH. 


Statement-2: Same gas is evolved on addition of NaoH on 

NH4NO3

NaNO3

https://dl.doubtnut.com/l/_F0NN4kRzzLCc
https://dl.doubtnut.com/l/_yoALrkWaosjm


in presence of Cu.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

22. Statement-1:  is an unstable orange yellow coloured solid. 


Statement-2: In , bond order of O-F is less than 1.

O2F2

O2F2

https://dl.doubtnut.com/l/_yoALrkWaosjm
https://dl.doubtnut.com/l/_hXD6OnYWKlm8


A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

Watch Video Solution

23. Statement-1: All oxy acid of P are good oxidising agents. 

Statement-2:  is monobasic.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

H3PO2

https://dl.doubtnut.com/l/_hXD6OnYWKlm8
https://dl.doubtnut.com/l/_XE1XSnomOicK


B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: D

Watch Video Solution

24. Statement-1: HBr can be obtained by treating NaBr with . 


Statement-2:  is stronger acid than HBr.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

H3PO4

H3PO4

https://dl.doubtnut.com/l/_XE1XSnomOicK
https://dl.doubtnut.com/l/_UHm074j0od2S


Assignment Section-F)

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: C

Watch Video Solution

1. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_UHm074j0od2S
https://dl.doubtnut.com/l/_j5f16MRpLoho


2. Match the following 

Watch Video Solution

3. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_RM74WrRjc67w
https://dl.doubtnut.com/l/_lBEXbJduG7dL


Assignment Section-G)

4. Match the following 

Watch Video Solution

1. How many water molecules of crystallisation are present in borax,

 ?

Watch Video Solution

Na2B4O7.10H2O

2. Determine the product of metalloids and the radio-active

elements present in group-13 & group -14

View Text Solution

https://dl.doubtnut.com/l/_7QO0d2GTLaWx
https://dl.doubtnut.com/l/_aTZdf6G7toRh
https://dl.doubtnut.com/l/_ZErkstP86BuH


View Text Solution

3. Number of oxygen atoms shared per  tetrahedron in single

chain silicates are .

Watch Video Solution

SiO4 −
4

_________________

4. How many nitrogen is/are . Hybridised in hydrazoic acid?

View Text Solution

sp2

5. What is the Oxidation
 number of Xe in mixture of

?

Watch Video Solution

XeF6 and XeF4

https://dl.doubtnut.com/l/_ZErkstP86BuH
https://dl.doubtnut.com/l/_pyZVbUZnUAxx
https://dl.doubtnut.com/l/_61TNRGUEO7LR
https://dl.doubtnut.com/l/_XWKtnu00m0oS


6. How many N-O bonds are present in product when  is

strongly heated (above )?

Watch Video Solution

NH4NO3

300∘C

7. What will be the maximum valency of P with Cl?

Watch Video Solution

8. How many P-P bonds are present in ?

Watch Video Solution

P4S5

9.  Product. 


How many hybrid orbitals will be present in Xe in product?

Watch Video Solution

XeF6 + H2O
excess
−−−→

https://dl.doubtnut.com/l/_RSpMxQxUTbVS
https://dl.doubtnut.com/l/_kg4HkGOHCk4q
https://dl.doubtnut.com/l/_UeFhLM7HYfhQ
https://dl.doubtnut.com/l/_70VCjAQ5Fn0Q


Assignment Section-H)

1. Statement-1: Sodium silicate is called water glass. 

Statement-2:Salts of lead are poisonous in nature. 

Statement-3: Producer gas is a mixture of CO and N.

A. TTT

B. TFT

C. FFT

D. FTF

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_70VCjAQ5Fn0Q
https://dl.doubtnut.com/l/_voW6CJjpNsKm


2. Statement-1: In  molecule resonance is possible. 


Statement-2: CO is used in purification of Ni. 

Statement-3:  is more acidic than .

A. TTT

B. TFT

C. FFT

D. FTF

Answer: A

Watch Video Solution

CO2

H2CO3 H2SiO3

3. Statement-1: Al forms  when reacts with NaOH. 


Statement-2:  is amphoteric by nature. 


Statement-3:  is a neutral oxide.

H2

Al2O3

Al2O3

https://dl.doubtnut.com/l/_Ed6bU37kuoe7
https://dl.doubtnut.com/l/_oHwy5Laruq89


A. FFT

B. FTT

C. TFF

D. TTF

Answer: D

Watch Video Solution

4. which is/are statement is correct.

Statement-1:  is the starting material for linear polymer of

silicone. 

Statement-2:  is the starting material for 3-D polymer of

silicone. 

Statement-3:  is the starging material for 3-D polymerr of

silicone.

View Text Solution

R2SiCl2

R2SiCl2

R3SiCl

https://dl.doubtnut.com/l/_oHwy5Laruq89
https://dl.doubtnut.com/l/_SBiMukHdtRT3


5. Statement-1: Molten state of  is slightly conducting. 


Statement-2:  is more reactive than . 


Statement-3: In molten state of , chlorine may possess 

hybridisation.

A. FTF

B. TFT

C. TTT

D. FFF

Answer: C

View Text Solution

IF5

ICl Cl2

ClF3 sp3d2

https://dl.doubtnut.com/l/_SBiMukHdtRT3
https://dl.doubtnut.com/l/_VFfoeLP4CLiY


6. Statement-1:  reacts with KOH and forms a paramagnetic

compound. 

Statement-2:  is paramagnetic. 


Statement-3:  gives  when heated with 

A. FTF

B. TFT

C. TTT

D. FFF

Answer: C

View Text Solution

O3

KO3

O2 O−
2 Na/NH3

7. Statement-1:  acid never exists. 


Statement-2:  is a thionic acid. 


Statement-3:  contain S-S bond.

HNO4

H2S2O3

H2S2O7

https://dl.doubtnut.com/l/_rPecHo6Elwdm
https://dl.doubtnut.com/l/_NXUGYrO90BNW


A. TFT

B. FTF

C. FTT

D. FFF

Answer: B

Watch Video Solution

8. Statement-1: HBr can be obtained by treating NaBr with . 


Statement-2: HBr is good oxodising agent. 

Statement-3: NaBr is soluble in water.

A. FTT

B. TTT

C. FFT

H2SO4

https://dl.doubtnut.com/l/_NXUGYrO90BNW
https://dl.doubtnut.com/l/_t98JP66ieYkx


D. TFT

Answer: A

Watch Video Solution

9. Statement-1: All halogens are coloured. 

Statement-2: Halogens exist in diatomic gaseous state. 

Statement-3:  is more reactive than 

A. TTT

B. TFT

C. FTT

D. TFF

Answer: B

Watch Video Solution

F2 Cl2

https://dl.doubtnut.com/l/_t98JP66ieYkx
https://dl.doubtnut.com/l/_6iOfkyKSxsmW


Assignment Section-I)

10. Statement-1:  exists in ionic solid. 


Statement-2:  is a covalent compounds. 


Statement-3: All P-Cl bond lengths in  are equal.

A. TFF

B. TFT

C. FTT

D. TTF

Answer: D

Watch Video Solution

PCl5

PCl5

PCl5

https://dl.doubtnut.com/l/_6iOfkyKSxsmW
https://dl.doubtnut.com/l/_uRkNIrd9Lute


1. (a) Explain why  exists whereas  does not. 


(b) Compare the B-F bond length in  and 

Watch Video Solution

BF3 BH3

BF3 BF
−

4

2. How is boron obtained from borax ? Give the chemical reactions

involved. Draw the structure of  and give its reaction with 

.

Watch Video Solution

B2H6 HCl

3. Boric acid can be titrated against sodium hydroxide using methyl

orange as indicator only in the presence of polyhydroxy compounds

wlike catechol, manniton etc. explain.

Watch Video Solution

https://dl.doubtnut.com/l/_SrIron8vRqbA
https://dl.doubtnut.com/l/_9GxEDBXKIld9
https://dl.doubtnut.com/l/_RcmANJwYpE1N
https://dl.doubtnut.com/l/_73n28Qfwr0EA


4. (a)  molecule has different shapes. Expain. 


(b).  cannot be hydrolysed but  can be, why?

Watch Video Solution

BF3 and BrF3

CCl4 SiCl4

5. Although boric acid , contains three hydroxyl groups yet

it behaves as a monobasic acid. Explain why?

Watch Video Solution

B(OH)3

6. An aqueous solution containing one mole of  and two moles

of NaI is orange in colour. On addition of excess NaI the solution

becomes colourless. The orange colour reappears on subsequent

addition of NaOCl. Explain with equation.

Watch Video Solution

HgI2

https://dl.doubtnut.com/l/_73n28Qfwr0EA
https://dl.doubtnut.com/l/_H0kp4ceRyiQ0
https://dl.doubtnut.com/l/_TkV3R08p3n8G
https://dl.doubtnut.com/l/_ZwAZIWiMAIas


7. (a) On bolining a mineral  with  solution, a white

precipirtate  is formed. 

(b) The precipitate is fitered and the filtrate contains two conpounds

 and . The componds  is removed by crystallisation and

when  is passed through the mother liquor left,  changes to

. 


( c) On strongly heating , two compounds  and  are

formed. 

(d)  on heating with cobalt oxide provides blue-coloured

substance . 


Identify  to  and give chemical reaction for  to .

Watch Video Solution

(A) Na2CO3

(B)

(C) (D) (C)

CO2 (D)

(C)

(C) (D) (E)

(E)

(F )

(A) (F ) (a) (d)

8. Complete the following 

.

Watch Video Solution

https://dl.doubtnut.com/l/_ZwAZIWiMAIas
https://dl.doubtnut.com/l/_Tdl3oAtW0sHO


9.  


'E' is same as graphite, identify (A) to (E)

Watch Video Solution

10. ?

Watch Video Solution

B(OH)3

HOCH2CH2OH
−−−−−−−−−→

11. Indicate whether the following statements are true or false.

Explain your answer in brief. 

https://dl.doubtnut.com/l/_Tdl3oAtW0sHO
https://dl.doubtnut.com/l/_JJ7Z9pSTa29k
https://dl.doubtnut.com/l/_11A1QnjjLJXH
https://dl.doubtnut.com/l/_IXu3cvCLS4SG


(i) The decreasing order of electron affinity of F, Cl, Br is FgtClgtBr. 

(ii) HBr is stronger acid than Hl because of hydrogen bonding.

Watch Video Solution

12. Write the balanced equations for the reactions of the following

compounds with water: 

(i)  (ii)  (iii)  (iv)  (v) 

Watch Video Solution

AI4C3 CaNCN BF3 NCI3 XeF4

13. Gradual addition of  solution to  solution initially

produces a dark brown precipitate which dissolves in excess of 

to give a clear yellow solution. Write chemical equation for the

above reactions.

Watch Video Solution

KI Bi(NO3)3

KI

https://dl.doubtnut.com/l/_IXu3cvCLS4SG
https://dl.doubtnut.com/l/_SPJlXrIKgMJ0
https://dl.doubtnut.com/l/_jWCqDJYTmBSJ
https://dl.doubtnut.com/l/_ltHsuU8hGi9M


14. An inorganic Lewis acid  shows the following reactions : 


(a) It fumes in moist air. 

(b) The intensity of fumes increase when a rod dippod in  is

brought near it. 

( c) To an aqueous solution of , addition of  and 

 gives a precipitate which dissolves in  solution. 


(d) An acidic solution of  does not give a precipitate with . 


Identify  and gives chemical reactions for  to .

Watch Video Solution

(X)

NH4OH

(X) NH4Cl

NH4OH NaOH

(X) H2S

(X) (a) (d)

15. Write balanced equation for reaction of  with water. Also

name the reaction.

Watch Video Solution

XeF4

https://dl.doubtnut.com/l/_ltHsuU8hGi9M
https://dl.doubtnut.com/l/_WsIH6N7dh5Hr


Assignment Section-J)

16. Arrange in increasing order of extent of hydrolysis

.

Watch Video Solution

[CCl4, MgCl2, AlCl3, PCl5, SiCl4]

1. Correct among the follownig

A.  is a better Lewis base than 

B.  does not form dimer as B-F bond is less polar.

C. Hydrides are the only species which may form 3 centre 2 

bond

D. All the hydrides form 3 centre i.e., bonds.

Answer: A

BF3 BCl3

BF3

e−

https://dl.doubtnut.com/l/_Cf1eEtggUQLb
https://dl.doubtnut.com/l/_uW7kgy3hOWWV


Watch Video Solution

2. Incorrect among the following

A.  is molecule with sp sate of hybridisation

B.  is a molecule with graphite like structure

C.  is a molecule with  hybridisation

D.  is prepared by reaction of  and 

Answer: A::D

Watch Video Solution

(BN)x

(BN)x

(BN)x sp2

BN B2O3 NH3

3.  reacts with  to form

A. 

B. 

B2H6 NH3

B3N3H6

BN

https://dl.doubtnut.com/l/_uW7kgy3hOWWV
https://dl.doubtnut.com/l/_hxREVyERr8IP
https://dl.doubtnut.com/l/_udiSaqaobicq


C. 

D. `All of these

Answer: A::B

Watch Video Solution

[B2H5] Θ
NH

⊕
4

4. SiC is a/an

A. Abrasive

B. A hard material

C. Covalent carbide

D. Diamond like structure

Answer: A::B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_udiSaqaobicq
https://dl.doubtnut.com/l/_dUndauc4wiyY
https://dl.doubtnut.com/l/_pWNAE5RFqkwC


5.  is solid while  is gas. Why?

A. A3-D broad network solid

B. An insulator

C. Silica

D. An acidic oxide

Answer: A::B::C::D

Watch Video Solution

SiO2 CO2

6. Chain silicates can be represented as

A. 

B. 

C. 

(Si2O
6 −
7 )

(SiO4 −
4 )

n

(Si2O6) − 4
n

https://dl.doubtnut.com/l/_pWNAE5RFqkwC
https://dl.doubtnut.com/l/_4nDZ710clpPg


D. 

Answer: C

Watch Video Solution

(Si2O5)2 −
n

7. Which of the following halogens can oxidise  to S?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

H2S

Cl2

F2

Br2

https://dl.doubtnut.com/l/_4nDZ710clpPg
https://dl.doubtnut.com/l/_9sHJhfxxKZNZ


8.  


To obtain this product in large amount, we should use

A. Tap water as medium

B. Glue or gelatine in medium

C. Heavy metal ion in solution

D. by takin NaOCl in excess amount

Answer: B

View Text Solution

NH3 + NaOCl → NH2 − NH2 + NH4Cl

9. Which of the following oxide does not form dimer?

A. 

B. 

NO

ClO2

https://dl.doubtnut.com/l/_T4c6vI0we5Rb
https://dl.doubtnut.com/l/_eDTUYbp54qp1


C. 

D. All of these

Answer: B

Watch Video Solution

NO2

10. Choose the correct statement regarding ice.

A. Hexagonal rings are present.

B. In ice, one oxygen is surrounded by four hydrogen atoms

C. In ice, movement of  is faster than water

D. All of these

Answer: D

Watch Video Solution

H +

https://dl.doubtnut.com/l/_eDTUYbp54qp1
https://dl.doubtnut.com/l/_EmFDryKMeYFn
https://dl.doubtnut.com/l/_l8BEPHwD7cTc


11. Pure oxygen is colourless gas but liquid and solid  is pale blue

or blue coloured, this is because

A. Due to electronic transition triplet to singlet formation is not

favourable in gaseous state

B. Density of gas is less than density of liquid

C. Singlet state is diamagnetic

D.  cannot absorb photon in gaseous state.

Answer: A

Watch Video Solution

O2

O2

12. Choose the correct regarding heating of S.

A. At , the  rings break and the diradicals so formed

polymerise forming long chains of up to a million atoms

160∘ S8

https://dl.doubtnut.com/l/_l8BEPHwD7cTc
https://dl.doubtnut.com/l/_8P1yFJCNJI1f


B. Due to heating viscosity decreases regularly

C. Due to heating viscosity increases regularly

D. at  all  molecule break up to .

Answer: A

Watch Video Solution

200∘C S8 S2

13. In which, degree of hydrolysis is expected to be highest?

A. 

B. 

C. 

D. CuS

Answer: A

Watch Video Solution

Na2S

CdS

MsS

https://dl.doubtnut.com/l/_8P1yFJCNJI1f
https://dl.doubtnut.com/l/_OiDXaeD3bOhE


14. Choose the correct regarding bond length

A. 

B. 

C. 

D. `All of these

Answer: D

Watch Video Solution

CO+ < CO

NO+ < NO

N < N +
2

15.  gas is of red brown colour and  gas is of violet volour. This

is because of

A.  is more E.N. than I

Br2 I2

Br−

https://dl.doubtnut.com/l/_OiDXaeD3bOhE
https://dl.doubtnut.com/l/_2QLp5IvG4ZKl
https://dl.doubtnut.com/l/_y5P6tuR1us0y


B. Energy difference between two consecutive level is lesser for

iodine than bromine

C. Br has small size than l

D.  has longer van der Waal's forces than .

Answer: B

Watch Video Solution

l2 Br2

16. Which of the following halides has  as a bridging atom?

A. (solid)

B. (liquid)

C. 

D. All of these

Answer: D

Cl−

BeCl2

Al2Cl6

Fe2Cl6

https://dl.doubtnut.com/l/_y5P6tuR1us0y
https://dl.doubtnut.com/l/_57fbmgYzM3Jd


EXAMPLES

Watch Video Solution

1. Give electronic configuration of Ga.

Watch Video Solution

2. Boron compound behave as Lewis acid because of

Watch Video Solution

3. Write oxidation state of boron family .

Watch Video Solution

https://dl.doubtnut.com/l/_57fbmgYzM3Jd
https://dl.doubtnut.com/l/_a4HcJnXXnGfo
https://dl.doubtnut.com/l/_PLZKFDpXf4Il
https://dl.doubtnut.com/l/_pHyoL9XQLt2O


4. How many B atoms are  hybridised in borax structure ?

Watch Video Solution

sp2

5. Give colour of bead when glassy bead reacts with TiO.

Watch Video Solution

6. Why is basicity of orthoboric acid one ?

Watch Video Solution

7. Why boron fibre is used in body armour?

Watch Video Solution

https://dl.doubtnut.com/l/_jBHtAGJagkJa
https://dl.doubtnut.com/l/_jETM9zXMyzR0
https://dl.doubtnut.com/l/_WPYHMxD1GtWw
https://dl.doubtnut.com/l/_l9oYReewliIQ


8. How boron isotope controls nuclear reaction?

Watch Video Solution

9. Name an aluminium compound that can be used in

chromatography.

Watch Video Solution

10. On moving down the group in carbon family stability of group

oxidation state +4 decreases why?

Watch Video Solution

11.  is solid while  is gas. Why?

Watch Video Solution

SiO2 CO2

https://dl.doubtnut.com/l/_ozBYGlcyKpju
https://dl.doubtnut.com/l/_6zePUZUMRZ3T
https://dl.doubtnut.com/l/_V3ZDJMwzzHpj
https://dl.doubtnut.com/l/_JY9ZMsroXhkC


12. Why  cannot exist?

Watch Video Solution

[SiCl6] −

13. Give correct order of increasing first ionization energy in carbon

family.

Watch Video Solution

14. Name two elements of carbon family which have nearly same

catenation tendency.

Watch Video Solution

https://dl.doubtnut.com/l/_JY9ZMsroXhkC
https://dl.doubtnut.com/l/_IueEioAYeM1N
https://dl.doubtnut.com/l/_8qFztYCD4L6M
https://dl.doubtnut.com/l/_rTvQGvwCZkAB


15. Which element of the carbon family does not dissolve in aqueous

NaOH to evolve hydrogen gas?

Watch Video Solution

16. Give three reasons for anomalous behaviour of carbon.

Watch Video Solution

17. Which is thermodynamically more stable - diamond or graphite ?

Watch Video Solution

18. What is hybridisation of carbon in ?

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_hXnOmfFcOf5a
https://dl.doubtnut.com/l/_fGhZfBp2tqvs
https://dl.doubtnut.com/l/_N6oU2qD6tChk
https://dl.doubtnut.com/l/_KNrUtqHgsAC9


19. Give the uses of silicones.

Watch Video Solution

20. Why silicon dioxide in non-reactive?

Watch Video Solution

21. Though nitrogen exhibits +5 oxidation state, it does not form

pentahalide. Give reason.

Watch Video Solution

22.  has lower boiling point than . Why ?

Watch Video Solution

PH3 NH3

https://dl.doubtnut.com/l/_3RFMIxxkT1Fr
https://dl.doubtnut.com/l/_GjMtlXZYvMOy
https://dl.doubtnut.com/l/_4q7ol6alLqAl
https://dl.doubtnut.com/l/_HrqZkwg2aRvs


23. Write the reaction of thermal decomposition of sodium azide

Watch Video Solution

24. Why does  act as a Lewis base ?

Watch Video Solution

NH3

25. why does  dimerise?

Watch Video Solution

NO2

26. How can it be proved that  is basic in nature?

Watch Video Solution

PH3

https://dl.doubtnut.com/l/_1Lf8JSEQRAmH
https://dl.doubtnut.com/l/_KGWXH54sIaSY
https://dl.doubtnut.com/l/_DDvI0zTfyHSH
https://dl.doubtnut.com/l/_jmVYZ1tmsUjm


27. Why does  fume in moisture ?

Watch Video Solution

PCl3

28. Are all the five bonds in  molecule equivalent ? Justify your

answer.

Watch Video Solution

PCl5

29. How do you account for reducing behaviour of  on the

basis of its structure?

Watch Video Solution

H3PO2

30. Draw structure of pyrophosphoric acid .

Watch Video Solution

https://dl.doubtnut.com/l/_Um3XYe4vYkXo
https://dl.doubtnut.com/l/_ZEdQHC8OKA2W
https://dl.doubtnut.com/l/_q9hFIZQlIM4s
https://dl.doubtnut.com/l/_8PUpq9WunJ4l


31. Name the radioactive element of Group 16 .

Watch Video Solution

32. (a) Elements of group  generally show lower value of first

ionisation enthalpy as compared to the corresponding periods of

group . Why ? 

(b)  is less than acidic than . Why ?

Watch Video Solution

16

15

H2S H2Te

33. Why is  less acidic than  ?

Watch Video Solution

H2S H2Te

https://dl.doubtnut.com/l/_8PUpq9WunJ4l
https://dl.doubtnut.com/l/_l9LwnAro0D1y
https://dl.doubtnut.com/l/_bu0t4O1ox3ih
https://dl.doubtnut.com/l/_aJpVdzsF5gt5


34. The structure of  is

Watch Video Solution

SF4

35. (a) Which form of sulphur shows paramagnetic behaviour ? 

(b) Compounds of fluorine and oxygen are called fluorides and not

oxides. Explain. 

(c) Sulphur disappears when boiled with an aqueous solution of

sodium sulphite. Why ?

Watch Video Solution

36. What happens when 

(i) Concentrated  is added to calcium fluoride. 


(ii)  is passed through water ?

Watch Video Solution

H2SO4

SO3

https://dl.doubtnut.com/l/_HzdFKAFTW7xN
https://dl.doubtnut.com/l/_QkqXwwMcUoGL
https://dl.doubtnut.com/l/_LNkXq9djcgTz


37. Give one example each of acidic, basic, amphoteric and neutral

oxides.

Watch Video Solution

38. Draw structure of peroxydisulphuric acid. 

Watch Video Solution

39. Why do halogens have maximum negative electron gain enthalpy

in the respective periods of the periodic table?

Watch Video Solution

https://dl.doubtnut.com/l/_LNkXq9djcgTz
https://dl.doubtnut.com/l/_ab2PwF8Zxl4I
https://dl.doubtnut.com/l/_NWn4KH3MjtW0
https://dl.doubtnut.com/l/_TV49FzCqTGpU


40. Although  of fluorine is less negative than that of chlorine,

but fluorine is a stronger oxidising agent than chlorine. Why?

Watch Video Solution

ΔegH

41. Fluorine exhibits only -1 oxidation state whereas other halogens

show +1, +3, +5 and +7 oxidation states also. Explain.

Watch Video Solution

42. Give correct order of boiling point of hydride of group 17.

Watch Video Solution

43. Write balanced equation for reaction of  with hot and conc.

NaOH. Is this reaction a disproportionation one? Justify.

Cl2

https://dl.doubtnut.com/l/_qo3LUV4i4eSX
https://dl.doubtnut.com/l/_6yBaZMuKcIQ1
https://dl.doubtnut.com/l/_BZzmJ0Xk9UQy
https://dl.doubtnut.com/l/_7xs0vtMvHHxb


Watch Video Solution

44. Give two use of 

Watch Video Solution

Cl2

45. When HCl reacts with finely powdered iron, it forms ferrous

chloride and not ferric chloride, why?

Watch Video Solution

46. Deduce the molecular shape of  on the basis VSEPR theory.

Watch Video Solution

BrF3

47. Why elements of group 18 known as noble gases?

https://dl.doubtnut.com/l/_7xs0vtMvHHxb
https://dl.doubtnut.com/l/_t0TApyqQGyJA
https://dl.doubtnut.com/l/_aM0n5J5Tioyl
https://dl.doubtnut.com/l/_Ebv059BDAHHD
https://dl.doubtnut.com/l/_5FhLCsLac3El


EXERCISE

Watch Video Solution

48. Noble gases have very low boiling points. Why ?

Watch Video Solution

49. Does the hydrolysis of  lead to a redox reaction ?

Watch Video Solution

XeF6

50. Give equation for preparation of Radon from Radium .

Watch Video Solution

https://dl.doubtnut.com/l/_5FhLCsLac3El
https://dl.doubtnut.com/l/_ZAILu1s5fyh3
https://dl.doubtnut.com/l/_XiLg0M8LhfLV
https://dl.doubtnut.com/l/_KkIQPrgJF8bF


1. Number of B-O-B bond in borax

Watch Video Solution

2. Among the group 13 the only element which is non -metal

A. B

B. Al

C. Ga

D. ln

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_9ZM0j7ILQlFV
https://dl.doubtnut.com/l/_PGIC4ST4jGNP


3. Products formed are 

A. Hl , Nal and 

B.  and Hl

C.  and 

D. 

Answer: C

Watch Video Solution

2NaBH4 + l2
Polyether

−−−−−→

H2

B2H6, Nal

B2H6, Nal H2

H3BO3 + H2

4. What is the hybridisation state of B and N in inorganic benzene

respectively ?

A.  and 

B.  and 

sp2 sp3

sp3 sp2

https://dl.doubtnut.com/l/_Q7XLAEmBCTuS
https://dl.doubtnut.com/l/_YE8T1Qtt6sJY


C. Both have 

D. Both have 

Answer: C

Watch Video Solution

sp2

sp3

5. Which type of hydride is  ?

A. covalent hydride

B. Electron precise

C. Electron excess

D. Lewis base

Answer: A

Watch Video Solution

BH3

https://dl.doubtnut.com/l/_YE8T1Qtt6sJY
https://dl.doubtnut.com/l/_HDjclbmthC1X
https://dl.doubtnut.com/l/_ejb6bIYsPopu


6. Which one of the following is the correct statement ?

A. The hydroxide of boron is basic in nature

B. The hydroxide of boron is neutral in nature

C. The hydroxide of boron is acidic in nature

D. Boron shows maximum oxidation state of +1 due to inert pair

effect

Answer: C

Watch Video Solution

7. Which of the following statement is incorrect regarding  ?

A. Each boron atom is  hybridised

B.  is electron deficient

B2H6

sp3

B2H6

https://dl.doubtnut.com/l/_ejb6bIYsPopu
https://dl.doubtnut.com/l/_xLmZUyXUdLWd


C.  has banana bond

D. All of these

Answer: D

Watch Video Solution

B2H6

8. Boric acid is polymeric due to

A. Its acidic nature

B. The presence of hydrogen bonds

C. its monobasic nature

D. Its geometry

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xLmZUyXUdLWd
https://dl.doubtnut.com/l/_oSRePUO3vAwV
https://dl.doubtnut.com/l/_VScPbzifP2UY


9. Which one of the following elements has the highest melting

point?

A. Al

B. Ga

C. B

D. ln

Answer: C

Watch Video Solution

10. In which of the following compounds banana bond is present ?

A. 

B. 

C. 

BCl3

B2H6

B(OH)3

https://dl.doubtnut.com/l/_VScPbzifP2UY
https://dl.doubtnut.com/l/_Zmes24e8wRno


D. All of these

Answer: B

Watch Video Solution

11. Which allotropic of carbon is thermodynamically more stable ?

A. Fullerence

B. Diamond

C. Graphite

D. Coke

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Zmes24e8wRno
https://dl.doubtnut.com/l/_nR5vmJBv2RsW


12. What is the correct order of I.E. ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C < Si < Ge < Pb < Sn

C > Si > Pb > Ge > Sn

C > Si > Ge > Sn > Pb

C > Si > Ge > Sn > Pb

13. In group 14 , which element show inert pair effect ?

A. Si

B. Pb

C. C

https://dl.doubtnut.com/l/_gZ4AcUxhcRsu
https://dl.doubtnut.com/l/_raNRSkWirCy9


D. Ge

Answer: B

Watch Video Solution

14. Which of the following is neutral oxide?

A. CO

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO2

SiO2

Na2O

https://dl.doubtnut.com/l/_raNRSkWirCy9
https://dl.doubtnut.com/l/_M7FTkg7TPedW


15. Which of the following halide cannot hydrolysed ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CCl4

SiCl4

GeCl4

SiF4

16. Which polymorph of carbon act as hadest allotrope ?

A. Diamond

B. Fullerence

C. Graphite

https://dl.doubtnut.com/l/_Pczcve5YJhi2
https://dl.doubtnut.com/l/_yo8XF8nlJTpM


D. All of these

Answer: A

Watch Video Solution

17. SIC is popular with name

A. Acetylide

B. Methanide

C. Carborundum

D. Plumbago

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_yo8XF8nlJTpM
https://dl.doubtnut.com/l/_zvjCa0N1PGb8


18. On heating oxalic acid with  , we get

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2SO4

H2CO3

CO2 and O2

CO2 and CO

H2CO3 + CO2 + O2

19. Which allotrope of carbon leads to the formation of bucky ball ?

A. Graphite

B. Diamond

C. Fullerence

https://dl.doubtnut.com/l/_LbXUXnvZHHU2
https://dl.doubtnut.com/l/_tMk4MixiNDIb


D. Nano tube

Answer: C

Watch Video Solution

20. Which of the following is correct structur of anion of

pyrosilicates ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_tMk4MixiNDIb
https://dl.doubtnut.com/l/_u5EVfe2VQjQH


D. 

Answer: B

Watch Video Solution

21. Catenation property of group 15 elements follow the order

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N > P > As > Sb > Bi

P > N > As > Sb > Bi

N < P < As < Sb < Bi

P < N < As < Sb < Bi

https://dl.doubtnut.com/l/_u5EVfe2VQjQH
https://dl.doubtnut.com/l/_OBh5uWBbzCGp
https://dl.doubtnut.com/l/_Okp9o2KGXqcs


22. Melting point of hydrogen of nitrogen family follows the order

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3 < PH3 < AsH3 < SbH3

PH3 < NH3 < AsH3 < SbH3

PH3 < AsH3 < NH3 < SbH3

PH3 < AsH3 < SbH3 < NH3

23. Which of the following halides of group 15 is not hydrolysed ?

A. 

B. 

C. 

D. Both (1) & (3)

NF3

NI3

PF3

https://dl.doubtnut.com/l/_Okp9o2KGXqcs
https://dl.doubtnut.com/l/_B2LsEyWV7etG


Answer: D

Watch Video Solution

24. Brown ring test is used for the identification of

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

PO
− 3
4

NO−
3

SO
2 −
4

HCO−
3

25. White phosphorus occurs as discrete  units , where P atom lie

at the corners of a regular tetrahedron . The PPP bond angle is

P4

https://dl.doubtnut.com/l/_B2LsEyWV7etG
https://dl.doubtnut.com/l/_90bSVdZPWSvK
https://dl.doubtnut.com/l/_sbkbhZmVCSPV


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

90∘

109∘ 28'

60∘

120∘

26. Orthophosphorus acid on heating gives ______

A. Hypophosphorus acid

B. Orthophosphoric acid

C. Phosphene gas

D. Both (2) & (3)

Answer: D

https://dl.doubtnut.com/l/_sbkbhZmVCSPV
https://dl.doubtnut.com/l/_819QmxE60ZZ3


Watch Video Solution

27. Which of the following is correct ?

A.  is dibasic and reducing

B.  is dibasic and non - reducing

C.  is tribasic and reducing

D.  is tribasic and non-reducing

Answer: A

Watch Video Solution

H3PO3

H3PO3

H3PO4

H3PO3

28. The correct order of decreasing acidic strength of oxyacids of

group 15 elements is

A. HNO3 > H3SbO4 > H3AsO4 > H3PO4

https://dl.doubtnut.com/l/_819QmxE60ZZ3
https://dl.doubtnut.com/l/_EcdYZ6vhLriX
https://dl.doubtnut.com/l/_wRTJSAIzhDxp


B. 

C. 

D. 

Answer: C

Watch Video Solution

H3PO4 > H3AsO4 > H3SbO4 > HNO3

HNO3 > H3PO4 > H3AsO4 > H3SbO4

HNO3 > H3AsO4 > H3PO4 > H3SbO4

29. Which has maximum bond angle?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

PH3

AsH3

SbH3

https://dl.doubtnut.com/l/_wRTJSAIzhDxp
https://dl.doubtnut.com/l/_FeN4TXPFAIjV


30. When excess of  (aq) is added to a blue solution containing 

 ions

A. Solution turns red due to formation of  ions

B. Solution becomes red due to formation of 

C. Solution become deep blue due to formation of

D. Solution becomes colourless due to excess colourless 

Answer: C

Watch Video Solution

NH3

Cu2 +
( aq )

Cu+

[Cu(NH3)4]
2 +

aq

[Cu(NH3)4]
2 +

aq

NH3

31. The correct order of acidity of hybrides of oxygen family

A. H2O > H2S > H2Se > H2Te

https://dl.doubtnut.com/l/_FeN4TXPFAIjV
https://dl.doubtnut.com/l/_eJS9terGLiGV
https://dl.doubtnut.com/l/_oWAIttiYhXor


B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O < H2S < H2Se < H2Te

H2S > H2O > H2Se > H2Te

H2S < H2O < H2Se < H2Te

32. S and O both are non-metals in the oxygen family , but their

melting points are targely different , O = 90 K and S = 718 K . This is

because

A. S is large in size than O

B. S exhibits more oxidation state  and  whereas O

exhibits only  and  oxidation states

+2, + 4 +6

−2 +2

https://dl.doubtnut.com/l/_oWAIttiYhXor
https://dl.doubtnut.com/l/_40k1Ua2M9F2f


C. O exists as diatomic molecule whereas S exists as polyatomic

molecule 

D. S has more allotropes than O

Answer: C

Watch Video Solution

(S8)

33. Which of the following is not a reducing oxide ?

A. 

B. 

C. TeO

D. 

Answer: D

Watch Video Solution

SO2

SeO2

SO3

https://dl.doubtnut.com/l/_40k1Ua2M9F2f
https://dl.doubtnut.com/l/_cqG3GjfgVN5G


34. Which of the following compounds does not exist?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SF6

S2Cl2

SCl2

SeBr2

35.  molecule is a resonance hybrid of the two structures I and II . 


 

The two oxygen - oxygen bond lengths in ozone molecule are

O3

https://dl.doubtnut.com/l/_cqG3GjfgVN5G
https://dl.doubtnut.com/l/_lslg8R61K5tv
https://dl.doubtnut.com/l/_mzU63J3dXEs5


A. Identical

B. Slightly different

C. Largely different

D. Cannot be measured due to resonance

Answer: A

Watch Video Solution

36.  ring of both rhombic sulphur and monoclinic sulphur has

crown shaped structure . The S- S -S bond angle in  ring is

A.  28'

B. 

C. 

D. 

S8

S8

109∘

107∘

104∘

120∘

https://dl.doubtnut.com/l/_mzU63J3dXEs5
https://dl.doubtnut.com/l/_GyNZ4G4jAsqb


Answer: B

Watch Video Solution

37. In the contact process of manufacturing of  the catalyst

used is

A. 

B. 

C. 

D. NO

Answer: B

Watch Video Solution

H2SO4

P2O6

V2O5

Rh

38. Number of S = O bonds in pyrosulphuric acid are

https://dl.doubtnut.com/l/_GyNZ4G4jAsqb
https://dl.doubtnut.com/l/_DBVfbD3eXRkW
https://dl.doubtnut.com/l/_h8p1mizScUnc


A. Two

B. Four

C. Five

D. Six

Answer: B

Watch Video Solution

39.  in aqueous medium ionises in two steps 

 


 


What is relation between x and y ?

A. 

B. 

C. 

H2SO4

H2SO4(aq) + H2O(i) → H3O
+ (aq) + HSO

−
4 (aq), Ka1 = x

HSO
−
4 (aq) + H2O(l) → H3O

+ (aq) + SO
2 −
4 , Ka2 = y

x < y

x = y

x > y

https://dl.doubtnut.com/l/_h8p1mizScUnc
https://dl.doubtnut.com/l/_zXCmv5I4uh6h


D. 

Answer: D

Watch Video Solution

x > > y

40. What is the product when Mg react with  ?

A. Mg O

B. 

C. Mg S

D. Both (1) & (3)

Answer: D

Watch Video Solution

SO2

MgSO4

https://dl.doubtnut.com/l/_zXCmv5I4uh6h
https://dl.doubtnut.com/l/_l2Qa72sl9dDo


41. The decreasing order of electron affinity of halogen's is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F < Cl < Br < l

F > Cl > Br > l

Cl > F > Br > l

Cl > Br > I > F

42. Halogens exist in  oxidation

states. The halogen that exists only  state is

A.  and 

B.  and 

−1, + 1, + 3, + 5 and + 7

−1

−1 +3

−1, + 1 +3

https://dl.doubtnut.com/l/_q2I1DwsrIl2k
https://dl.doubtnut.com/l/_49CcHrfpxgbm


C. Only 

D. Only 

Answer: C

Watch Video Solution

−1

+3

43. When  gas reacts with  it forms

A.  gas

B. gas

C. HOF

D. Both (2) & (3)

Answer: A

Watch Video Solution

F2 H2O

O2

O2F2

https://dl.doubtnut.com/l/_49CcHrfpxgbm
https://dl.doubtnut.com/l/_7SjhkX8UIep7
https://dl.doubtnut.com/l/_EZROqtyQE2Ex


44.  combines with  to form  which are

A. diOxygen difluorides

B. Oxides of fluorine

C. Anhydride of HOF

D. Both (2) & (3)

Answer: A

Watch Video Solution

F2 O2 O2F2

45. The order of acidity of oxides of chlorine . 

 is

A. 

B. 

C. 

Cl2O Cl2O3 Cl2O5 Cl2O7

I II III IV

I < II < III < IV

I > II > III > IV

I > III > II > IV

https://dl.doubtnut.com/l/_EZROqtyQE2Ex
https://dl.doubtnut.com/l/_1falDlaCoKNQ


D. 

Answer: A

Watch Video Solution

IV > I > II > III

46. Deacon's process is used for the manufacture of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HNO3

I2

Cl2

Br2

https://dl.doubtnut.com/l/_1falDlaCoKNQ
https://dl.doubtnut.com/l/_rbUujRSLAujB


47. Aqua regia , which is used for dissolving noble metals like gold

and plantium etc. is

A.  mixture of conc. HCl and conc. 

B.  mixture of conc. HCl and conc. 

C.  mixture of conc. HCl and conc. 

D.  mixture of dil.  and conc. 

Answer: B

Watch Video Solution

1: 3 HNO3

3: 1 HNO3

1: 1 HNO3

3: 1 HCl HNO3

48. Halogens react with oxygen to form many oxoacids , commonly

named as hypohalous acid , halous acid , halic acid and perhalic acid

. The halogen(s) which form (s) halous acid is/are

A. F2

https://dl.doubtnut.com/l/_qHfOoBsTVwVV
https://dl.doubtnut.com/l/_p4wlGZkSxVf0


B. 

C.  and 

D.  and 

Answer: B

Watch Video Solution

Cl2

Cl2, Br2 I2

F2, Cl2 Br2

49. The number of peroxide linkages in perchloric acid is

A. Zero

B. One

C. Two

D. Four

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_p4wlGZkSxVf0
https://dl.doubtnut.com/l/_KXE1rbp7sgOe


ASSIGNMENT (SECTION - A) (Objective Type Questions)

50. Which is the correct order of bond length ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl2 < Br2 < F2 < I2

Cl2 < F2 < Br2 < I2

I2 < Br2 < F2 < Cl2

Br2 < I2 < F2 < Cl2

1. On moving down the group 13 density

A. Increase

https://dl.doubtnut.com/l/_KXE1rbp7sgOe
https://dl.doubtnut.com/l/_JjEEblncdZrz
https://dl.doubtnut.com/l/_kz0FsZy8cHJk


B. Decrease

C. First decreases then increases

D. Remains same

Answer: A

Watch Video Solution

2. High melting point of boron is due to its existence as

A. Small covalent molecule

B. Giant covalent molecule

C. Giant covalent solid

D. Giant ionic molecule

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_kz0FsZy8cHJk
https://dl.doubtnut.com/l/_vlVOml2XeJQV


3. Name the element of group  which only forms covalent

compounds.

A. Size of ions is small

B. Sum of three ionization energies is very high

C. Electronegativity values are high

D. All of these

Answer: D

Watch Video Solution

13

4. General oxidation state shown by group 13 elements is

A.  and 

B.  and 

+1 +3

+1, + 2 +3

https://dl.doubtnut.com/l/_vlVOml2XeJQV
https://dl.doubtnut.com/l/_F2UB6y9YhtZS
https://dl.doubtnut.com/l/_rF85CwnejcHq


C.  and 

D.  and 

Answer: A

Watch Video Solution

+2, + 3 +4

+1 +4

5. Which one of the following elements of group 13 can react with

alkali solutions to give  gas?

A. Boron

B. Aluminium

C. Gallium

D. All of these

Answer: D

Watch Video Solution

H2

https://dl.doubtnut.com/l/_rF85CwnejcHq
https://dl.doubtnut.com/l/_XFdve6UkO3mY


6. The correct order of Lewis acidic strength of boron trihalides :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Bl3 > BBr > BCl3 > BF3

BF3 > BCl3 > BBr3 > Bl3

BCl3 > BF3 > BBr3 > Bl3

Bl3 > BBr3 < BF3 < BCl3

7. Dimer  is formed because

A. Al is electron rich

B. Aluminium is having lone pair of electron

Al2Cl6

https://dl.doubtnut.com/l/_XFdve6UkO3mY
https://dl.doubtnut.com/l/_xZyOv5TLlKlN
https://dl.doubtnut.com/l/_4gjn09XtKP9V


C. Aluminium forms coordinate bonds with chlorine to complete

its octet.

D. Aluminium donates lone pair to form bridge

Answer: C

Watch Video Solution

8. When borax is heated strongly it gives

A. 

B. 

C. 

D. Both (1) & (2)

Answer: D

Watch Video Solution

NaBO2

B2O3

Na2B4O7

https://dl.doubtnut.com/l/_4gjn09XtKP9V
https://dl.doubtnut.com/l/_IuJjBzxrlDOx


9.  accept how many  ions ?

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

B(OH)3 OH −

10. Boric acid is polymeric due to :

A. Basic nature

B. Acidic nature

https://dl.doubtnut.com/l/_IuJjBzxrlDOx
https://dl.doubtnut.com/l/_mN5AHcdpBu4S
https://dl.doubtnut.com/l/_9Ap1aN89PpWt


C. Hydrogen bonds

D. Co-ordinate bonds

Answer: C

Watch Video Solution

11. Select the incorrect statement for 

A. It contains B- B ionic bonds

B. Each boron is  hybridised

C. It has two types of hydrogen bonds

D. All of these

Answer: A

Watch Video Solution

B2H6

sp3

https://dl.doubtnut.com/l/_9Ap1aN89PpWt
https://dl.doubtnut.com/l/_xeujfhgPxF1o
https://dl.doubtnut.com/l/_Nwm8uFkV68J3


12. If diborane each boron has three electrons bonds around each B

atom and form

A. Two bonds

B. Three bonds

C. Four bonds

D. Five bonds

Answer: C

Watch Video Solution

13. Which of the following structure is similar to graphite e?

A. Boron nitride

B. Boron carbide

C. Aluminium oxide

https://dl.doubtnut.com/l/_Nwm8uFkV68J3
https://dl.doubtnut.com/l/_xm2MOCvTCKtl


D. Aluminium carbide

Answer: A

Watch Video Solution

14. The number of sigma and pi bonds present I inorganic benzene

are respectively

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3σ, 12π

12σ, 3π

3σ, 3π

12σ, 12π

https://dl.doubtnut.com/l/_xm2MOCvTCKtl
https://dl.doubtnut.com/l/_xvpiRTqNHJE1
https://dl.doubtnut.com/l/_5qtoMfXZYV9y


15. Aluminium is used for making alloys because of its

A. Resistance to corrosion

B. Poor conductivity

C. Heaviness

D. All of these

Answer: A

Watch Video Solution

16. Element of group 14 (IV A) have outer electronic configuration of

A. 

B. 

C. 

D. 

ns2

ns2np4

ns2np4

ns2np2

https://dl.doubtnut.com/l/_5qtoMfXZYV9y
https://dl.doubtnut.com/l/_m2KbOZclKaeU


Answer: D

Watch Video Solution

17. Tendency of carbon for catenation is because carbon-carbon

atoms bond energy is

A. Low

B. High

C. Zero

D. Negative

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_m2KbOZclKaeU
https://dl.doubtnut.com/l/_ikslNckal644


18. All elements except carbon have tendency to show maximum

covalency of six

A. Due to absence of vacant d-orbitals

B. Due to presence of vacant d-orbitals

C. Due to presence of partially filled d-orbitals

D. Due to presence of completely filled d- orbitals

Answer: B

Watch Video Solution

19. The second most abundant metal in earth's crust is

A. Silicon

B. Germanium

https://dl.doubtnut.com/l/_A7zsA9VqAo1C
https://dl.doubtnut.com/l/_xcXbYeVXVdPq


C. Aluminium

D. Arsenic

Answer: C

Watch Video Solution

20. Metalloid among the following is

A. Carbon

B. Germanium

C. Lead

D. All of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xcXbYeVXVdPq
https://dl.doubtnut.com/l/_evpEYXLuGOD1
https://dl.doubtnut.com/l/_cCImAiFdGRp0


21. On moving down the group, acidic nature of oxides of group 14.

A. Decreases

B. Increases

C. Remains same

D. Increases then decreases

Answer: A

Watch Video Solution

22. Which one of the following elements forms double or triple bond

involving  bonding?

A. Carbon

B. Silicon

C. Germanium

pπ − pπ

https://dl.doubtnut.com/l/_cCImAiFdGRp0
https://dl.doubtnut.com/l/_Mom9vSmS7lNh


D. Tin

Answer: A

Watch Video Solution

23. Allotropy is due to

A. Differences in the number of atoms in the molecules

B. Difference in the arrangement of atoms in the molecule in the

crystal

C. Difference in chemical properties

D. All of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Mom9vSmS7lNh
https://dl.doubtnut.com/l/_zbO4YN7EjKW9
https://dl.doubtnut.com/l/_RWDE8LG71jVM


24. Hybridisation of carbon atoms in diamond is

A.  hybridised

B.  hybridisation

C.  hybridisation

D.  hybridisation

Answer: A

Watch Video Solution

sp3

sp

sp2

sp3d2

25. Graphite has

A. 2- D sheet structure

B. Van der Waals forces between different layers

https://dl.doubtnut.com/l/_RWDE8LG71jVM
https://dl.doubtnut.com/l/_LHb3fvuHpwmx


C.  hybridised carbon linked with other three carbon atoms in

hexagonal planar structure

D. All of these

Answer: D

Watch Video Solution

sp2

26. In graphite, the bond is

A. Ionic

B. Covalent

C. Co-ordinate

D. Metallic

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_LHb3fvuHpwmx
https://dl.doubtnut.com/l/_75Csv91Q4j5E


27. Which one of the following is properties of CO gas?

A. It is a colourless gas

B. It is an odourless gas

C. It is a neutral oxide

D. All of these

Answer: D

Watch Video Solution

28. Carbonic acid is a

A. Weak tribasic acid

B. Weak dibasic acid

https://dl.doubtnut.com/l/_75Csv91Q4j5E
https://dl.doubtnut.com/l/_P3zwqyvpU435
https://dl.doubtnut.com/l/_DOgEnbiyuHFi


C. Strong tribasic acid

D. Strong dibasic acid

Answer: B

Watch Video Solution

29. Organosilicon polymers containing Si-O-Si linkage is called

A. Silicates

B. Silicones

C. Glass

D. Silica

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DOgEnbiyuHFi
https://dl.doubtnut.com/l/_yQWD382mSIJ1
https://dl.doubtnut.com/l/_5YRVmyK6FV6O


30.  ion has geometry

A. Triangular

B. Tetrahedral

C. Pentagonal bipyramidal

D. Linear

Answer: B

View Text Solution

SiO
4 −
4

31. Maximum covalent character is shown by

A. 

B. 

C. 

NCl3

PCl3

AsCl3

https://dl.doubtnut.com/l/_5YRVmyK6FV6O
https://dl.doubtnut.com/l/_4RpYyUqNzHld


D. 

Answer: A

Watch Video Solution

SbCl3

32.  on disproportionation gives  and

A. 

B. 

C. 

D. All of these can form

Answer: C

Watch Video Solution

HNO2 HNO3

NO2

N2O5

NO

https://dl.doubtnut.com/l/_4RpYyUqNzHld
https://dl.doubtnut.com/l/_poTCvLzBWgOZ


33. The correct order of acidic character is

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

P4O10 > P4O6

N2O5 > N2O3

N2O3 > P4O8

34. In which of the following reactions, products given are not

correct?

A. 

B. 

(NH4)2Cr2O7

Δ
−−→ N2 + 4H2O + Cr2O3

Ba(N3)2

Δ
−−→ Ba + 3N2

https://dl.doubtnut.com/l/_4eLQMv98T1EW
https://dl.doubtnut.com/l/_9dW9CZxV0Os2


C. 

D. 

Answer: D

Watch Video Solution

3Mg + N2

Δ
−−→ Mg3N2

NH4Cl + NaNO2 → NaCl + NH3 + NO2

35. Oxide of nitrogen which is acidic in nature and blue solid

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2O

NO

N2O3

NO2

https://dl.doubtnut.com/l/_9dW9CZxV0Os2
https://dl.doubtnut.com/l/_x7BQRyyDQIYa
https://dl.doubtnut.com/l/_4KB0MKTdHAGY


36. Valency and oxidation number of nitrogen in 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2O5

5, + 5

4, + 5

3, + 3

3, + 5

37. Which of the following solid has maximum melting points?

A. 

B. 

C. 

NH3

PH3

AsH3

https://dl.doubtnut.com/l/_4KB0MKTdHAGY
https://dl.doubtnut.com/l/_uRBi7IGTBZEi


D. 

Answer: A

Watch Video Solution

SbH3

38. In which of the following N-N bond is not present ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2O5

N2O

N2O4

N2O3

https://dl.doubtnut.com/l/_uRBi7IGTBZEi
https://dl.doubtnut.com/l/_CROIrXCLo9JC


39. Which set of oxide of nitrogen is paramagnetic in monomeric

state?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NO, N2O

NO2, N2O

NO, NO2

N2O, NO, NO2

40. The incorrect statement among the following is

A. Reducing character of hydrides of group 15 increases down

the group

https://dl.doubtnut.com/l/_K69vbeb3vXnW
https://dl.doubtnut.com/l/_ft8aCenjWEFZ


B. Basicity of hydrides of group 15 increases down the group

C. Phosphorus and arsenic can form  bond but not

nitrogen

D.  does not exist

Answer: B

Watch Video Solution

pπ − dπ

NCl5

41. Metal which become passive with conc. 

A. 

B. Zn

C. Al

D. Both (1) & (3)

Answer: D

HNO3

Cr

https://dl.doubtnut.com/l/_ft8aCenjWEFZ
https://dl.doubtnut.com/l/_GEnRRqbvC3IM


Watch Video Solution

42. In brown ring test for nitrate ions, brown ring is formed due to

complex

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Fe(H2O)6]
2 +

[Fe(H2O)5NO]
2 +

[Fe(H2O)5NO]
3 +

[Fe(H2O)5NO2]
2 +

43. Allotrope of phosphorus which is polymeric consisting of chains

of  tetrahedral linked together isP4

https://dl.doubtnut.com/l/_GEnRRqbvC3IM
https://dl.doubtnut.com/l/_F7PEM3xs62s2
https://dl.doubtnut.com/l/_3Hwx2bo2XzrN


A. White phosphorus

B. Red phosphorus

C. Yellow phosphorus

D. Both (1) & (2)

Answer: B

Watch Video Solution

44. Which is dibasic?

A. Orthophosphoric acid

B. Pyrophosphoric acid

C. Orthophosphorus acid

D. Hypophosphorus acid

Answer: C

https://dl.doubtnut.com/l/_3Hwx2bo2XzrN
https://dl.doubtnut.com/l/_qzw9h6F9dYfZ


Watch Video Solution

45. Cyclotrimeta phosphoric acid has total number of P=O & P-O

bonds respectively

A. 5 , 3

B. 3 , 9

C. 3 , 6

D. 5 , 6

Answer: B

Watch Video Solution

46. The one with lowest electron affinity in group 16 is

A. Oxygen

https://dl.doubtnut.com/l/_qzw9h6F9dYfZ
https://dl.doubtnut.com/l/_N3Aj6RQwl8bC
https://dl.doubtnut.com/l/_Uda09iX8akMm


B. Sulphur

C. Selenium

D. Tellurium

Answer: A

Watch Video Solution

47. Write down the hybridization of central atom and shape of 

A.  , square planar

B.  , octahedral

C.  , see saw

D.  , trigonal bipyramidal

Answer: C

Watch Video Solution

SF4.

sp3d2

sp3d2

sp3d

sp3d

https://dl.doubtnut.com/l/_Uda09iX8akMm
https://dl.doubtnut.com/l/_5qj13jUFlrqe


48. The correct order of boiling point is 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

:

H2O < H2S < H2Se < H2Te

H2Te < H2Se < H2S < H2O

H2S < H2Se < H2Te < H2O

H2O < H2Te < H2Se < H2S

49. Dioxygen can be prepared by

A. Heating 

B. Thermal decomposition of oxides like  etc

KClO3

Ag2O, Pb3O4

https://dl.doubtnut.com/l/_5qj13jUFlrqe
https://dl.doubtnut.com/l/_aTaEnxaJfZEw
https://dl.doubtnut.com/l/_7pkBKE8iwPRK


C. Electrolysis of water

D. All of these

Answer: D

Watch Video Solution

50. The set containing acidic oxides only are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SO2, Cl2O7, CO

Al2O3, NO, N2O5

NO, N2O3, N2O5

N2O3, SO2, N2O5

https://dl.doubtnut.com/l/_7pkBKE8iwPRK
https://dl.doubtnut.com/l/_1j8RxlB4f1Gn
https://dl.doubtnut.com/l/_rmpLtoTgkEVF


51. The incorrect statement regarding structure of ozone

A. The two oxygen- oxygen bond length in ozone are identical

B. It is linear

C. Bond angle is less than 

D. Both (2) & (3)

Answer: B

Watch Video Solution

120∘

52. Form of sulphur which shows paramagnetic behaviour

A.  - Rhombic

B.  - Monoclinic

C.  in vapour state

S8

S8

S2

https://dl.doubtnut.com/l/_rmpLtoTgkEVF
https://dl.doubtnut.com/l/_tSYCXnhpXwiL


D. Not possible

Answer: C

Watch Video Solution

53. Which has bleaching action due to reducing property and it is

temporary?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O2

O3

SO2

Cl2

https://dl.doubtnut.com/l/_tSYCXnhpXwiL
https://dl.doubtnut.com/l/_AXVYTeZeEFMp
https://dl.doubtnut.com/l/_qabb326ayOGd


54. On reaction of moist  with potassium permangnate (Acidic)

which is correctly observed?

A. Colour of  is decolourised

B.  is oxidised to 

C.  is reduced to 

D. All of these

Answer: A

Watch Video Solution

SO2

KMnO4

SO2 SO3

MnO
−
4 MnO2

55.  bond is present in

A. 

B. 

C. 

S − S

H2S2O7

H2S2O8

H2S2O6

https://dl.doubtnut.com/l/_qabb326ayOGd
https://dl.doubtnut.com/l/_ugdftIzadGmA


D. 

Answer: C

Watch Video Solution

H2SO5

56. Deacon's process of manufacture of chlorine is represented by

the equation

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

MnO2 + HCl → MnCl2 + Cl2 + H2O

KMnO4 + HCl → KCl + MnCl2 + H2O + Cl2

HCl + O2

CuCl2
−−−→ Cl2 + H2O

NaCl + MnO2 + H2SO4 → Cl2 + MnCl2 + NaHSO4 + H2O

https://dl.doubtnut.com/l/_ugdftIzadGmA
https://dl.doubtnut.com/l/_ckpzHako6svc


57. The colour shown by halogen is incorrectly given by

A. - yellow

B.  - Colourless

C.  - Red

D.  - Violet

Answer: B

Watch Video Solution

F2

Cl2

Br2

I2

58. Which is incorrectly given according to order incicated?

A.  , Oxidising power

B.  , Acidic strength

C.  , Bond dissociation enthalpy

F2 > Cl2 > Br2 > l2

Hl > HBr > HCl > HF

F2 > Cl2 > Br2 > l2

https://dl.doubtnut.com/l/_ckpzHako6svc
https://dl.doubtnut.com/l/_4mIItAi13Fdj
https://dl.doubtnut.com/l/_wJdUBXYrAiI9


D.  , Boiling point

Answer: C

Watch Video Solution

HF > Hl > HBr > HCl

59.  on reaction with excess of  gives

A. 

B. 

C.  only

D. 

Answer: A

Watch Video Solution

Cl2 NH3

NH4Cl + N2

NCl3 + HCl

NH4Cl

NH4Cl + NCl3

https://dl.doubtnut.com/l/_wJdUBXYrAiI9
https://dl.doubtnut.com/l/_aguU1SZTk3sB


60. When cold  reacts with  which of the following is

formed

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaOH Cl2

NaOCl

NaClO3

NaClO4

NaClO2

61.  


Shape of compound (A) is

A. Linear

B. Tetrahedral

Cl2 + F2
(Excess )

573K
−−→ (A)

https://dl.doubtnut.com/l/_3M8xvwqIBnNr
https://dl.doubtnut.com/l/_TVR97hNsGVHH


C. T- shape

D. Trigonal bipyramidal

Answer: C

Watch Video Solution

62. The correct order of acidic strength is -

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

HClO4 > HClO3 > HClO2 > HClO

HClO3 + HClO2 > HClO3

H3PO2 > H3PO3 > H3PO4

https://dl.doubtnut.com/l/_TVR97hNsGVHH
https://dl.doubtnut.com/l/_njrEMnagTKfN
https://dl.doubtnut.com/l/_hByGptX75cZJ


63. The one with maximum oxidising power is

A. Hypochlorous acid

B. Chlorous acid

C. Chloric acid

D. Perchloric acid

Answer: A

Watch Video Solution

64. Which is mismatched regarding the shape?

A.  - Square planar

B.  - Square pyramidal

C.  - Distorted octahedral

XeF4

XeOF4

XeF6

https://dl.doubtnut.com/l/_hByGptX75cZJ
https://dl.doubtnut.com/l/_M2p9Lnp2X4tH


D. - Bent T shape

Answer: D

Watch Video Solution

XeO3

65. Structure of  is correctly represented by

A. 

B. 

C. 

XeO2F2

https://dl.doubtnut.com/l/_M2p9Lnp2X4tH
https://dl.doubtnut.com/l/_HcuIL0HvQbRU


ASSIGNMENT (Section - B) (Objective Type Questions)

D. Both (2) & (3)

Answer: B

Watch Video Solution

1. Boron compound behaves as Lewis acids because of their

A. Acidic nature

B. Covalent nature

C. Ionisation nature

D. Electron deficient nature

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_HcuIL0HvQbRU
https://dl.doubtnut.com/l/_NwTWEUS7jQA5


2. The compound that is not a Lewis acids is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

BF3

AlCl3

PCl3

SnCl4

3. Borax is

A. 

B. 

C. 

Na2[B4O5(OH)4]8H2O

Na2[B4O5(OH)6]7H2O

Na2[B4O3(OH)6]6H2O

https://dl.doubtnut.com/l/_NwTWEUS7jQA5
https://dl.doubtnut.com/l/_Kpy2aR2ViId3
https://dl.doubtnut.com/l/_50Ga5hmoR2kv


D. 

Answer: A

Watch Video Solution

Na2[B4O2(OH)10]5H2O

4. In Diborane , the incorrect statement is

A. All 6 B-H bond are on same plane

B. 4 B- H bonds are on the plane and two B- H bonds above and

below the plane

C. It is the 12  species

D. Two  are attached with three centre electron pair bond

Answer: A

Watch Video Solution

e−

BH3

https://dl.doubtnut.com/l/_50Ga5hmoR2kv
https://dl.doubtnut.com/l/_6yTVWzalSAfG
https://dl.doubtnut.com/l/_eIZZ0T8oAmUu


5. On strong heating boric acid yields

A. B

B. 

C. 

D. 

Answer: C

Watch Video Solution

B2H6

B2O3

BO2

6. In which of the following reaction boron does not act as reducing

agent ?

A. 

B. 

C. 

B + CO2 →

B + Mg →

B + SiO2 →

https://dl.doubtnut.com/l/_eIZZ0T8oAmUu
https://dl.doubtnut.com/l/_hM1Q8JZ10ssM


D. 

Answer: B

Watch Video Solution

B + HNO3 →

7. Which of the following statement is correct ?

A. Boron and aluminium halides behave as Lewis acids

B. Al forms  ion but B does not form  ion

C. The  back bonding occurs in the halides of boron and

not in those of aluminium

D. All of these

Answer: D

Watch Video Solution

[AlF6]3 − [BF6]3 −

pπ − pπ

https://dl.doubtnut.com/l/_hM1Q8JZ10ssM
https://dl.doubtnut.com/l/_sRfMIWdTK041
https://dl.doubtnut.com/l/_umyfa6MdSG4r


8. Statement-1: Aluminium chloride has chloro-bridged structure in

vapour phase. 

Statement-2: Aluminium chloride in acidified aqueous solution forms

A. Tetrahedral  ion

B. Octahedral  ion

C. Tetrahedral  ion

D. Octahedral  ion

Answer: D

Watch Video Solution

[Al(H2O)6]
3 +

[Al(H2O)4]
+ 3

[Al(H2O)4]
3 +

[Al(H2O)6]
+ 3

[Al(H2O)6]
+ 3

9.  


 


Na2B4O7

740 ∘C
−−−−−→

Δ
2NaBO2 + B2O2

X     +     Y


Transparent

Z + CuO(s) → Cu(BO2)
2


Blue Bead

https://dl.doubtnut.com/l/_umyfa6MdSG4r
https://dl.doubtnut.com/l/_IivprdW0BU1a


The Z will be

A. X

B. Y

C. Mixture of X & Y in 2: 1 ratio

D. Mixture of X & Y in 1 : 2 ratio

Answer: B

Watch Video Solution

10. Reaction of ammonia with diborane gives initially 

which can also be written as

A. 

B. 

C. 

B2H62NH3

[BH2(NH3)2]
+

[BH4] −

[BH4] + [BH2(NH3)2]
+

[BH3NH3] + [BH4] −

https://dl.doubtnut.com/l/_IivprdW0BU1a
https://dl.doubtnut.com/l/_nXd7rGBiDgku


D. 

Answer: A

Watch Video Solution

[B2N2H6] + [H3] −

11. Diborane can't be obtained from

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2B4O7 + HCl

NaBH4 + I2

BF3 + liAlH4

BF3 + NaH

https://dl.doubtnut.com/l/_nXd7rGBiDgku
https://dl.doubtnut.com/l/_BEpZh4kXhBTv


12. White fumes appear around the bottle of anhydrous aluminium

chloride. Give reason.

A. Decomposition of 

B. Hydrolysis of  liberating  gas

C. Hydrolysis of  liberating  gas

D. Hydrolysis of  liberating HCl gas

Answer: D

Watch Video Solution

AlCl3

AlCl3 H2

AlCl3 Cl2

AlCl3

13. Number of hydroxy group attached to Boron in Borax are

A. Four

B. Five

https://dl.doubtnut.com/l/_8Tk7Z68KdvV4
https://dl.doubtnut.com/l/_UjxUdD0Z7HA2


C. Six

D. Ten

Answer: A

Watch Video Solution

14. The correct match is

A.  - Buckminster fullerence

B.  - Kemite

C. Borazole - 

D. All of these

Answer: D

Watch Video Solution

C60

Na2B4O7. 4H2O

B3N3H6

https://dl.doubtnut.com/l/_UjxUdD0Z7HA2
https://dl.doubtnut.com/l/_Ict3Vq6AOTaC
https://dl.doubtnut.com/l/_ptfG4ShpR3cg


15. The correct match is

A.  - basic

B. - amphoteric

C.  - basic

D.  - only acidic

Answer: B

Watch Video Solution

B(OH)3

SnO, PbO

GeO2

PbO2

16. In which complex C-O bond length is maximum ?

A. 

B. 

C. 

CH3CHO

CO2

CO

https://dl.doubtnut.com/l/_ptfG4ShpR3cg
https://dl.doubtnut.com/l/_FpfLlJsGtRyH


D. 

Answer: D

Watch Video Solution

CO2 −
3

17. Dry ice piece is composed of ……………………..

A. Solid He

B. Solid 

C. Solid 

D. Solid 

Answer: B

Watch Video Solution

CO2

SO2

C6H6

https://dl.doubtnut.com/l/_FpfLlJsGtRyH
https://dl.doubtnut.com/l/_ZDll9arJZ0je


18. The metallic character of element of group 14

A. Decreses from top to bottom

B. Increases from top to bottom

C. Does not change gradually

D. Metallic character is not seen

Answer: B

Watch Video Solution

19. The tendency of group 14 elements to show +2 oxidation state

increases in the order of

A. 

B. 

Ge < Sn < Pb

Pb < Sn < Ge

https://dl.doubtnut.com/l/_M94GpPQXZfbB
https://dl.doubtnut.com/l/_ebh8VnvvaMWT


C. 

D. 

Answer: A

Watch Video Solution

Sn < Ge < Pb

Sn < Pb < Ge

20. Which one of the following is correct statement of fullerenes -

 ?

A. Fullerenes are made by heating of graphite in an electric arc in

the presence of Hydrogen

B. Fullerenes are the only impure form of carbon due to presence

of dangling bonds

C. Both (1) & (2)

C60

https://dl.doubtnut.com/l/_ebh8VnvvaMWT
https://dl.doubtnut.com/l/_oYmvl6AeSBmW


D. It contains twenty six - membered rings and twelve five

membered rings

Answer: D

Watch Video Solution

21. The miture of CO and  is known as

A. Water gas or producer gas

B. Water gas or synthesis gas

C. Synthesis gas or producer gas

D. Producer gas

Answer: B

Watch Video Solution

H2

https://dl.doubtnut.com/l/_oYmvl6AeSBmW
https://dl.doubtnut.com/l/_6OcXLHVnsaE2
https://dl.doubtnut.com/l/_sqvVT0ygu309


22. When  is allowed to undergo hydrolysis it gives

A.  - Silicic acid

B.  - Silicic acid

C.  - Silicic acid

D.  do not undergo hydrolysis

Answer: B

Watch Video Solution

SiCl4

SiO2

Si(OH)4

Si(OH)Cl3

SiCl4

23. Which of the following is correct for a carbon?

A. Tin mainly occurs as Cassiterite , 

B. Silicon is the third most abundant element on earth's crust

C. Only two isotopes of carbon are present  and 

SnO2

C 12 C 13

https://dl.doubtnut.com/l/_sqvVT0ygu309
https://dl.doubtnut.com/l/_ChUH6II5Wx4p


D. Germanium is most abundant than other members of carbon

family

Answer: A

Watch Video Solution

24.  multiple bond is seen in

A. Mostly carbon

B. All carbon family member

C. Sn but not in carbon

D. Boron family and not in carbon family

Answer: A

Watch Video Solution

pπ − pπ

https://dl.doubtnut.com/l/_ChUH6II5Wx4p
https://dl.doubtnut.com/l/_3G0Kp2scqnTh
https://dl.doubtnut.com/l/_elqmFz51QtSN


25.  


 


 


A , B & X respectively are

A.  , Carbon , 

B. 

C. 

D.  , Carbon , 

Answer: B

Watch Video Solution

A + CO → CO2

B + CO → CO2

X + O2 → CO2

CH4 Fe2O3

Fe2O3, ZnO, CH4

Fe2O3, CH4, ZnO

HCOOH CH4

26. The geometry of  is

A. Tetrahedral

SiCl4

https://dl.doubtnut.com/l/_elqmFz51QtSN
https://dl.doubtnut.com/l/_F0DYGNPHih4z


B. Square planar

C. Octahedral

D. Planar triangular

Answer: A

Watch Video Solution

27. The silicates which contain discrete anions are

A. Sheet silicates

B. Ortho silicates

C. Three dimensions silicates

D. Pyrosilicate

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_F0DYGNPHih4z
https://dl.doubtnut.com/l/_nXTVI1H79Oom


28.  


Y & X respectively are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3Cl + Si
CuPowder

−−−−−−→
570

X
2H2O

−−→ Y

(CH3)2SiCl2, (CH3)2Si(OH)2

(CH3)2Si(OH)2, (CH3)2SiCl2

SiCl4, Si(OH)4

Si(OH)4, SiCl4

29. Hydrolysis of dimethyldichloro silane ,  followed by

condensation polymerisation yields straight chain polymer of

(CH3)2SiCl2

https://dl.doubtnut.com/l/_nXTVI1H79Oom
https://dl.doubtnut.com/l/_oqhM8eHZ80kW
https://dl.doubtnut.com/l/_alLfgNFQvLu9


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30. Silicones are

A. Water repelling in nature

B. With high thermal stability

C. With high dielectric strength

D. All of these

https://dl.doubtnut.com/l/_alLfgNFQvLu9
https://dl.doubtnut.com/l/_GInWknTRdbzD


Answer: D

Watch Video Solution

31. Which one is correct statement for zeolite ?

A. They are alumino silicates

B. Hydrated zeolites are used as ion exchangers in hardening of

soft water

C. ZSM - 5 is used to convert gasoline to alcohol

D. All of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_GInWknTRdbzD
https://dl.doubtnut.com/l/_wtUVFOalNdsp


32. The correct statement is

A. Diamond is covalent yet it has high melting point

B.  is known whereas  is not

C.  only exist at high temp

D. All of these

Answer: D

Watch Video Solution

[SiF6]2 − [SiCl6]2 −

SiO

33. (i)  


(ii)  


The products of (ii) & (i) respectively are

A. 

B. 

SiO2 + NaOH → ?

SiO2 + HF → ?

H2SiF6, SiO4 −
4

SiF4, Na2SiO3

https://dl.doubtnut.com/l/_y5Ja4KL58992
https://dl.doubtnut.com/l/_DRFCWAuHglEG


C. 

D. 

Answer: B

Watch Video Solution

Na2SiO3, SiF4

Na2SiO4, H2SiF6

34. Assertion : Calcium carbide on hydrolysis gives methane. 

Reason : Calcium carbide contains  anion.

A. Ethylene

B. Acetylene

C. Methane

D. Propyne

Answer: B

Watch Video Solution

C 2 –
2

https://dl.doubtnut.com/l/_DRFCWAuHglEG
https://dl.doubtnut.com/l/_mSKYz5gp0Y78


35. Carbon Suboxide has the formula

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2CO3

C2O3

C3O2

CO

36.  


, 


 


A, B and C are:

NH3 + O2

Pt
−−→

Δ
A + H2O

A + O2 → B

B + O2 + H2O → C

https://dl.doubtnut.com/l/_mSKYz5gp0Y78
https://dl.doubtnut.com/l/_fzuZepa5PuxJ
https://dl.doubtnut.com/l/_KPqSAvhWfzgW


A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

NO, NO2, HNO3 HNO2

NO2, HNO2, NO HNO3

HNO2, NO2, HNO3 N2O

HNO2, N2O, NO HNO3

37. Which of the following will be hydrolysed with warm water

A. 

B. 

C. 

D. All of these

Answer: D

TeF6

NCl3

SF6

https://dl.doubtnut.com/l/_KPqSAvhWfzgW
https://dl.doubtnut.com/l/_AmAgCQcLXsid


Watch Video Solution

38. Phosphine on reaction with hydrobromic acid gives

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PBr3

P2H4Br2

PBr5

PH4Br

39. In  the number co-ordinate bonds is

A. 1

B. 8

P4O10

https://dl.doubtnut.com/l/_AmAgCQcLXsid
https://dl.doubtnut.com/l/_FIXXB5lm93tY
https://dl.doubtnut.com/l/_nI4vJNjuLHeK


C. 3

D. 4

Answer: D

Watch Video Solution

40. Calomel  on reaction with ammonium hydroxide gives

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(Hg2Cl2)

Hg2O

HgO

HgNH2Cl

NH2Hg2Cl

https://dl.doubtnut.com/l/_nI4vJNjuLHeK
https://dl.doubtnut.com/l/_pS6qah7p99vC
https://dl.doubtnut.com/l/_9XlWuZTYwT3G


41.  on complete hydrolysis gives

A. Xe

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF6

XeO2

XeO3

XeO2F2

42. Which of the following is most basic ?

A. 

B. 

C. 

Cl−

F −

I −

https://dl.doubtnut.com/l/_9XlWuZTYwT3G
https://dl.doubtnut.com/l/_dXgsRvQhrZBK


D. 

Answer: B

Watch Video Solution

Br−

43. Nitrogen is obtained when  reacts with

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaNO2

NH4Cl

NH4NO3

(NH4)2CO3

NH4OH

https://dl.doubtnut.com/l/_dXgsRvQhrZBK
https://dl.doubtnut.com/l/_Ku521q96IB0R


44. Which of the following compound will not form during the

hydrolysis of  ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

XeF6

XeO3

XeOF4

XeO2F2

XeOF3

45. The final product formed , when alkaline Kl solution reacts with

ozone and water is

A. 

B. 

l2

KlO3

https://dl.doubtnut.com/l/_SPJJbzVa5re4
https://dl.doubtnut.com/l/_rbRE3msOYlYu


C. 

D. Reaction will not occur

Answer: A

Watch Video Solution

Hl

46. Which of the following is a sesqui oxide ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2O4

N2O3

N2O

N2O5

https://dl.doubtnut.com/l/_rbRE3msOYlYu
https://dl.doubtnut.com/l/_Z4V2wCUfUPDQ
https://dl.doubtnut.com/l/_xJk9rFGcURR7


47.  


The product 'P' will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2PtCl4

H2PtCl6

H2PtCl2

H3PtCl3

48. What is the product formed when  reacts with excess of 

?

NH3 Cl2

https://dl.doubtnut.com/l/_xJk9rFGcURR7
https://dl.doubtnut.com/l/_dCQxZdowRZkz


A.  & HCl

B.  & 

C.  & HCl

D.  & 

Answer: C

Watch Video Solution

NH4Cl

NH4Cl N2

NCl3

NH4Cl NCl3

49. Hybridisation of central N atom in  is

A. 

B. 

C. 

D. sp & 

Answer: A

N2O

sp

sp2

sp3

sp2

https://dl.doubtnut.com/l/_dCQxZdowRZkz
https://dl.doubtnut.com/l/_mJjPg8A8ivxx


Watch Video Solution

50. The most acidic oxide among the following is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SO3

P2O5

Cl2O7

SiO2

51.  in solid state exists as.

A. 

B. 

PCl5

[PBr4] + [PBr6] −

[PBr5] + [PBr5] −

https://dl.doubtnut.com/l/_mJjPg8A8ivxx
https://dl.doubtnut.com/l/_iWHuQHYvnDYr
https://dl.doubtnut.com/l/_SjvVkI4QcOOf


C. 

D. 

Answer: C

Watch Video Solution

[PBr4] + [Br− ]

PBr5

52. Which metal gives , when react with dilute 

acid?

A. Fe

B. Ti

C. Cu

D. Hg

Answer: A

Watch Video Solution

NH4NO3 HNO3

https://dl.doubtnut.com/l/_SjvVkI4QcOOf
https://dl.doubtnut.com/l/_dCGGoCTmT25R


53. In iodide of Million's base formed by the reaction of Nessler's

reagent with , the coordination number of Hg will be

A. 2

B. 3

C. 4

D. 6

Answer: A

Watch Video Solution

NH3

54. The compound insoluble in aqueous  is

A. 

B. 

NH3

Agl

AgCl

https://dl.doubtnut.com/l/_dCGGoCTmT25R
https://dl.doubtnut.com/l/_CKoLZam4avda
https://dl.doubtnut.com/l/_r4KtvCrqouh5


C. 

D. 

Answer: A

Watch Video Solution

ZnSO4

HgCl2

55. When Cu is reacted with hot concentrated solution of 

then the gas obtained is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2SO4

O2

H2

SO2

SO3

https://dl.doubtnut.com/l/_r4KtvCrqouh5
https://dl.doubtnut.com/l/_YbCWpquWTthJ


56. A metal X when burnt in air ,X -forms oxide and nitride both , X

can be

A. Mg

B. Rb

C. Na

D. Li

Answer: B

Watch Video Solution

57. In xenon fluorides most reactive in  and  is

A. 

B. 

XeF6, XeF4 XeF2

XeF6

XeF2

https://dl.doubtnut.com/l/_YbCWpquWTthJ
https://dl.doubtnut.com/l/_9SeyNwGqn8x5
https://dl.doubtnut.com/l/_rdjwl0ZavneO


C. 

D. All are equally reactive

Answer: A

Watch Video Solution

XeF4

58. The shape of  , is

A. Linear

B. Trigonal bipyramidal

C. Square pyramidal

D. T -shape

Answer: A

Watch Video Solution

ClF −
2

https://dl.doubtnut.com/l/_rdjwl0ZavneO
https://dl.doubtnut.com/l/_3OByvQsjqe8w
https://dl.doubtnut.com/l/_fVZCmlVUZ0aF


59. Which of the following is called mixed anhydride ?

A. 

B. 

C. 

D. All of these

Answer: A

View Text Solution

NO2

N2O3

N2O5

60. Reaction of  with hot and conc.  produces

A. NaClO

B. 

C. 

Cl2 NaOH

NaClO3

NaClO4

https://dl.doubtnut.com/l/_fVZCmlVUZ0aF
https://dl.doubtnut.com/l/_dGL7JQigQkUE


D. 

Answer: B

Watch Video Solution

NaClO2

61. Which of the following do not exist ?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

NCl5

PH5

[BCl6]3 −

https://dl.doubtnut.com/l/_dGL7JQigQkUE
https://dl.doubtnut.com/l/_Vf48L9ndA2qS


62.  . What are A and B

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PCl3 + H2O → A + B

H3PO2 + HCl

H3PO4 + HCl

H3PO3 + HCl

HPO3 + HClO3

63. Which of the following is correct ?

A. In  , axial and equatorial bonds are interchanged , known

as pseudo rotation

B. In solid state  remains covalent

PF5

PF5

https://dl.doubtnut.com/l/_n3Qez1RqozDn
https://dl.doubtnut.com/l/_qPCayN02ufXr


C.  cannot be obtained , because H is not sufficiently

electronegative to make the d-orbitals contact sufficiently

D. All of these

Answer: D

Watch Video Solution

PH5

64. Thermodynamically most stable allotrope of carbon is

A. Fullerene

B. Diamond

C. Graphite

D. All are equally stable

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qPCayN02ufXr
https://dl.doubtnut.com/l/_tmd4RqDfgti4


ASSIGNMENT (Section - C) (Previous Years Questions)

1. Name the gas that can readily decolourise acidified 

solution:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KMnO4

CO2

SO2

NO2

P2O5

2. In which pair of ions both the species contains  bond?S − S

https://dl.doubtnut.com/l/_tmd4RqDfgti4
https://dl.doubtnut.com/l/_dH2UM68Yu3V2
https://dl.doubtnut.com/l/_PVXAfouW1ITc


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

S2O
2 −
7 , S2O

2 −
3

S4O
2 −
6 , S2O

2 −
3

S2O
2 −
7 , S2O

2 −
6

S4O
2 −
6 , S2O

2 −
7

3. It is because of inability of  electrons of the valence shell to

participate in bonding that:

A.  is reducing while  is oxidising

B.  is oxidising while  is reducing

C.  and  are both oxidising and reducing

D.  is reducing while  is oxidising

ns2

Sn2 + Pb4 +

Sn2 + Pb4 +

Sn2 + Pb2 +

Sn4 + Pb4 +

https://dl.doubtnut.com/l/_PVXAfouW1ITc
https://dl.doubtnut.com/l/_jomMVEs42o5V


Answer: A

Watch Video Solution

4. Match the interhalogen compounds of column I with the

geometry in column II and assign the correct code 

A. a(iii) , b(iv) , c (i) , d (ii)

B. a (iii) , b (i) , c(iv) , d(ii)

C. a (v) , b (iv) , c (iii) , d(ii)

D. a(iv) , b(iii) , c (ii) , d (i)

https://dl.doubtnut.com/l/_jomMVEs42o5V
https://dl.doubtnut.com/l/_zGGNcQcIiWkl


Answer: B

Watch Video Solution

5.  is soluble in  only in presence of . It is due to the

formation of

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

AIF3 HF KF

K3[AlF3H3]

K3[AlF6]

AlH3

K[AlF3H]

6. When copper is heated with conc.  it produces?HNO3

https://dl.doubtnut.com/l/_zGGNcQcIiWkl
https://dl.doubtnut.com/l/_pwAbmB3vX1X2
https://dl.doubtnut.com/l/_gbuF3w194TkN


A.  and 

B.  and 

C.  and NO

D.  and 

Answer: B

Watch Video Solution

Cu(NO3)2 N2O

Cu(NO3)2 NO2

Cu(NO3)2

Cu(NO3)2, NO NO2

7. Which is the correct statement for the given acids ?

A. Phosphinic acid is a diprotic acid while phosphonic acid is a

monoprotic acid

B. Phosphinic acid is a monoprotic acid while phosphoric acid is a

diprotic acid

C. Both are diprotic acids

https://dl.doubtnut.com/l/_gbuF3w194TkN
https://dl.doubtnut.com/l/_bn07jGiOoPpM


D. Both are triprotic acids

Answer: B

Watch Video Solution

8. Among the following, the correct order of acidity is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HClO4 < HClO2 < HClO < HClO3

HClO3 < HClO4 < HClO2 < HClO

HClO < HClO2 < HClO3 < HClO4

HClO2 < HClO < HClO3 < HClO4

https://dl.doubtnut.com/l/_bn07jGiOoPpM
https://dl.doubtnut.com/l/_u24nUa0o7D1q


9. The product obtained a result of a reaction of nitrogen with

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CaC2

Ca2CN

Ca(CN)2

CaCN

CaCN3

10. Which one of the following orders is correct for the bond

dissociation enthalpy of halogen molecules?

A. 

B. 

F2 > Cl2 > Br2 > l2

l2 > Br2 > Cl2 > F2

https://dl.doubtnut.com/l/_sabqyErH04k6
https://dl.doubtnut.com/l/_06Jps7LM2M4x


C. 

D. 

Answer: C

Watch Video Solution

Cl2 > Br2 > F2 > l2

Br2 > l2 > F2 > Cl2

11. Match the compounds given in Column I with the hybridisation

and shape given in Column II and mark the correct option. 

A. 

B. 

C. 

D. 

Answer: B

(a) (b) (c) (d)

(iv) (i) (ii) (iii)

(a) (b) (c) (d)

(i) (iii) (iv) (ii)

(a) (b) (c) (d)

(i) (ii) (iv) (iii)

(a) (b) (c) (d)

(iv) (iii) (i) (ii)

https://dl.doubtnut.com/l/_06Jps7LM2M4x
https://dl.doubtnut.com/l/_xPlPVblSsgPF


Watch Video Solution

12. Stability of monovalent and trivalent cations of  lie in

following sequence :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ga, In, Tl

T l < ln > Ga < Al

ln < Al < Ga < Al

Ga < ln < Al < Tl

Al < Ga < ln < Tl

13. The variation of the boiling points of the hydrogen halides is in

the order . 

What explains the higher boiling point of hydrogen fluoride?

HF > HI > HBr > HCl

https://dl.doubtnut.com/l/_xPlPVblSsgPF
https://dl.doubtnut.com/l/_SzTPRyK2HvcG
https://dl.doubtnut.com/l/_guHBhreudCrA


A. The bond energy of HF molecules is greater than in other

hydrogen halides

B. The effect of nuclear shielding is much reduced in fluorine

which polarises the HF molecule

C. The electronegativity of fluorine is much higher than for other

elements in the group

D. There is strong hydrogen bonding between HF molecules

Answer: D

Watch Video Solution

14. Which of the statements given below is incorrect ?

A. ONF is isoelectronic with 

B.  is an oxide of fluorine

O2N
−

OF2

https://dl.doubtnut.com/l/_guHBhreudCrA
https://dl.doubtnut.com/l/_XLuQR6lDkaiq


C.  is anhydride of perchloric acid

D.  molecule is bent

Answer: B

Watch Video Solution

Cl2O7

O3

15. Strong reducing behaviour of  is due to

A. Low oxidation state of phosphorus

B. Presence of two - OH groups and one P-H bond

C. Presence of one - OH group and two P-H bonds

D. High electron gain enthalpy of phosphorus

Answer: C

Watch Video Solution

H3PO2

https://dl.doubtnut.com/l/_XLuQR6lDkaiq
https://dl.doubtnut.com/l/_6vykA0MeHqbO
https://dl.doubtnut.com/l/_4a8ZE7txV8de


16. Acidity of diprotic acids in aqueous solutions increases in the

order

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2S < H2Se < H2Te

H2Se < H2S < H2Te

H2Te < H2S < H2Se

H2Se < H2Te < H2S

17. Which of the following structure is similar to graphite e?

A. B

B. 

C. 

B4C

B2H6

https://dl.doubtnut.com/l/_4a8ZE7txV8de
https://dl.doubtnut.com/l/_zAsQVu5NSCUc


D. 

Answer: D

Watch Video Solution

BN

18. Which of these is not a monomer for a high-molecular mass

silicone polymer?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Me2SiCl2

Me2SiCl

PhSiCl3

MeSiCl3

https://dl.doubtnut.com/l/_zAsQVu5NSCUc
https://dl.doubtnut.com/l/_7KrkDHNcefcW
https://dl.doubtnut.com/l/_7ABtLygZDTOZ


19. Which of these is least likely to act as Lewis base?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F −

BF3

PF3

CO

20. The basic structural unit of silicates is

A. 

B. 

C. 

D. 

SiO
4 −
4

SiO2 −
3

SiO
2 −
4

SiO−

https://dl.doubtnut.com/l/_7ABtLygZDTOZ
https://dl.doubtnut.com/l/_SwmekdmeRW76


Answer: A

Watch Video Solution

21. Which of the following is electron deficient ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(SiH3)2

(BH3)2

PH3

(CH3)2

22. Which is the strongest acid in the following ?

https://dl.doubtnut.com/l/_SwmekdmeRW76
https://dl.doubtnut.com/l/_JnyjlpEl5NrR
https://dl.doubtnut.com/l/_wa0uRxzgTEID


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HClO3

HClO4

H2SO3

H2SO4

23. Roasting of sulphides gives the gas X as a by product. This is a

colourless gas with choking smell of burnt sulphur and causes great

damage to repiratory organs as a result of acid rain. Its aqueous

solution is acidic, acts as reducing agent and its acid has never been

isolated. The gas X is :-

A. 

B. 

SO2

CO2

https://dl.doubtnut.com/l/_wa0uRxzgTEID
https://dl.doubtnut.com/l/_DcGTUHPVLq7t


C. 

D. 

Answer: A

Watch Video Solution

SO3

H2S

24.  is isostructural with

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

XeF2

ICl−
2

SbCl3

BaCl2

TeF2

https://dl.doubtnut.com/l/_DcGTUHPVLq7t
https://dl.doubtnut.com/l/_JXCLNqCD4tzm
https://dl.doubtnut.com/l/_YaJOqmOh6DzN


25. Which of the following does not give oxygen on heating ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Zn(ClO3)2

K2Cr2O7

(NH4)2Cr2O7

KClO3

26. Which of the following species contains three bond pairs and

one lone pair around the central atom

A. 

B. 

C. 

NH −
2

PCl3

H2O

https://dl.doubtnut.com/l/_YaJOqmOh6DzN
https://dl.doubtnut.com/l/_NLycddJi57PW


D. 

Answer: B

Watch Video Solution

BF3

27. When  gas reacts with hot and concentrated sodium

hydroxide solution, the oxidation number of chlorine changes from

A. Zero to  and zero to 

B. Zero to  and zero to 

C. Zero to  and zero to 

D. Zero to  and zero to 

Answer: D

Watch Video Solution

Cl2

−1 +3

+1 −3

+1 −5

−1 +5

https://dl.doubtnut.com/l/_NLycddJi57PW
https://dl.doubtnut.com/l/_UO5uWbQPKdT0
https://dl.doubtnut.com/l/_DAeoTihsCo5f


28. A mixture of potassium chlorate, oxalic acid and sulphuric acid is

heated. During the reaction which element undergoes maximum

change in the oxidation number?

A. Cl

B. C

C. S

D. H

Answer: A

Watch Video Solution

29. Sulphur trioxide can be obtained by which of the following

reactions :

A. S + H2SO4

Δ
−−→

https://dl.doubtnut.com/l/_DAeoTihsCo5f
https://dl.doubtnut.com/l/_L40F0jvGA0dm


B. 

C. 

D. 

Answer: D

Watch Video Solution

H2SO4 + PCl5
Δ

−−→

CaSO4 + C
Δ

−−→

Fe2(SO4)3

Δ
−−→

30. Which of the following statement is not valid for oxoaids of

phosphorus?

A. All oxoacids contain tetrahedral four coordinated phosphorus

B. All oxoacids contain atleast one P = O unit and one P-OH group

C. Orthophosphoric acid is used in the manufacture of triple

superphosphate

D. Hypophosphorous acid is a diprotic acid

https://dl.doubtnut.com/l/_L40F0jvGA0dm
https://dl.doubtnut.com/l/_2XYOGL6Dp6Ix


Answer: D

Watch Video Solution

31. In which of the following arrangements the given sequence is not

strict according to the property indicated against it?

A.  : Increasing acidic strength

B.  : increasing  values

C.  : Increasing acidic character

D.  : Increasing oxidising power

Answer: B

Watch Video Solution

HF < HCl < HBr < Hl

(H2O) < H2S < H2Se < H2Te pKa

NH3 < PH3 < AsH3 < SbH3

CO2 < SiO2 < SnO2 < PbO2

32. Which of the following is least likely to behave as Lewis acid?

https://dl.doubtnut.com/l/_2XYOGL6Dp6Ix
https://dl.doubtnut.com/l/_LCkDV3l3DKX5
https://dl.doubtnut.com/l/_HOga4iB3rrqw


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

OH −

H2O

NH3

BF3

33. Name the type of the structure of silicate in which one oxygen

atom of  is shared

A. Three dimensional

B. Linear chain silicate

C. Sheet silicate

D. Pyrosilicate

[SiO4]4 −

https://dl.doubtnut.com/l/_HOga4iB3rrqw
https://dl.doubtnut.com/l/_E888SzT0NIEm


Answer: D

Watch Video Solution

34. Which of the following oxides is amphoteric is nature ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SiO2

CO2

SnO2

CaO

35. Which one of the following molecules hydrides acts as a Lewis

acid ?

https://dl.doubtnut.com/l/_E888SzT0NIEm
https://dl.doubtnut.com/l/_Zbd0xIJSjUNo
https://dl.doubtnut.com/l/_E4dep7KQQwos


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3

H2O

B2H6

CH4

36. The tendency of  and  behave as Lewis acid

decreases in the sequnece

A. 

B. 

C. 

D. 

BF3, BCl3 BBr3

BCl3 > BF3 > BBr3

BBr3 > BCl3 > BF3

BBr3 > BF3 > BCl3

BF3 > BCl3 > BBr3

https://dl.doubtnut.com/l/_E4dep7KQQwos
https://dl.doubtnut.com/l/_OSIIqa90Xvm4


Answer: B

Watch Video Solution

37. The correct order of increasing bond angles in the following

species is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cl2O < ClO2 < ClO−
2

ClO2 < Cl2O < ClO−
2

Cl2O < ClO−
2 < ClO2

ClO−
2 < Cl2O < ClO2

38. How many bridging oxygen atoms are presents in  ?P4O10

https://dl.doubtnut.com/l/_OSIIqa90Xvm4
https://dl.doubtnut.com/l/_cMAzOEt1yvtP
https://dl.doubtnut.com/l/_wnndAuox3Wdv


A. 6

B. 4

C. 2

D. 5

Answer: A

Watch Video Solution

39. Which of the following molecules acts as a Lewis acid?

A. 

B. 

C. 

D.  B

Answer: D

(CH3)2O

(CH3)3P

(CH3)3N

(CH3)3

https://dl.doubtnut.com/l/_wnndAuox3Wdv
https://dl.doubtnut.com/l/_7ZVZu2HZKN7n


Watch Video Solution

40. Which of the following is the strongest oxidising agent?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Br2

l2

Cl2

F2

41. Which of the following anions is present in the chain structure of

silicates?

A. SiO4 −
4

https://dl.doubtnut.com/l/_7ZVZu2HZKN7n
https://dl.doubtnut.com/l/_n4Ml83yOYc0s
https://dl.doubtnut.com/l/_Mpk0Rk3fVANK


B. 

C. 

D. 

Answer: D

Watch Video Solution

Si2O
6 −
7

(SiO2 −
3 )

n

(Si2O
2 −
5 )

n

42. Which of the following oxidation states are the most

characteristics for lead and tin, respectively?

A. 

B. 

C. 

D. 

Answer: C

+2, + 2

+4, + 2

+2, + 4

+4, + 4

https://dl.doubtnut.com/l/_Mpk0Rk3fVANK
https://dl.doubtnut.com/l/_fsXLM3PQQBVb


Watch Video Solution

43. Which one of the following orders correctly represents the

increasing acid strengths of the given acids:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HOClO3 < HOClO2 < HOClO < HOCl

HOCl < HOClO < HOClO2 < HOClO3

HOClO3 < HOCl < HOClO3 < HOClO2

HOClO2 < HOClO3 < HOClO < HOCl

44.  can be converted to anhydrous  by heating

A.  with HCl gas

Al2O3 AlCl3

Al2O3

https://dl.doubtnut.com/l/_fsXLM3PQQBVb
https://dl.doubtnut.com/l/_YKAfEKUtcDyA
https://dl.doubtnut.com/l/_NMBCcfkCQ6c7


B.  with NaCl in solid state

C. A mixture of  and carbon in dry  gas

D.  with  gas

Answer: C

Watch Video Solution

Al2O3

Al2O3 Cl2

Al2O3 Cl2

45. Which of the follwing is the most basic oxide?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Al2O3

Sb2O3

Bi2O3

SeO2

https://dl.doubtnut.com/l/_NMBCcfkCQ6c7
https://dl.doubtnut.com/l/_F0sNUlpFnqla


46. Which of the following is not isostructural with  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SiCI4

SCl4

SO
2 −
4

PO
3 −
4

NH
+

4

47. In which of the following molecules are all the bonds not equal ?

A. 

B. 

ClF3

BF3

https://dl.doubtnut.com/l/_F0sNUlpFnqla
https://dl.doubtnut.com/l/_Cb4sfrXHOxoy
https://dl.doubtnut.com/l/_RiTTmtu2gpMH


C. 

D. 

Answer: A

Watch Video Solution

AlF3

NF3

48. Which one of the following orders is not correct in accordance

with the property stated against is ?

A.  : Oxidising power

B.  , Acidic property in water

C.  , Electronegativity

D.  : Bond dissociation energy

Answer: D

Watch Video Solution

F2 > Cl2 > Br2 > l2

Hl > HBr > HCl > HF

F2 > Cl2 > Br2 > l2

F2 > Cl2 > Br2 > l2

https://dl.doubtnut.com/l/_RiTTmtu2gpMH
https://dl.doubtnut.com/l/_d9vCQWJb0anZ


49. Which of the following is electron deficient molecule ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

B2H6

C2H6

PH3

SiH4

50. Which statement is wrong ?

A. Feldspars are not aluminosilicates

B. Beryl is an example of cyclic silicate

C.  is orthosilicateMg2SiO4

https://dl.doubtnut.com/l/_d9vCQWJb0anZ
https://dl.doubtnut.com/l/_HvSyhQEDF9Jj
https://dl.doubtnut.com/l/_5zoRzTQYNoW9


D. Basic structural unit in silicates  is the tetrahedron

Answer: A

Watch Video Solution

SiO
4 −
4

51. Carbon and silicon belong to group . The maximum

coordination number of carbon in commonly occuring compounds

is four whereas that of silicon is six. This is due to

A. Availability of low lying d-orbitals in silicon

B. Large size of silicon

C. More electropositive nature of silicon

D. Both (2) & (3)

Answer: A

Watch Video Solution

IV

https://dl.doubtnut.com/l/_5zoRzTQYNoW9
https://dl.doubtnut.com/l/_DdanQtNz4imj


52. Which of the following statements about  is not correct ?

A. It has a layer structure in which planar  units are joined

by hydrogen bonds

B. It does not act as proton donor but acts as a Lewis acid by

accepting hydroxyl ion

C. It is a strong tribasic acid

D. It is prepared by acidifying an aqueous solution of borax

Answer: C

Watch Video Solution

H3BO3

BO3

53. Aluminium (III) chloride forms a dimer because aluminium

A. Belongs to  group3rd

https://dl.doubtnut.com/l/_DdanQtNz4imj
https://dl.doubtnut.com/l/_nqw2BAeLpzqD
https://dl.doubtnut.com/l/_n3icS0lbns8o


B. Can have higher coordination number

C. Cannot form a trimer

D. Has high ionization energy

Answer: B

Watch Video Solution

54. Boron compound behaves as Lewis acids because of their

A. Ionisation property

B. Electron deficient nature

C. Acidic nature

D. Covalent nature

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_n3icS0lbns8o
https://dl.doubtnut.com/l/_GNHBmUuq4oDC


55. In graphite, electrons are

A. Localised on each C-atom

B. Localised on every third C- atom

C. Delocalised within the layer

D. Present in anti-bonding orbital

Answer: C

Watch Video Solution

56. In borax bead test which compound is formed ?

A. Orthoborate

B. Metaborate

https://dl.doubtnut.com/l/_GNHBmUuq4oDC
https://dl.doubtnut.com/l/_gIHW4tFmlN4X
https://dl.doubtnut.com/l/_yJNzOdMRHoJt


C. Double oxide

D. Tetraborate

Answer: B

Watch Video Solution

57. Which of the following statements about the zeolites is false?

A. They are used as cation exchangers

B. They have open structure which enables them to take up small

molecules

C. Zerolites are aluminosilicates having three dimensional

network

D. Some of the  units are replaced by  and 

ions in zeolites

SiO
4 −
4 AlO

5 −
4 AlO9 −

6

https://dl.doubtnut.com/l/_yJNzOdMRHoJt
https://dl.doubtnut.com/l/_qDr0UWkjknSf


Answer: D

Watch Video Solution

58. The straight chain polymer is formed by

A. Hydrolysis of  followed by condensation

polymerisation

B. Hydrolysis of  followed by condensation

polymerisation

C. Hydrolysis of  followed by condensation

polymerisation

D. Hydrolysis of  Si by addition polymerisation

Answer: A

Watch Video Solution

(CH3)2, SiCl2

(CH3)2SiCl

CH3SiCl3

(CH3)4

https://dl.doubtnut.com/l/_qDr0UWkjknSf
https://dl.doubtnut.com/l/_sFaGTsy896KV


59. The metal oxide which cannot be reduced to metal by carbon is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Fe2O3

Al2O3

PbO

ZnO

60. Oxalic acid on treatment with conc.  gives

A. CO only

B.  only

C. 

H2SO4

CO2

CO2 + H2O

https://dl.doubtnut.com/l/_sFaGTsy896KV
https://dl.doubtnut.com/l/_yR1gJr489PWl
https://dl.doubtnut.com/l/_myVpwaRjdbNx


D. 

Answer: D

Watch Video Solution

CO + CO2 + H2O

61. Chemical formula of phosgene is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

COCl2

CaOCl2

CaCO3

COCl

https://dl.doubtnut.com/l/_myVpwaRjdbNx
https://dl.doubtnut.com/l/_afN64U1oEOZi


62. In which of the following compounds, nitrogen exhibits highest

oxidation state?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N3H

NH2OH

N2H4

NH3

63. Which of the following displaces  from an aqueous solution

containing bromide ions ?

A. 

B. 

Br2

I2

I −
3

https://dl.doubtnut.com/l/_BpGzjMZC2Hzd
https://dl.doubtnut.com/l/_fOzcNpUC6r8T


C. 

D. 

Answer: C

Watch Video Solution

Cl2

Cl−

64. Repeated use of which one of the following fertilizers would

increase the acidity of the soil?

A. Ammonium sulphate

B. Superphosphate of lime

C. Urea

D. Potassium nitrate

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fOzcNpUC6r8T
https://dl.doubtnut.com/l/_OWxMNyyaoAzz


65. Which of the following oxides is most acidic ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

As2O5

P2O5

N2O5

Sb2O5

66. Which of the following phosphorus is the most reactive?

A. Scarlet phosphorus

B. White phosphorus

C. Red phosphorus

https://dl.doubtnut.com/l/_OWxMNyyaoAzz
https://dl.doubtnut.com/l/_4nOsEFnrUVyz
https://dl.doubtnut.com/l/_Wbeb8msTGbri


D. Violet phosphorus

Answer: B

Watch Video Solution

67. The decomposition of organic compounds, in the presence of

oxygen without the development of odoriferous substances , is

called

A. Nitrification

B.  - fixation

C. Decay

D. Denitrification

Answer: C

Watch Video Solution

N2

https://dl.doubtnut.com/l/_Wbeb8msTGbri
https://dl.doubtnut.com/l/_0tM2lbLRRUnu


68. Nitrogen forms  , but phosphorus does not form  , however

, it forms  , reason is

A. Triple bond present between phosphorus atom

B.  bonding is weak

C.  bonding is strong

D. Multiple bonds form easily

Answer: B

Watch Video Solution

N2 P2

P4

pπ − pπ

pπ − pπ

69. Which of the following reaction is not feasible?

A. 

B. 

2Kl + Br2 → 2KBr + l2

2KBr + l2 → 2Kl + Br2

https://dl.doubtnut.com/l/_0tM2lbLRRUnu
https://dl.doubtnut.com/l/_aN4iKn0Xse7c
https://dl.doubtnut.com/l/_8yH2cAogEijx


C. 

D. 

Answer: B

Watch Video Solution

2KBr + Cl2 → 2KCl + Br2

2H2O + 2F2 → 4HF + O2

70. Which one of the following statements is not true

A. Among halide ions , iodide is the most powerful reducing

agent

B. Fluorine is the only halogen that does not show a variable

oxidation state

C. HOCl is a stronger acid than 

D. HF is a stronger acid than HCl

Answer: D

HOBr

https://dl.doubtnut.com/l/_8yH2cAogEijx
https://dl.doubtnut.com/l/_DEiEQF0vhQ6N


Watch Video Solution

71. Oxidation state of  in  are

respectively

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P H4P2O5, H4P2O6, H4P2O7

+3, + 4, + 5

+3, + 5, + 4

+5, + 3, + 4

+5, + 4, + 3

72. In which one of the following species , the central atom has the

tuype of hybdridiztion which is not the same as that present in

https://dl.doubtnut.com/l/_DEiEQF0vhQ6N
https://dl.doubtnut.com/l/_xKffIQsI78e6
https://dl.doubtnut.com/l/_IKZOMEr2jGKf


other three?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PCl5

SF4

I −
3

SbCl2 −
5

73. Least volatile hydrogen halide is

A. HF

B. HCl

C. HBr

D. Hl

https://dl.doubtnut.com/l/_IKZOMEr2jGKf
https://dl.doubtnut.com/l/_d0QXaloRyt9m


Answer: A

Watch Video Solution

74. Pb on reaction with conc.  gives

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HNO3

Pb(NO3)2 + NO2

PbNO3 + N2O

Pb(NO3)2 + N2O3

Pb(NO3)2 + N2O

75. Which has ability to release bromine from KBr ?

https://dl.doubtnut.com/l/_d0QXaloRyt9m
https://dl.doubtnut.com/l/_tWQorwYhPftx
https://dl.doubtnut.com/l/_qS1mfg3oJbc5


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

l2

Br2

Cl2

SO2

76. Which of the following has P-P linkage ?

A. 

B. 

C. 

D. 

Answer: A

H4P2O6

H4P2O7

HPO3

H3PO4

https://dl.doubtnut.com/l/_qS1mfg3oJbc5
https://dl.doubtnut.com/l/_mToZO1SLYQsC


Watch Video Solution

77. The bonds present in  are .

A. Only covalent

B. Only ionic

C. Covalent and coordinate

D. Covalent and ionic

Answer: C

Watch Video Solution

N2O5

78. Which of the following dissolves in water but does not give any

oxyacid solution ?

A. SO2

https://dl.doubtnut.com/l/_mToZO1SLYQsC
https://dl.doubtnut.com/l/_HcIilcQi3393
https://dl.doubtnut.com/l/_8gBxjOY9IcrT


B. 

C. 

D. 

Answer: B

Watch Video Solution

OF2

SCl4

SO3

79. Which of the following is used during the preparation of fluorine

by Whytlaw-Gray met

A. KF(aq)

B. HF(aq)

C. Molten 

D. 

Answer: C

KHF2

NH4F

https://dl.doubtnut.com/l/_8gBxjOY9IcrT
https://dl.doubtnut.com/l/_0paiy6mSJ26Q


ASSIGNMENT (Section - D) (Assertion-Reason Questions)

Watch Video Solution

1. A : Borazine is more reactive than benzene . 

R : Borazine is isostructural with benzene

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

https://dl.doubtnut.com/l/_0paiy6mSJ26Q
https://dl.doubtnut.com/l/_t1hbWqFcwdu1


Answer: B

Watch Video Solution

2. A : In Diborane containing eight -B-H bonds only four B-H bonds

are on the plane . 

R : Boron in  is  hybridised .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

B2H6 sp2

https://dl.doubtnut.com/l/_t1hbWqFcwdu1
https://dl.doubtnut.com/l/_FSv8zaYuRf65


Answer: C

Watch Video Solution

3. A : All the oxides of boron family with the general formula 

are basic . 

R : From  to  basic character decreases .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

M2O3

B2O3 Tl2O3

https://dl.doubtnut.com/l/_FSv8zaYuRf65
https://dl.doubtnut.com/l/_ElUBBVCsGSE7


Answer: D

Watch Video Solution

4. A : When borax is strongly heated it forms transparent glassy

bead . 

R : Borax is the other name for sodium tetraborate decahydrate.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

https://dl.doubtnut.com/l/_ElUBBVCsGSE7
https://dl.doubtnut.com/l/_EeZdW3NXsKB2


Answer: B

Watch Video Solution

5. A :  is thermally more stable than  . 


R : C- Br bond energy is more than C-l

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

CBr4 Cl4

https://dl.doubtnut.com/l/_EeZdW3NXsKB2
https://dl.doubtnut.com/l/_9C0mVUp65wih


Answer: A

Watch Video Solution

6. A : Boric acid is weak monobasic acid . 

R : Boric acid give one  ion .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

H +

https://dl.doubtnut.com/l/_9C0mVUp65wih
https://dl.doubtnut.com/l/_COnfNruuLsxX


Answer: C

Watch Video Solution

7. A : Al forms  


R : It is octahedral complex .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

[AlF6]3 −

https://dl.doubtnut.com/l/_COnfNruuLsxX
https://dl.doubtnut.com/l/_NHpwZM38K1Je


Answer: B

Watch Video Solution

8. A : Anhydride of carbonic acid is  . 


R : Carbonic acid is dibasic .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

CO2

https://dl.doubtnut.com/l/_NHpwZM38K1Je
https://dl.doubtnut.com/l/_nAzmlKZomYtB


Answer: B

Watch Video Solution

9. A :  is interstitial carbide 


R : Calcium ions are present in the Interstices .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

CaC2

https://dl.doubtnut.com/l/_nAzmlKZomYtB
https://dl.doubtnut.com/l/_EBXC4yPJtige


Answer: D

Watch Video Solution

10. A : Fullerene is the purest allotrope of carbon . 

R : They have smooth structure without danging bonds .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

https://dl.doubtnut.com/l/_EBXC4yPJtige
https://dl.doubtnut.com/l/_IYPC0gOJv25n


Answer: A

Watch Video Solution

11. A :  is easily hydrolysed by water . 


R : Central atom can accommodate lone pair of  from oxygen

atom of water molecules in 

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

GeCl4

e−

GeCl4

https://dl.doubtnut.com/l/_IYPC0gOJv25n
https://dl.doubtnut.com/l/_zY9G0WtpkKUg


Answer: A

Watch Video Solution

12. A : Carbon has maximum tendency of catenation among group 14

. 

R : C- C bond strength is very strong .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

https://dl.doubtnut.com/l/_zY9G0WtpkKUg
https://dl.doubtnut.com/l/_dsUFAapQwb5q


Answer: A

Watch Video Solution

13. A : Oxides of carbon is higher oxidation state is more acidic than

in lower oxidation state . 

R : Both  and CO can exist .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

CO2

https://dl.doubtnut.com/l/_dsUFAapQwb5q
https://dl.doubtnut.com/l/_M8D8Yq2NH3XW


Answer: B

Watch Video Solution

14. A : Heavier elements of 14th group do not form  bonds . 


R : Atomic orbital of heavier elements are too large and do not have

effective overlapping .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

pπ − pπ

https://dl.doubtnut.com/l/_M8D8Yq2NH3XW
https://dl.doubtnut.com/l/_wcRqWm7o1kAa


Answer: A

Watch Video Solution

15. A : Carbon shows anamolous behaviour in group Gp- 14 . 

R : Carbon has maximum covalency of 4 .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

https://dl.doubtnut.com/l/_wcRqWm7o1kAa
https://dl.doubtnut.com/l/_d3RVTlgMbVMa


Answer: B

Watch Video Solution

16. A :  is the only hydride of chalcogen family which is liquid . 


R : Acidic nature of hydrides of chalcogen family increases down the

group .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

H2O

https://dl.doubtnut.com/l/_d3RVTlgMbVMa
https://dl.doubtnut.com/l/_vJCZ6iuA76qe


Answer: B

Watch Video Solution

17. A :  and  have similar shapes . 


R : All the bond lengths are equal 

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

PF5 IF5

PF5

https://dl.doubtnut.com/l/_vJCZ6iuA76qe
https://dl.doubtnut.com/l/_dJPMPgOTLVNJ


Answer: D

Watch Video Solution

18. A : Atomic size of F is smaller than that of Cl . 

R : F- F bond is stronger than Cl-Cl bond .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

https://dl.doubtnut.com/l/_dJPMPgOTLVNJ
https://dl.doubtnut.com/l/_en5akJmbqRDe


Answer: C

Watch Video Solution

19. Assertion (A) :  is more reactive than  


Reason (R) :  bonds are relatively weaker than 

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

P4 N2

P − P N ≡ N

https://dl.doubtnut.com/l/_en5akJmbqRDe
https://dl.doubtnut.com/l/_1q2x5PuD4ZM0


Answer: A

Watch Video Solution

20. A : Noble gases have highest ionization energies in their

respective periods . 

R : The outer most sub-shell of noble gases in which electron enters

is completely filled .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

https://dl.doubtnut.com/l/_1q2x5PuD4ZM0
https://dl.doubtnut.com/l/_UHZttwmPJyhP


D. If both Assertion and Reason are false statements , then mark

(4)

Answer: A

Watch Video Solution

21. A : The bond angle of  is greater than  . 


R : 'Bi' is metal while N is non - metal .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

NH3 BiH3

https://dl.doubtnut.com/l/_UHZttwmPJyhP
https://dl.doubtnut.com/l/_vtxwpfBWMSeb


D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

22. A :  on the reaction with RbF gives  


R :  is non - reactive .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

XeF6 Rb[XeF7]

XeF6

https://dl.doubtnut.com/l/_vtxwpfBWMSeb
https://dl.doubtnut.com/l/_410BHEsX28cS


D. If both Assertion and Reason are false statements , then mark

(4)

Answer: C

Watch Video Solution

23. A : Tailing of Hg caused by ozone is due to formation of HgO . 

R : In the presence of  , Hg does not loses its meniscus .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

O3

https://dl.doubtnut.com/l/_410BHEsX28cS
https://dl.doubtnut.com/l/_4WbeL4c70jiS


D. If both Assertion and Reason are false statements , then mark

(4)

Answer: D

Watch Video Solution

24. A : The valency and oxidation number of sulphur in 

respectively are 2 and 0 . 

R :  Rhombic is the most stable allotropic form of sulphur .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

S8

S8

https://dl.doubtnut.com/l/_4WbeL4c70jiS
https://dl.doubtnut.com/l/_WcvQeLYEPq23


C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

25. A : Dissolution of concentrated  in water is highly

exothermic process . 

R : Sulphuric acid is always diluted by adding acid to water slowly .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

H2SO4

https://dl.doubtnut.com/l/_WcvQeLYEPq23
https://dl.doubtnut.com/l/_W4iEb4CVzwUX


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

26. A :  is more stable than  . 


R : Bond order of  is more than that of  .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

N2 O2

N2 O2

https://dl.doubtnut.com/l/_W4iEb4CVzwUX
https://dl.doubtnut.com/l/_ij6dnYozLHMD


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: A

Watch Video Solution

27. A :  is not possible . 


[R] :  oxidation state of phosphorus is not possible .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

PH5

−5

https://dl.doubtnut.com/l/_ij6dnYozLHMD
https://dl.doubtnut.com/l/_NdlluZdH8kQl


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: A

Watch Video Solution

28. A :  is more polar than  . 


R :  cannot be hydrolysed .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

NH3 NF3

NF3

https://dl.doubtnut.com/l/_NdlluZdH8kQl
https://dl.doubtnut.com/l/_TwIHLscxm5tc


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

29. A :  is better oxidizing agent than  . 


R :  converts Ag to  .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

O3 H2O2

O3 Ag2O

https://dl.doubtnut.com/l/_TwIHLscxm5tc
https://dl.doubtnut.com/l/_kY5QA0Vj7Vy8


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

30. A :  on reaction with  gives  . 


R : This reaction involves colour and electronic change both .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

Na2S2O3 l2 Na2S4O6

https://dl.doubtnut.com/l/_kY5QA0Vj7Vy8
https://dl.doubtnut.com/l/_ZJRSwV3T3Q5K


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

View Text Solution

31. A :  on reaction with NaOH (cold and dilute) gives  . 


R :  get oxidized only in this reaction .

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

Cl2 NaClO3

Cl2

https://dl.doubtnut.com/l/_ZJRSwV3T3Q5K
https://dl.doubtnut.com/l/_No7KlrPDTlNR


B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: D

Watch Video Solution

32. A :  is a reaction having 

. 

R :  is better oxidizing agent than  .

2F − + Cl2 → 2Cl− + F2 ΔG0 = − ve

Cl2 F2

https://dl.doubtnut.com/l/_No7KlrPDTlNR
https://dl.doubtnut.com/l/_q8daGuSqQ1rx


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: D

Watch Video Solution

33. A :  is less acidic than  . 


R : Oxidation state of phosphorus in  .

H3PO4 H3PO3

H3PO4 < H3PO3

https://dl.doubtnut.com/l/_q8daGuSqQ1rx
https://dl.doubtnut.com/l/_UPaV8UpZqhk1


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: C

Watch Video Solution

34. A :  is pseudohalide . 


R :  is pseudohalogen .

CN −

(CN)2

https://dl.doubtnut.com/l/_UPaV8UpZqhk1
https://dl.doubtnut.com/l/_QxE7UsPaPdGn


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: B

Watch Video Solution

35. A : Xe is the only element of group 18 which from compounds . 

R : Xe does not form clatherates

https://dl.doubtnut.com/l/_QxE7UsPaPdGn
https://dl.doubtnut.com/l/_yR6VDpmNjlhT


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion , then mark (1)

B. If both Assertion & Reason are true but the reason is not the

correct explanation of the assertion , then mark (2)

C. If Assertion is true statement but Reason is false , then mark

(3)

D. If both Assertion and Reason are false statements , then mark

(4)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yR6VDpmNjlhT

